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A train is travelling at the rate of
45km/hr. How many seconds it will

4
take to cover a distance of gkm ?

TH W 45 km/h. f& 7o d < @
T ol F 50 T e e

T
(a) 36 sec. {b) 64 sec.
c} 90 sec. {d) 120 sec.

An areoplane covers a certain
distance at a speed of 240 kmn/hour
in 5 hours. To cover the same dis-

2
tance in 15 hours it must travel at

a speed of :
TF aEF UF Fia g = 240 fRAL w1
W HE 5 G 9@ = & A

Fem g 15 0 mweh A T

=1 afta wfa frer 2r

ta) 300 km./hr. (b} 360 km. /hr.
{c) 600 km./hr. {d) 720 km. /hr.
A train 100m long is running at the
speed of 30 ke/hr. The time (in sec-
ond) in which it passes a man stand-
ing near the railway line is :

100 . wwt W 30 st =t wfa |
7 W @ o B e @3 A W
A § fFan a9 (He W) oM

(@ 10 (b) 11 (c) 12 (d) 15

If a man walks 20 km at 5 kan/hr.
he will be late by 40 minutes. If he

walks at 8 km./hr. how early from ",

the fixed time will he reach ?

uﬁwaﬁammﬁwsﬁﬁm

F1fd § 7@ w0 A I PR wmE A 0 ¥

firfz 3¢ A v & ARk 8 Tedlma @
waﬁﬁmﬁﬁwmﬂwm
i wrdm k

{a} 15 minutes

[b} 55 t_ni'nutes

{c) 50 mmutea% ) 1— hours

A man wﬂh@g&h’t the rate of 5
km/fhr. crqsses a bridge in 15
minutes. The-length of the bridge
(in metres) is:

o i S felvdn = TR TR W
e H 15 e § W e ) |
e (Al ") g

(a} 600 (b) 750 (c) 1000 (d} 1250
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A man crosses a road 250 metres
wide in 75 seconds. His speed in
km/hr is :

TF SO 250 ™. g WEE B 75 H
TR A & S T fedea | wm
@) 10 (b) 12 {c) 12.5 (d} 15
The length of a train and that of a
platform are equal. If with a speed
of 90 km/hr the train crosses the
platform in one minute. then the
length of the train(in meteres) is :

T TS a1 wewT F1 wegat /9 2
et 90 fedids i oM ¥ TR W@
e F T e ¥ R = o 2w
R 9 5 o (He T e )
(a) 500 {b) 600 {c) 750 (d) 900
A train passes a 50 metres long plat-

form in 14 seconds and a man
standing on the platform ip 10

seconds. The speed of the train is : K

s

O A YT 50 W, o Seesf a9,
tﬁwﬁmw@wwﬁaﬁwm&ﬁ
T 1490 109 mwé_ﬁl&m

= 7 == (FEiA) |
(a) 24 km/hr. (by 36 km,i’hr
<) 40 km/hr. (@45 km/hr.

An athlete runs 200 metres race
in 24 seconds Hls speed (in km/

hr.) is : )

TF I 200 R w24 ¥ @ F@
#1 = o fie § s

fa) 20, (24 (¢) 28.5 (d) 30

A car @$6és 10 metres in a second.
Find¥igs speed in km/hour.

o FR R K 0w H T w w #
"o, TR W T febHeiR H B

(@) 40 (b) 32 ()48 (d} 36

“A man riding his bicycle covers 150
metres in 25 second. What is his
speed in km per hour ?

uw =fF @t 8 90 g 150 1,
Zd = 251 § 73 @ ?) g fEdea

A F)

@) 25 (b) 21.6 (c) 23 {d) 20

A train passes two bridges of lengths
800 m and 400 m in 100 seconds
and 60 seconds respectively. The
length of the train is:

o et 3 A AT awanEt e e00
q 400 ®. &, F W w7 T w100
Y 60 8. T TNA Wl &) T L H

o Rt 21
{a) 80 m {b) 90 m
{c) 200 m (d) 150 m
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A train is 125 m long. If the train
takes 30 seconds to cross a tree by
the railway line, then the speed of
the train is :

T 125 1t 7= =1 UF T e Rt
F 5 T2 T U5 # mrwe o 3049, W
A ot g1 A =

ta} 14 km/hr.  .{b) 15 km/hr.

(c) 16 km/hg g} *(d) 12 km/hr.

A 120 m dong trgin takes 10 sec-
onds to.cross g min standing on a
platfromm::mr:% the speed of the
train?

120 1, mﬁwmmrnim
=S TH A F W FH H 10 9w T

w21 TR = |

<la) 12 m/ sec

(b} 10 m/sec

fc}- 15 m/ sec {d) 20 m/ sec

A 75 metre long train is moving at
20 kmph. It will cross a man stand-
ing on the platfrom in

wF 75 . =l Yewet S 20 fefiaa
T G = R &, T ewH s e
R F= H R T dft

{a) 12 seconds {b) 14 seconds

fc}) 13.5 seconds (d] 15.5 seconds

A train passes a man standing on a
platfrom in 8 seconds and also
crosses the platfrom which is 264
metres long in 20 seconds. The
length of the train(in metres) is :

TF @ME 264 . 7= TEHH 99 W W
w2 ¥l =E T W FA H FE9: 209 AW
8 W 1 TUY T &t IR S e (m)
Esic

{a) 188 (b} 176 (¢} 175 {dj 96

A man can reach a certain place in
30 hours. If he reduces his speed

by ——Z th, he goes 10 km less in that

15
time. Find his speed per hour.
T AR T s @ H 30uR g @

m%mﬁqﬁasmrrﬁ% am =2
Rdiaw i g A 10 fEHL Ft W FR W
=+ qA 21 =R F e T

1
(a} 6 kin/hr, {b]55 km/hr.

jc) 4 kmjhr. id) 5 km/hr.

18. A train is moving with the speed of
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180 km/hr. Its speed (in metres per
second) is :

@ e 180 fRran 1 Tfa @ = &
a8 W /AwvE | fre e

(a5 (bj40 () 30 (d) 50




19. A train takes 18 seconds to pass
through a platform from 162 m
long and 15 seconds to pass through
ancther platform 120 m long. The
length of the trainfin m) is :

= @R 162 W, T wREn R FA
H 18 %0 qU1 120 M. T EEH B
A H 15 Vs T uNd o 1 W
et # (W) el )

(@) 70 (B)80 [c) 90  (d) 105
A 120 metre long train is running
at a speed of 90 km per hour. It
will cross a railway platform 230
m long in :

w120 O @l el 9o feeAa #
e & a7 230 0. T wewd ® R
FT ¥ faen g T

20,

4 1
{a} 4= seconds (b 95 seconds

5

{c} 7 seconds (d) 14 seconds
If a train, with a speed of 60km/
hr, crosses a pole in 30 seconds the
length of the train (in metres) is :
OfFftTrHRMATR P ™ @
=% F W FA T 30 G503 T TWA A #)
i % A (o o) wam

fa) 1000 by 900

{c) 750 (dy S00

Two cars start at the same time from
one point and move along two roads
at right angles to each other. Their
speeds are 36 km/hr. and 48 km/
hr. respectively. After 15 seconds
the distance between them will be

21,

22.

% #F U fifrem fag @ wiwm R F =1 29.

et 9 - e TEF W OHHE W W
o W9 e Ay A TR e
36 fevii/ga ag 48 fedi@ &l A 1599

3 TR TS I F g FEed i
(a) 400 m (b} 150 m
{c) 300 m (d) 250 m

23,
m/sec crosses a platform, 600

metres long in 30 seconds. The’

length (in metres) of train is

A train travelling at a speed of 30z~

% Yofedl @ e 1 oG : SHm I 32

W W SIS : 3 ¥ UF E@H W W FA

N ot T T T IR R
@) 5:6 (o) 11:8
(c) 25 : 18 @ 27: 16

26. A train passes a platform 60 metre
long in 30 seconds and a man stand-
ing on the platform in 15 seconds.
The speed of the train is :

% T wew™ W =g O S T©I60
T, @ TR F IR FH § B 1579

30 95V = T oA ¥ W @ wam 33
(FFerE=m)

{a) 12.4 kmph (b} 14.4 kmph

(c) 18.4 kmph {d) 21.6kmph

27. A train 300 metres long is running
at a speed of 25 metres per second. It
will cross a bridge of 200 metres in

TF 300 W, @Et e 25 WA
] Jer g 200 A, T wewd F IR FH
¥ foa1 q9g i

{a) 5 seconds (b) 10 seconds

{c) 20 seconds {d) 25 seconds
28. A train 800 metres long is running

at the speed of 78 km/hr. if it crosses = -

a tunnel in 1 minutes, thgn, the ™
length of the tunnel (in metres}as

TF 800 H. T T 78 fR/Ha#

Y TR Qg A FR W R
ﬁ?ﬁ%aﬂzﬂmgmaﬂﬂﬁﬁ ¢ ¥)yfegart
gt

(@) 77200 (b} sho

(c) 1300 (dy 13

A train |srmoving at a speed of
132km,.r‘hour “tE.the length of the
train is. IﬂiQ metres, how long will
it todke tn cress a railway platform
165 metrh long ?

w10 Tl e S 132 s
@ R T 38 T 165 . T
aa F W F e T
*~la}) 5 second {b) 7.5 seconds
%, (o) 10 seconds {d} 15 seconds
3. T what time will a train 100 metres

34.
~_platfrom noticed that a train took 21
“seconds to completely pass through

35.

k.79 km/hr.

A truck covers a distance of 330
metres in 1 minute whereas a bus
covers a distance of 33 kms in 45
minutes. The ratio of their speed is:
w 7% 1 fire # 550 H. % ¢ @ F@
% wafs wF =8 33 fF. F g 45 e
 ga ¥ gF am w§ F R @
SO a?

fa)4:3 b)3:5

€3:4 {d) 50 : 3

A train moves past a telegraph post
and a bridge 264 m long in 8 sec-

onds and 20 secends respectively.
What is the.spetd of the train ?

D ﬂﬁﬂﬁi‘éﬂr&ﬂ,ﬂ?m 42 7 264
e == B, TRH § FA: 8 FHUE
AR 20 TFUZ a% o o 81 EmE ®
a7
{a) 89,5 km/hr. (b} 70 km/hr.

(d) 79.2 km/hr.
A person standing on a railway

the platform which was 84 m long
and it took 9 seconds in passing
him. The speed of the train was

g4 Hi. 79 U oW TR W H§E &
=g ¥ saa e £ o1l o s W 3w
7o SREd F W FH K w9 HFUS
FT 21 ST F1 GEA wht # W Ol
A

{a) 25.2 km/hr. (b) 32.4 km/hr.
(c) 50.4 km/hr. (d) 75.6 km/hr.

A boy runs 20 km in 2.5 hours. How
long wilt! he take to run 32 km at
double the pervious speed ?

F = 2.5 W 20 felt, # g0 W W
WA 31 A 9 AR e B R A
T4 32 el ¥ g @ v | e T
= :

s ’ i 1
30 HA F T W o T ﬁ m i long cross an electric pole, if its (a) 2 hours {b) 25 hours
600 . TR T ‘iaﬁwrﬁ#ﬁ speed be 144 km/hr. ?
o ) e A § if'l 100 T, T o S 144 feviea w5 1
% AT Y, E R WMEFAA (et 43 hours (d) 5 hours

(a} 120 (b} 150 (¢} 2;30 H(d) 300 et T

24. A train, 120 m 0 takes 6 36. A train with a uniform speed passes
seconds to pgss eg%'aph post; {a) 2.5 seconds  {b) 5 seconds a platform, 122 metres long, in 17
the speed :‘.§l 5 seconds and a bridge, 210 metres
T 120 "@ THHIE e (d) 12.5 seconds (d) 3; seconds long in 25 seconds. The speed of
T IR T T &4 -§| . the train is

31. A man observed that a train 120 m

mﬁ"ﬁ b (Fdtrtan) | long crossed him in 9 seconds. The wF wa T A oW @ W w
{a} 72 km/hr (b 62 km/hr speed (in km/hr) of the train was 122 @ & wewd F 17 4 W =
(c) 55 kan/hr {d) 85 km/hr wF =R 3w R 120 W wwel T 210 TR W H MFAH 2596 =

25. The ratio of length of two trains is =9 o B I w9 3 e # o T ot #) e w1 T e
5 : 3 and the ratio of their speed is .  Tard : ' ’
6 : 5. The ratio of time taken by them (ken. /) ' {a) 46.5 km/hr (b} 37.5 km/hr
to cross a pole is faj 42 (b} 45 (<) 48 (4 55 (c} 37.6 km/hr  (d) 39.6 km/hr

Wizard of Maths - Rakesh Yadav Sir




37. A moving train crosses a man

38.

39.

40.

41.

42.

standing on a platform and a bridge
300 metres long in 10 seconds and
25 seconds respectively, What will
be the time taken by the train to
cross a platform 200 metres long ?

W a9 ¥ 300 H. @R ©eRH qm 99
W B2 AR H FEA; 25 FFUL AW 10
FHvg ¥ IR R T E) T T8 OE "
200 W, 7 i WREEE F U A
o T =i

2
(a) 165 seconds (b} 18 seconds

{c) 20 seconds {d} 22 seconds

A train passes a platform 110 m long
in 40 seconds and a boy standing
on the platform in 30 seconds. The
length of the train is

wF | 110 "W 79 @IEH B 40 FEUS
Y SR W O kR w30 T § W
w o 21 TSt F o =)

(a) 100 m (B) 110 m

c) 220 m (d) 330 m

A train, with a uniform speed,
crosses a platformn, 162 metres long,
in 18 seconds and another platform,
120 metres long, in 15 secends. The
speed of the train is

T TN U §OE T W R W 1S
162 . T T wewid #1189 v 120
=, = wieEh F 15 dFe d |
g %t g sar

(a) 14 km/hr (b) 42 km/hr

(cy 50.4 kin/hr  {(d} 67.2 kmn/hr
A train travelling with uniform
speed crosses two bridges of lengths
300 m and 240 m in 21 seconds 18
seconds respectively. The speed of
the train is :

300 7. M 240 W, o4 F & H W FA
¥ T EmE! gm wEw: 21 §EUS 18
TS F W fem wm #) el w e

(Fepireen) = e
{a) 72 km/hr (b 68 km/hr - -
{c) 65 km/hr (d) 60 km/hr

A train, 110 m long is running at a

speed of 60 km/hr. How many sec- ¥

onds dees it take to cross another
train, 170 m long standmg on’ par-
allel track ?
eoﬁsﬁmﬁnﬁlﬂWWW 110
o, w4 Yo wrewH wEd gt gad 170
. 7 T FeAr w0 e S
(a) 15.6 sec 7. k) 16.8 sec

(¢} 17.2 sec . (d) 18 sec

A train is runping-at 36 km/hr.0f it
crosses a polé in 25 seconds, its
length is :

w R e frfiAn S wmd dz w ¥
A+ IerEl um W™ ] 25 FFg § R

=Y o TEE] T Tl
(a) 248 m () 250 m
(c) 255 m {d) 260 m

43. The speed of two trains are in the

44,

45.

46.

47.

. i’"”:__(a} 9 m/s
Ty, (o) 25 m/s
,_48 “The speed of a bus is 72 km/hr.

"=:.,ﬁ;

49.

ratio 6 : 7. If the second train runs
364 km in 4 hours, then the speed
of first train is

T temteat St i 1 Agae 6 0 7 #afe
T0E e 4 W A 364 Fedlt W A

vt TPl St 79 5ar
{a} 60 km/hr (b) 72 km/hr
(c) 78 km/hr {d) 84 km/hr

Walking at the rate of 4 km an hour,
a man covers a certain distasnce in
3 hours 45 minutes. If he covers the
same distance on cycle, cycling at
the rate of 16.5 km/hour, the time
taken by him is

wEEsfFREa R A TR E @
fafrmra gt 1 3 902 45 firge § @7 Fa #1
ofg a7 @ fifr=a gt wEfea 3@ 16.5
it 5 ma &t @ 39 fFam g o
{a} 55.45 minutes

(b) 54.55 minutes

(c} 55.44 minutes

(d) 45.55 minutes

A train crosses a pole in 15 seconds
and a platform 100 metres long in

25 seconds. Its length (in metres) is;_ :
TF I o @Y F 150 a0 100 W
ﬁzﬁﬁaﬁzsmﬁwmhﬁnﬁ

=t T (3ite ®) A

(a 50 (b) 100 () 150 (d} 206'
A train of length 500%eefcrosses a
platform of length 700 fét ih 10 sec-
onds. The speed of the train is

@ 500 Tz R et ¥ 700 W T
TR F IR T H 10 FHTS H T
21w w3 e g

(a) 70 ft/ secgndt

(b) 85 ft/second

(g ‘oo ftf second

( 120 ftfsecond

Thel spetd of 90 km/hour is same as
goﬁaﬁma = T fre Tm 27

(b} 20 m/s

d) 28 m/s

The distance covered by the bus in
5 seconds is
wF 99 F v 72 feftem i gm s

gwvg o T i W g 9w
(a) 100 m {b) 60 m
(c) 50 m [d) 74.5 m

A train starts from a place A at 6 a.
m. and arrives at another place B
at 4.30 p.m. on the same day. If
the speed of the train is 40 km per
hour, find the distance travelled by
the train?

T {EmE wE oA § WE: 6 S =
Treee HIA §1 AN T B W IH fe
4 30 o= WEH W & ak wwmEt w=
nfa 40 fHei=a & @ FEmst g ™ w6l

T T T
{a) 320 km (b} 230 km
{c) 420 km (d} 400 km

50.

51.

52.

A,
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54.

55.

56.

Wizard of Maths - Rakesh Yadav Sir.

i (2) 8
. A train is running at a speed of 90

A train covers a distance of 10 km in
12 minutes. If its speed is decreased
by Skm/hr, the time taken by it to
cover the same distance will be :

& EmEl 10 fE. W gh 12 e ¥ =
e 31 fs swat wfa 5 fEda 9 = Y
ot 35 5t W T FE A e T ww  mr
(a) 10 minutes

(b} 13 minutes 20 sec

{c) 13 minutes

{d) 11 minutes 20 sec

A man walks @’ km in b’ hours. The

timme taken to walk 200 metres is

AR a R AR R b T
T 31 TH 200 i ] 73 FA A fow Iw
TN T TR

b ab b

(c} a.hours:__. {d) 200 ours
L3 1

Tfﬂl‘l'é'"‘;-gbeed 32 m/sec when ex-

3

Lpl"’g__s_sed in km/hour becomes

nﬁs% o,/ 9 fprivE § 3w

(b) 9 (ch 10 (d} 12
km/hr. If crosses a signal in 10
se¢., the length of the train (in
metres) is

T S F 1 90 Feder 1 AR W@
T G & I FAH 10 THIS W qHY

a4t #1 temE # R (A %) 9\ W
fa) 150 (b) 324 (c) 900 (d) 250
The speed of 10 m/s is the same as
10 H.ARve 1 T fFas TuE 82

{a) 63 km/hr. {b) 36 km/hr.

{c) 69 km/hr. (d) 18 km/hr.

A train covers a distance of 20 km in
24 minutes. If its speed is decreased
by 5 km/hr. the time taken by it to
cover the same distance will be :

s Yot 20 fit # g 24 R A W
F 21 3 e T 5 fedlva wa R
Sr4, @ T Ffr g0 W A T T
pulaciEckic ki En Bl

(a) 10 minutes

{b) 26 minutes 40 sec

{c) 13 minutes

{d) 11 minutes 20 sec

Two trains, A and B, start from sta-
tions X and Y towards each other,
they take 4 hours 48 minutes and 3
hours 20 minutes to reach Y and X
respectively after they meet if train
A is moving at 45 km/hr. , then the
speed of the train B is

2 femfedl A @ B BEE X @ Y4
- T WE T WS FE Y T
X =y 7% 99 § F9W: 4 62 48 fime
amam oo W ok @ A
F R 45 fEitsa 5 FaR TEIE B S

g Foret T
(@) 60 km/hr (b) 64.8 km/hr
(c) 54 km/hr (d) 37.5 km /hr

303



57.

58.

59.

60.

61.

62,

A bullock cart has to cover a dis-
tance of 120 km. in 15 hours. If it

3
covers half of the journey in 5 the

time, the speed to cover the remain-
ing distance in the time left has to

be
e ot 120 Fel. w5 gl #w seve F

w FT & o 98 swedt ~35- T E ™

FANA T D@ TR AP AT
F | sitga wfa 7= goih

(a) 6.4 km/hr (b) 6.67 km/hr
() 10 km/hr {d 15 kan/hr

A train covers a certain distance in
210 minutes at a speed of 60 kmph.
The time taken by the train, to cover
the same distance at a speed of 80
kmph is :

TF TR 0F A gt 60 fesdiysder i nfa
q 210 W 9 7 w7 & W g sd
fafrea g | 7 ¥ A 8o Ferwiyyaier i nfa

W T qHG A9 )

(@) 32

8 hours

5
{b) 2-8‘ hours

5
(c) 45 hours {d) 3 hours

A speed of 30.6 km/hr is the same
as

30.6 fFi.aa =it nfa B4 ¥ 3w
{a) 8.5 m/sec. (b} 10 m/sec.
(c) 12 m/sec. (d) 15.5 m/sec.

20

remaining 10 km on foot. His total
journey (in kan} is

A man covers by bus and the

@mﬁaaﬂ@wm%mwm

T F@ B 99 ==t g0 10 fed, T® ¥
Wmmélm%ﬁwaﬁm
(et o yaamn

@ 15.6
(c} 18.18

(b) 24
(d) 12.8

63.

64,

65.

66.

67.

The ratio of length of two trains is
4 : 3 and the ratio of their speed is
6 : 5. The ratio of time taken by them
to cross a pole is
3 temfeal F1 A 4 3 I T A
6: 5 3@ ¥ g ¢ et @ i R A A
I FR et T W S B 7
ja)5: 6 b} 11: 8

[c) 20 ; 18 (d} 27 : 16

A distance is covered by a cyclist
at a certain speed. If a jogger covers
half the distance in double the time,
the ratio of the speed of the jogger
to that of the cyclist is
F HIERE A fAfraa g ®, ffres fa
A 78w ¢ T SR S amd o Wl
T TR ¥ T T § | S0 8 wnefea

I Y i S Gy
@ t:4 (b) 4: 1
fc) 1:2 21

A train is moving at a speed of 80
km/h and covers a certain distance
in 4.5 hours. The speed of the train
to cover the same distance in 4
hours is

% et 80 fedt/sie i iy ] e €@
AR A R ASTRE A TEFAE
IR TR Th 4 9% ¥ 78 FH A, ?ﬁaﬁm

wfa T R 7

{a) 100 km/h (b} 70 km,fh L
{c) 85 km/h (d) 90 km/h -
The speed of 50.4 kmj/hr. is same as
50,4 fedl. Az 5 fa fre e 27

{a) 14 m/s. (b} 15 m/s.

{c) 28 m/s. [% 10 m/s.

A train passes by aﬁa;mp post on
platfrom in 7 sec. and-passes by the
platfrom completaly in 28 sec. If the
length of the{j%ﬁtom is 390 m, then
length of (:he {in metres ) is

““““ el \ﬁztsrli o e

WWMWM%@W@#?

Har EHo W) Ty

- {a) 120 (B}130  {c) 140 (d}150

6& A train moving at a rate of 36 km/

A train 200 m long running at 36 -

kmph takes 55 seconds to ¢ross a
bridge. Length of bridge is, “‘“"t
wF 200 . TR g 36 Maﬁma
F 71 ¥ T T TE TR 54 W
o o |m§{aaﬁ<ﬁ§w%f

(a) 375 m. gﬁ .[b} 66 m.
() 350 m. 5 m.
A train 27| cs metres long is

running &t peed of 36 km per
hour then 1\ l cross a bridge of
length 180 n:hetres in :

270 vz Tt T oI W 36 fesdt whd W
= fa & we g 180 R T Y F U
w0 W e T9g @rn?

(a) 40 sec {b) 43 sec

{c} 50 sec (d) 35 sec

69.

Tshr. crosses a standing man in 10
seconds. It will cross a platfrom 55
metres long in :

36 Tty 5 =1 i & W= @ T,
TF @ g AR F 10 TS § W FE
# | Fa% 55 R 7Y wewn #i fre wE
T R F o ?

{a) 6 seconds {b) 7 seconds

1 1
(¢ 155 seconds (d) 57 seconds

A train crosses a platform in 30 sec-
onds travelling with a speed of 60
km/h. If the length of the train be
200 metres, then the length (in
metres} of the platform is

TF 200 T o4t temEl, 60 Fwwls
vz $1 Afa § IR T wEEH B 30
HHUT W IR FT S B1 WA e &
waE (o ®) F whi?

(a) 400 {b} 300 (c) 200 (d) SO0

70.

71.

73.

74.
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Ram travelled 1200 km by air which

f d 2
OT I [

one-third of the trip by car and the
rest by train. The distance (in km)
travelled by train was

T A g 1200 fedt w1 g e wm #
foaod = amn W1 2/5 I 7@ F ¥ )
T2 T RRTE 9 F FR 9 9 q= W
M R 7 FA ¢ L IS g 4 H
wi g (fF. 7)) 3 w2

{a) 480 (b) 800 (c) 1600 (d) 1800
The distance between place A and B
is 999 km. AN appress train leaves
place A at.6 am efd runs at a speed
of 55.5:km/ hr»%TIf\e train stops on
the way fedl Hour 20 minutes. It
reaches B at j

= v A 9B F = #7999 e 1
AWRETYIY T WE A Y W 6 99,
55,5 fedl/ s =t it @ o IR wl

of his trip. He travelled

i e T TR Y 1 wver 20 fe T

_%mqsmmaaa;ﬁmmugaww
(&) 1:20 am {b} 12 pm
fc} & pm id} 11 pm

. A man is walking at a speed of 10

kmph. After every km, he iakes a rest
for 5 minutes. How much time will
he take to cover a distance of 5 km?
uF A 10 fF. 9 v i TEr | o
? o0 TS fEl ® W) s five &1 faam
Fa &) 9% 5 fdt it 5l et U m
HM?

{a) 60 minutes {b) SO minutes
(c} 55 minutes {d) 70 minutes

A train covers a distance of 10 km
in 12 minutes,. If its speed is de-
creased by 5 kin/hr, the time taken
by it to cover the same distance is
equal to

oF o 1o R M g w2 R d T
@ # | off 7@ vfa 5 fEdtyva w9 =
%t A A A o 9% Ffvea o % |
o faran gwm wem?

40

{a} 40 minutes (b} 3‘ minutes

(c) 20 minutes {d) 15 minutes

A is twice as fast as B and B is thrice

as fast as C is . The journey covered
1

by C in 15 hours will be covered by

A in

A, B W I a0 B, ¢ ¥ 91 T & d=a

$ 1 7fk ¢ uw fafreg T W 1% o

70t q A A fFat T § i w2

(@) 15 minutes {b) 2 minutes
(¢} 30 minutes {d)  hour




75.

76.

77.

78.

79.

80.

A truck travels at 90 km/hr for the

1
first 15 hours. After that it trvels at

70 km/hr. Find the time taken by
the truck to travel 310 kilometres.

wF 7% 00 /v = T @ T 1%

U2 IF o ¥ ( 3OS AT T2 TG T 70
fapet /v vaan 1 FA0 7F B 310 fa

= T T F § 7 v v @
{a) 2.5 hrs (b} 3 hrs
{c) 3.5 hrs (d} 4 hrs

A car travels at a speed of 60 km/hr
and covers a particular distance in
one hour. How long will it take for
another car to cover the same dis-
tance at 40 km/hr ?

T FR 60 fFd/ga 1 v o ooR
Mg i imahd  wmes
3= w1 =1 40 i /v F fa # w= o
2, 9 W I w ™ w=A A @ fean g
T § 2

5

(a) 5 hours {b] 2 hours
3

{c) 3 hours {d) 1 hours

A train 30 metres long passes a plat-
form of length 100 metres in 10 sec-
onds. The speed of the train in
metrefsecond is

= TiaEiE 50 HeE wE EmEL, ™ 100
AR waE ¥ TEM ® W FH ¥ 10
SRV F T Sal € | T B G (m/
s} o =@ ?

(@) 50 (b) 10 (c) 15 (d) 20

A train 300 m long is running with

a speed of 54 km/hr. In what time
will it cross a telephone pole ?

TF 300 W @& iomdl, 54 fEetava

1 A Y Ted gL T WY B U FH G

e o ot 7
{a) 20 seconds
{¢) 17 seconds

(b) 15 seconds*
{d) 18 seconds

A train travelling at a speed of SSI%r

kmfhr travels from place X toeplace
Y in 4 hours. If its speed@ip. in-
creased by 5 km/hr., therrghe ime
of journey is reduced.

T T, 55 R ﬁdﬁﬁ X
=AY Yﬁaﬁﬂa‘;—emaﬁmwﬁ?ﬁ
'&mﬁmnﬁrsm;mwﬁmai
wAd 379 T4 T wwm?

(a) 25 mfﬁn‘es: gb} 35 minutes
{c) 20 minist el id) 30 minutes

A speed of 45 km per hour is the
same as £

45 sz =1 nfg @4 § Fard)

{a} 12.5 metre/second

{b) 13 metre/second

{c} 15 metrefsecond

{d) 12 metre/second

81,

82.

83.

84.

.

86.

a87.

If a distance of 50 m is covered in
1 minute, then 90 m in 2 minutes
and 130 m in 3 minutes find the
distance covered in 15" minute.

g v =fw 1 fme & 50 Wi, 2 e
H 90 wt. Fen d fe § 130 . =1 70
T3 @ 1 w6 7% 15 9 e § feat

= q@ w4
{aj 610 m (b} 750 m
(¢) 1000 m (d) 650 m

If a person travels form a point L
towards east for 12 km and then
travels 5 km towards north and
reaches a point M, then shortest dis-
tance from L to M is:

afz w =i Lfag § O i e 12 el
wor 2 3R il IR 9 7w 5 Tem
#1 M fig W wdear € 9t Losik M@ i =

= g0 T Eih
(a) 12 km (b} 14 km
(©) 17 km (d} 13 km

(CGL 16-08-201% Morninig)

A train runs at an average speed off. %
75 km/hr. If the distance to be:coy- %,

Tt

ered is 1050 kms. How IOM:WIK,&__}_

the train take to cover it?
qmaaﬁﬁtﬁm%aﬁaﬁmnﬁlﬁaam
#13fs 3U 1050 Fedfl. Fgfiwm wed
= frat ooT # 9g ol aF; ja:r%ﬂl
{a} 13 hrs {Brte hrs
fc} 15 hrs 1d] 14 hrs

- (dm.%éa-zms Morninig)
A train 180 mfs,flong is running at
a speed: of 90 ¥m/h. How long will
it, take ta _pass a post?

lmﬂﬂﬂﬁméﬁ%ﬁtﬂm&aﬁnﬁ
ﬂa-éns‘t 2,4 TF EY F R T T W

= 3 drfhy

' ’*'E‘%ga} 8.2 secs

(b) B secs

T_c} 7.2 secs {d) 7.8 secs

% km 5 m is equal to?

2 fepertle 5 o fFTS TR 22

(a) 2.5 km (b} 2.005 km

(c} 2.0005 km (d} 2.05 km

How many seconds will a train 120
metres long running at the rate of
36 km/hr take to cross a bridge of
360 metres in length ?

36 fFo Therde = vfa & =1 w120
dall T @St fee g § 360 Hie T
& i I 7

{a) 48 sec (b} 36 sec

{c) 46 sec (D} 40 sec

The diameter of each wheel of car

is 70 cm, If each wheel rotaies 400
times per minute, then the speed of

33.

&9

=

&

90

91.

92.

Wizard of Maths — Rakesh Yadav Sir

22
the car {in km/hr) if [Take ;r=-;_]

TF FR B TOF 9fEd 1 AE 70 cm ¥
IR werer dfe Wia fe 400 7/ ooa &, 9
FE Ht MME km/wd H et 2 (amm

(-2
A = —
7
(a) 5.28 (b} 528
(c} 52.8 id) 0.528

A train passes an electrical pole in
20 seconds and passes a platform
250m long in 45:seconds. Find the
length of th# tr&tm

T M ﬁaai’r@ B F T H20

5T F A S 250m e weE
45 ¥ ¥ o 1 T A @ H
{a) 2(0m {b) 250m

[c} 300m {d) 400m

: (LDC 1-11-2015 Evening)

rA car goes 20 rmeters in a second.

; Bﬁd its speed in Km/hr.
:UF R TE HHg § 20 HR Ter T IHEH

fiyee o nfa wm wifam)
@) 20 (b) 18 () 72 (d) 36
(LDC 15-11-2015 Morning}

A train passes two bridges of length
500m and 250m in 100 secends and
60 seconds respectively. The length
of the train is:

T T 500m 3R 250m w3 2 gEi H
FUA: 100 ¥FT 3 60 BES § W W
T 21 YerrEl Y ward e 32

(a) 125m/H. (b) 250m /.

(c) 120m/Hi. (d) 152m/ .
(LDC 15-11-2015 Morning)
A train is 250m long. If the train
takes 50 seconds to cross a tree by
the railway line, then the speed of
the train in km/hr is:

T WS 250m T #1 AR 97 TE T

AN 99 W OUR wE Y 50 RS S £ A

THHT T Frart fmitysian 22

@9 (b5 (c) 18 (d 10
|LDC 06-12-2015 Morning)

Each wheel of a car is making 5
revoelutions per seconds. If the
diameter of a wheel is 84 cm, then
the speed of the car in cm/sec.
would be.

TH HR F % Ufed o 99T 5 9
wem #) 9% I H I 84 WAL &, @t
R H T A AET § e

(a} 420 cm. fsec. (b) 264 cm./sec.
{c) 1000 cm./sec. (d) 1320 cm./sec.




93.

94.

9s.

96.

97.

Walking at the rate of 4 kmph a man
covers certain distance in 2 hrs 45
min. Running at a speed of 16.5
kmph the man will cover the same
distance in how many minuies ?

4 fRowior = it A 950 TU U = 2
o 45 fire # o fifvaa 3 v @ 2, @
7 16.5 fRodioma? Fi 1 9 4 7w v
v F w8 g T Ham?

{a} 35 min. {b) 40 min.

{c] 45 min. {d) 50 min.

A man rides at the rate of 18km/hr,
but stops for 6 mins. to changes
horses at the end of every 7 km. The
time that he will take to cover a dis-
tance of 90 km is

v i@ 18 fedfion # afa § W W
ARt e #) 9 ToE 7 EH @ wm
Hig T @ ol 6 fre = 7)1 =
g0 f&it. it @ = =™ w1 9 2@ fFN
W =

{ay 6 hra {b} 6 hrs. 12 min.
{c) 6 hrs. 18 min. {d) 6 hrs, 24 min.
The distance between 2 places R
and S is 42 km. Anita starts from R
with a uniform speed of 4 km/h to-
wards S and akthe same time Romita
starts form S towards R also with
same uniform speed. They meet
each other after 6 hours. The speed
of Romita is

% i R ¥R & A9 gh 42 fE R
sifr 4 fadliydia #t 99 T ® RE SH
3 = TE F & i I T vf
FB-HB TIA T ¥ SH R B AR TeA
T B 8 3 67 73 THE-FW A fedt
#) A = o feeh 32

{a) 18 km/hour  (b) 20 km/hour
{¢) 3 km/hour {d) 8 km/hour

Type B Relative Speed
A train 180 m long moving at the

speed of 20 m/sec. over-takes a man
moving at a speed of 10m/sec in

the same direction. The train passes.

the man in :

w180 W, I w20 A ¥

Yo g mm ke ¥ oA R A
= 1% R R W A F R gt

(a] 6 sec {b) 9 sec “Frum,
(c} 18 sec () 2% 9% .
The distance between,, t®o %i;ies A
and B is 330 km. A tréfp starts from
Aat 8 a m. and trfyely towards B
at 60 km/hr;ﬁncﬂhe}: [train starts

from B at 9 a. %, argd ravels towards

A at 75 lop/hr} & what time do they
meet? R =
2 T A 7B B g w330 km B

T I WA ® WE: 8 T 60 fRUI/E
= 1fd § B FT S A4 TF 31 STl W
9 79 R B ¥ WA A® #AR 75 FFte
Fi i | Fert 21 =6 frd g 2 fac
{a) 10:00 am () 10:30 am
{¢) 11:00 am (d) 11:30 am

98.

99,

100.

101.

102.

Two men are standing on opposite
ends of a bridge 1200 metres long.
If they walk towards each other at
the rate of 5m/minute repectively,
in how much time will they meet
each other ?

% =afs 1200 W, @@ g & oy fF
w wg ¥ afz 3 w5 WM. # oI |
TF T A S A WO A S S o
frrer o e =g T

{a) 60 minutes {b} 120 minutes
{c) 85 minutets  (d) 90 minutes
How many seconds will a 500 metre
long train take to cross a man walk-
ing with a speed of 3 km./hr. in
the. direction of the moving train if
the speed of the train 63 km/hr ?
wF 500 T @R 63 s fy @
0 & e W 8 o o o fedive =
T A @ R W I FE H 3R e

W

{a) 25 sec fh) 30 sec

{c} 40 sec d) 45 sec

A thief is noticed by a policeman
from a distance of 200m. the thiefl
starts running and the policeman

chases him. The thief and the po--
liceman run at the rate of 10 km:/ =

103.

104.

105.

hr. and 11 km./hr. respebtivgly;-s:_,.:' '

What is the distance between tlem
after 6 minutes ? _ i
U ufeTEaen A9t § 200°H. B 70 W TF
=R 1 T ¥ 9 9R e W I
F E1 =R AU YfeEre g 10 fhsa
A 11 Wm‘aﬁﬁglﬁ's&%l 6 firre
{a) 100 m =« i) 190 m

{c) 200 m: i % (d) 150 m

Two trains;’on& 160 m and the other
140 m léngi#re running in opposite
direcfions on parallel rails, the first
at 77 km an hour and the other at
67 km an hour. How long will they
take to cross each other ?

7 temizal fet aaral wav: 160 W,

e 140 . #, faala fem § gawR i@
o T T &) SR e e 77 fisa
We7fFdah E @M A MsAEd
et o o

1
(a} 7 seconds (b) 75 seconds

{c) 6 seconds {d) 10 secends
Two trains are running in opposite
direction with the same speed. If
the length of each train is 120
metres and they cross each other
in 12 seconds. The speed of each
train {in km/hour} is

3 terfem T @A M ¥ W W #
fari feemedl & <o g4 2 o g9 H IR
FAH 12 %, % U9 o & 0 @
F A (km/hy TE FEOFE A T
TR T 120 m.H ¥

{a) 72 (b} 10 {c} 36 (dy 18

106.

107.
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A moving train, 66 metres long. over-
takes another train of 88 metres
long, moving in the same direction
in 0.4168 minutes. If the second
train is moving at 30 km/hr. at what
speed is the first train moving ?
& 66 W. T emEl wae fan § W
w88 . Wt W W O A A
0.4168 fae @ wwg &6 #1 afk fidl
e @1 nfa 30 fediea 8 F wed
Termgt &t T

(a) 85 km/hr. (b} 52 km/hr.

¢} 53 km/hr. () 25 km/hr.

A constable is 114 metres behind a
thief. The constahie runs 21 metres
per minute and: the thief runs 15
metres in a minfte. In what time
will the.;___cohstéb%lﬂg%;atch the thief ?
T emey AR 114 7R
W ¥ Yfermars won =R 1 TR A 21
T A w15 W/ §) fRa T A
i S TR o

(a) 19 ‘minutes {b} 18 minutes
(e} 17 minutes (d) 16 minutes
A,B and C start at the same time in
the same direction to run around a
circular stadium. A completes a
round in 252 seconds, B in 308 sec-
onds and C in 198 seconds, all start-
ing at the same point. Alter what
time will they next meet at the start-
ing point again ? .

A, B, 79 C TF gOFR T/ F w0 @R T1R
A # o e o W, oF @ e A
A IR FHE E AT TR 252 TS
| B, 308 ¥FvE § A1 C, 198 ¥FE H
T a0 A 31 e o aR 4
R fag = fem

{a) 46 min 12 sec (b) 45 miuntes
{¢) 42 min 36 sec (d) 26 min 18 sec
Two trains 140 m and 160.m long
run at the speed of 60 km/hr. and
40 km/hr. respectively in opposite
directions on parallel tracks. The
time {in seconds) which they take
to cros each other, is :

7 temfed! o wm=na w99 140 T
A 160 W, | favda fawmat 4 wa @ R
I e w9 60 fEdida 9w 40
ez &1 9 ©F TR MFH A IR
fo5aT T S

(a) 10 sec. {b) 10.8 sec

{c} 9 sec. {d) 9.6 sec

Two train of egual length take 10
seconds and 15 seconds respec-
tively to cress a telegraph post. If
the length of each train be 120
metres, in what time {(in seconds)
will they cross each other travelling
in oppostie direction ?

7} T wraE ) e T wY ®
O H FUW: 10 74 15 FFTS F wAE
# o woF ¥ waiizo @ @ T
fadra Feemedl & wod @ A TH TR A W
@t o Feea wwa (e o) M)

{8 16 (b) 15 (¢} 12 (4} 10




108. How much time does a train 50 m

109.

110.

112.

long, moving at 68 km/hr take 10 pass
another train 75 m long moving at 50
km/hr in the same direction ?

T+ 50 i @ o 68 e w=t
T = @ #1 T IR I e
fan & gl 75 . T oEmE S0 e
=t 17 o = ) e W, T W
fa TFA § U TR

{a) 5 seconds (b) 10 seconds
{c) 20 seconds {d} 25 seconds

A constable follows a thief who is
200 m ahead of the constable. K the
constable and the thief run at speed
of 8 km/hr, and 7 km/hr. respec-
tively, the constable would catch the
thief in

F YA S | 200 ST 90 @
<R %1 drer 3 @ B AR e s ae =R
F Tl w8 fEd a7 fewiama
#\ = Fea T A g e SR IS
wm?

{a} 10 minutes {b) 12 minutes

{c) 15 minutes {d} 20 minutes
Two trains are running with speed
30 km/hr. and 58 km/hr. in the same
direction, A man in the slower train
passes the faster train 18 seconds.
The length (in metres} of the faster
train is :

2 Yemfse w oA fren & g vefel W
wuel: 30 FRvl/aa aen 58 fedisa =1 T
& v @ & o9 el § 1 e =
# 4 Y e el WO w48
YTV T T T BN I =TS I g

| 7= (1, §) Fad
(a) 70 (by 100 (c} 128 (d) 140
.A walks at a uniform rate of 4 km

an hour; and 4 hours after his start,
B bicycles after him at the uniform
rate of 10 km an hour. How far from

the starting point will B catch A 7% 7

A4m;wﬁnﬁﬂmmmi
4 W% 4% B 3w W to fopeit. /o =t ol
¥ Wit e g W §1 ARTAE ?;ﬁ 3
et R A B R \

{a) 16.7 km {b) 18;6 Y -

(c] 21.5 km [d}?ﬁ‘?km

A train passes two, perso%hs wallk-
ing in the same directjoriat a speed
of 3 km/hr. &;nd 5km}hr respec-
tively in 10 sedonde and 11 sec-
onds respeng;veg “The speed of the
train is :

T A iam@ @ feom A s 3
ez T S fsiysa Y e & S A
=fE F T FE § HE 10 TFS T4
11 IFv2 F T oAl €1 @ H
(a) 28 km/hour (b} 27 km/hour
{c) 25 km/hour  {d} 24km/hour

113. Two trains start at the same time for

114.

115

¥

gt

116,

,ﬁ,.

two station A and B toward B and A
respectively. If the distance between
A and B is 220 km and their speeds
are 50km/hr and 60 km/hr respec-
tively then after how much time will
they meet each other

T TS BYE AT BE TE-TR F AR
To WK e & A TR s FAE: 50
fedt, Wi sfar 7 60 Forel. wf 9T 2 3R A
a0 B® 4@ =t g 220 fedl A A
frat ¥ A TH-gW | fuerii?

(@) 2 br ®) 25 br

fc} 3 br {d) 1 hr

A man standing on a platform finds
that a train takes 3 seconds to pass
him and another train of the same
length moving in the opposite di-
rection, takes 4 seconds. The time
taken by the trains to pass each
other will be

o ST W EE T A A A e
i T T T8 I TR FE W3 AR

o et 1w faa fean B s SRy el

117.Two trains of equal length, running

in opposite directions, pass a pole
in 18 and 12 seconds. The trains
will cross each other in

% TA T 9 edl TR R
fafia feen # 9@ @, ™ @ B T
18 4TE a 128 ¥ W A ¥ A TF
T W R FA | e wwa =i

{a) 14.4 seconds (b} 15.5 seconds
{c} 18.8 seconds (d) 20.2 seconds

118. A train, 150m long, passes a pole

i
©
4

’)

it

ST Y A e 9IS T A g By

Tvg %1 T SR &1 I il :ﬂg{@f”‘
T A IR FE T

ok

(b} éﬁs‘étonds

2
2= seconds
7 )

{@

S 3
{c) 43 seqpnds ild)"“ﬁ;‘§ seconds

Two trains f05 metres and 90 metres
long, ruge- at ;_he speed of 45km/hr
ang-72 km;f‘}:r ‘respectively, in oppo-
cHops on parallel tracks. The
ich they take to cross each

othe
105?3&1 90 . il e 3 tefga
FUm: 45 fediez w72 Fedtrdn =
" = T ¥ afE 3 W getel W fAaen

fom ° R @ uw-gE W W HE § e
T Tt

{a) 8 seconds {b) 6 seconds

{c} 7 seconds {d) S seconds
Two trains travel in the same di-
rection at the speed of 56 km/h. and
29 km/h. respectively. The faster
train passes a man in the slower
train in 10 seconds. The length of
the faster train (in metres) is

% Yol AR vfEl © s e fm
w56 FEdissa qu 20 fedyam w5y wfa
A W W R A T i e
temE § 43 wF =i w OR 6 ° 10
Feve T THT AE 31 3 Te T TP
F T (. o) 7

(a} 100 (b) 80 () 75 . (d) 120

in 15 seconds and another train of
the same length travelling in the op-
posite direction i 12 seconds. The
speed of thé sefpnd train is
150 e, St et v e e
= ™ a»‘i%uifm}%z e g fom R s
@ Tl = uj;f FA ¥ 12 TR0 T T
a1 $if DA Yoot @t o 9T @
Taigmet =t nfq w2
(8},45 km/hr (b) 48 km/hr
15:] %2 km/hr (d) 54 kmn/hr
KA7train travelling at 48 km/hr
- *erosses another train, having half
its length and travelling in oppo-
site direction at 42 km/hr, in 12
seconds. It also passes a railway
platform in 45 seconds. The length
of the railway platform is

48 faiiyeier 1 7ft ¥ 9ER TTE OF TR
T i SN wnaTd el U AT e
42 Tz § o= faada fam ¥ == w1
3 B MFE T 12 FFUT F T SR 21
= TE U e B 45 ¥H1S 7 IR
F 21 weEd W T \m

(a) 200 m (b} 300 m

{c} 350 m {d) 400 m

120. A bus moving at a speed of 45 km/

hr overtakes a truck 150metres
ahead going in the same direc-
tion in 30 seconds. The speed of
the truck is

45 frtga =1 13 ¥ 9o @ 0 99, |6
§ 150 . 20 W @ TH W T FA H 30
FFog F W oA ¥ ZF F oG qad

(Rt
{8} 27 km/hr {b) 24 km/hr
(c} 25 km/hr (d) 28 km/hr

121. A passenger train 150m long is trav-

Wizard of Maths - Rakesh Yadav Sir

elling with a speed of 36km/hr. If
a man is cycling in the direction of
train at 9 km/hr., the time taken by
the train to pass the man is

uF 150 | et e 36 e =
o ¥ ww @ § e W e Ao
feli/e %1 i | QEfE wa W AR R
R FG U fo T W

{a) 10 sec {b) 15 sec

{c) 18 sec (d} 20 sec




122.

123.

124,

125.

126.

127.

& constant distance from Chennai
to Bangalore is covered by a person
who also returns to the same dis-
tance at 80 km/hr. then the average
speed during the whole journey is
o o & fufe @ (SR 9 S
TF WM Y A9 AR H T i 80 fedge
! Fam w7 ¥ e A o siwa e w6
(a) 90.20 km/hr (b) 88.78 km/hr
{c) BO km/hr (<} 88.89 km/hr
A jeep is chasing a car which is 5
km ahead. Their respective speed
are 90 km/hr and 75 km/hr. After
how many minutes will the jeep
caich the car ?

wF 59 wd B 5 fEHL am o @ o w
e T ¥ ST e e 90 it
aen 75 fdirsia @ R fire 1 ST @
F THg T

{a} 18 min. {b) 20 min.

{c) 24 min. (d} 25 min.
Buses start from a bus terminal with
a speed of 20 km/hr at intervals of
10 minutes. What is the speed of a
man coming from the opposite di-
rection towards the bus terminal if
he meets the buses at intervals of 8
minutes ?

o 99 2 | w9 10 e % simE W
20 fFiyea T W Y T TR e
feen 9 =4 2fie #t 2R o 99 T =R
Fi 4 T 8 fre & sivm R faerdt &) =t
=t fq T

(2) 3 km/hr {b) 4 km/hr

() 5 km/hr (d) 7 km/hr

A train 300m long passed a man
walking along the line in the same
direction at the rate of 3 km/hr in 33
seconds.The speed of the train is
TF 300 4. @R = e WmE whuE
fmdsfFfis s MA@ B =
R F W FT H 33 HHUL T HHT AR
¥ Yot =t vfa @@

{a} 30 km,fh (b} 32 km/h

ic} 32 (d} 35 8

- km/h 7 kom/h

A train, 240 m long c‘t%gsses a_man
walking along the line i opposite
direction at the rate of"3 k¥aph in 10
seconds. The speed gf l"he train is
w240 1. T, B e ot foem &
w@aﬁrﬁmﬁﬂfamﬁmﬁaﬁ 10
Fhve § M‘%@Wﬂé it nfy ang?
(@) 63 kmph, ™ 7 (b) 75 kmph

(c) 83.4 kmph-  (d) 86.4 kmph
Two trains of length 70 m and 80
m are running at speed of 68 km/
hr and 40 km/hr respectively on
paralle]l tracks in opposite direc-
tions. In how many seconds will
they pass each other ?

=t {emfgal fal Wl 70 =T 991 80
et 2 w68 fathrsa am 40 Fedl/s=
# TRR W OF T B A fom 4 Jg w
#1 3 fiperft 20 & wH-gE 1 W R

ta) 10 sec (b) 8 sec

{c) 5 sec (d) 3 sec

128. Two trains of length 137 metre and

163 metre are running with speed
of 42 km/hr and 48 km/hr
rspectively towards each other on
parallel tracks. In how many sec-
onds will they cross each other ?

3} Ienteal fo) oande Fhm: 137 Hiew
I 163 Hizx § 71 ST AW T 42
fetfivaoa 1 48 fedia 21 9 temieal
™ TR ® fawda feon @ an W@ € feed

T Y 3 T TR W W
{a) 30 sec (b} 24 sec
{c) 12 sec (dy 10 sec

129, Two trains, 830 metres and 120

metres long, are running at the

speed of 25 km/hr and 35 km/hr %

respectively in the same direction
on parallel tracks. How many sec-

onds will they take to pass each-:.

other ?

dsoﬁamxzoﬁawﬁaﬂﬁ%ml‘zﬂ
Fwe: 25 feyea @ 35 RRvsa
o 99 W & AR F waen 2E w wE
fem ¥ 9@ W A A R R mEA
T 5 feam g (4 H) faa s
(@) 48 (b} 64  [c}70  (d} 72

130. A train 100 metres long meets a man

going in opgosﬁ“ite".!:_l_i,gection at 5 km/

i 1
hr and passes‘ im in 7§ seconds.

Wlab is the ‘speed of the train{in
keig/ir) ?
ww 1po M. & termdt faudm fom o 5

_mﬁvﬁm‘%aﬁnﬁ R W R A

"7 v § uR w1 tem w

amﬂ (Feritraan)
(@) 45 km/hr {b) 60 km/hr
(¢} 55 km/hr {d} 50 km/hr

131.Two trains of equal length are

running on parallel.lines in the
same direction at 46 km/h and 36
km/h. The faster train passes, the
slower train in 36 seconds. The
length of each train is :

TOE war w1 2 ieenfEal e e @,
wF # B ° w46 fElga e 36
frtilyger ) i & e ¥ i R | T
A T v aen aet TS #@ 36
e § TR W G ? v e w5
=R =9

{a) 82 m (b} 50 mic) 80 m (d) 72 m

132. Two trains start from a certain place

on two parallel tracks in the same
direction. The speed of the trains
are 45 km/hr and 40 km/hr respec-
tively. The distance between the
two trains after 45 minutes will be

= Yerufsd, TR vefE W aOm fm |
90 @ 1 TE T w45 e
am 40 fesa 21 45 fe @ =, s A

termfeal # 9 = gl w@m
{a) 2km S00m (b) 2 km 750 m
€ 3km 750 m (d} 3 lan 250 m

133. Points ‘A’ and ‘B’ gire 70 km apart on

S

a highway ahd fio cars start at the
same time’If '&ey’&ravel in the same
d1rev::t1cnt(gq th%g ket in 7 hours, but
if they travelto wards each other
they meetwin' one hour. Find the
speed .of thé two cars (in km/hr).

'«':im A AW B B TN A 0 70

215 Tt T S TR e TR &
AAE A o T A 7 A et B
| g o A Tl feemsll W o wrow A

* 3 uF e e fred o <A w W

it fealt BT
{a) 20, 30 (b} 40, 30
() 30, 50 (d) 20, 40

134.P and @ are 27 km away. Two trains

with speed of 24 km/hr and 18 km/
hr respectively start simultaneously
from P and Q and travel in the same
direction. They meet at a point R
beyond @ . Distance QR is

P oA Q UE g ¥ 27 fEdl W R R
igEt FEW: T P W QW HA: 24
sy aam 18 fvitsiar #) 7fa 9w @
3R o T wE R A QAT g
R W fued €1 998 QR ¥t 0 T g

{a) 126 km (b} 81 km

{¢) 48 km (d) 36 km

135, Sarita and Julie start walking from

Wizard of Maths — Rakesh Yadav Sir

the same place in the opposite di-
rections. If Julie walks at a speed

1
of 2-2‘ km/hr and Sarita at a speed

of 2 km/hr, in how much time will
they be 18 km spart ?

s T A AR A @ IR W
faratia R o <= Wiy w2 Ak =

vt - %wmmzmma

A i W AR = e W e R,
S

{a} 4.0 hrs (b} 4.5 hrs

ic) 5.0 hrs id) 4.8 hrs
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136. Two trains 108 m and 112 m in
length are running towards each
other on the parallel lines at a speed
of 45 km/hr and 54 lan/hr respec-
tively. To cross each other after they
meet, it will take
108 Wt @ 112 WX daw Al @
Yermfedi ©F TH W 3R W w2l w
HUM: 45 ol wiv ga au 54 fedt, wia 5@
F Ui § T W ] " TR WM FA

o 5= fope qoa @m?
{a) 12 sec b} © sec
{c) 8 sec (d) 10 sec

137.Two trains 150 m and 120 m long
respectively moving from opposite
directions cross each other in 10
secs. If the speed of the second train
is 43.2 km/hr, then the speed of
the firt train is
7 Yoy, St wWE o 150 Hiew a 20
e ot & forawdta o @ o) U Tt
F 10 9902 ¥ R = 71 A @
i 7fa 43,2 feft. wivr sl & o g@dd & if
E k]
{a) 54 kan/hr {b) 50 km/hr
{c) 32 km/hr (d )51 km/hr

138.Two trains, each of length 125
metre, are running in parallel tracks
in opposite directions, One train is
running at a speed 65 km/hour and
they cross each other in 6 seconds.
The speed of the other train is

125 HHR Yo WA @48 H [ Emiea
wur v ¢ fareda feenall § ww @ E
e Yermet 65 farht ufa vz 9 vfa @ ==
Wi mE A MEFA T IR 6
IRz F g A &, A g T #}
i = |
(a} 75 km/hour (b} 83 km/ hour
{c) 95 km/hour (d) 105 km/hour
139. A boy started from his house by bi-
cycle at 10 a.m. at a speed of 12

per hour. His elder brother sta
after 1 hr 15 mins by scooter alen

the same path and caught him at™
1.30 p.m. The speed of the sopoter

will be (in km/hr) S

T T AR WA G mﬁlzﬁwﬁ
gﬁma&ﬂﬁﬁmmﬁwt"m
wd TE 1 o 15 fie Wy et § IR

Mm1 130

2

‘(o) 18 3

140. A policeman goes after a thief who

has 100 metres start, if the police-

man runs a kilometre in 8 min, and

the thief a km in 10 min, the dis-

tance covered by thief before he is
over-take is

tat 4.5 {b} 36

9

TF ™ 9N O SR W W SER 9 100
Wi S & T A w2 AR e
e g fore § 1 forlt, Ao =R 10 foFe o 1
foll. 1 T 7 0 ¥ A T A v IR

4 e R e T 7 S
(@) 350 m (b} 400 m
€) 320 m (d) 420 m

141.Two trains are running 40 km/hr
and 20 km/hr respectively in the
same direction. The fast train com-
pletely passes a man sitting in the
slower train in 5 seconds. the
length of the fast train is

40 frit e en 20 fEfty/ s M w@ F R
Yamirgal o fom o 4 w2 | d v
Tl I Hit e e oE F 92
ot saf B SRS H R F ol &, @

¥ e el o # e 2
(@) 23%m (b} 27 m
ic) 273 m (d23m

142.Two trains 180 metres and 120
metres in length are runnin
wards each other on parallel trdc
one at the rate 65 km/hour &x
other at 55 km/hour. In how
second will they be clear of ea_

feamstt g wh # Wﬁnﬂm 65
fwﬂ/uaamssﬁﬁiilﬁﬁa%m%m

AW M= g&ﬂhﬂ T QI ?

@6 (b 9%™wlc) 12 (@) 15
143. Two trains e length, are run-

n' @ax@lel tracks in the same

jon®with speed 60 km/hour

an ahem fhour respectively. The

lattég, completely crosses the former

4 in 30 seconds. The length of each
. “train {in metres} is

%ﬁmm@aﬁmmmfmﬁ
Qoﬁs—lﬁ wfs =21 = 90 fEul, wfa "
FA A @R AF-HA W
FH A 30 4R F qUT & A vAF H

g (. §) =@
fa) 125 (b) 150 (c) 100 (d) 115
144. Two trains 125 metres and 115
metres in length, are running to
ward each other on parallel lines,
one at the rate of 33 kim/hr and the
other at 39 km/hr. How much time
{in seconds) will they take to pass
each other from the moment they
meet?

125 WX 74 115 " I e At &
Yot wR-gE & FAR 33 fet. wfa w1 qm

390 feft, wf w2 3t TR W A @ &) 4

- A frr 3T (F. F) F W wEe
@8 MI10 (@12 @15
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s H
T TR
A, Il 9 FEvT T AF TR

i

%Xﬂﬂﬂﬁlm’

145, A thief steals a car at 1.30 p.m. and
drive it off at 40 km/hr. The theft
is discovered at 2 P.M. and the
owner sets off in another car at 50
km/hr. he will overtake the thief at

TF AR 1: 30 pm. W S F@ 7 qu 40
it/ F1 TRR A T ] w8
mias 50 fHt/Ha Ft TR § 2:00 pm.
w I i w6 2 9% W fea o

THg TM?
{a) 5 p.m. ib) 4 p.m.
{c) 4.3¢ p.m, {d} 6 p.m.

146, Two trains 100 metres and 95
metres long respectively pass
each other_in seconds when
they runo&mﬁth same direction
and in 8 gec s,when they run

in opp&% ctions. Speed of
the two traind are

ﬁiam-mf Fargd FU: 100 W
amgs‘:ﬂa%wfmeﬂﬂ TR

“PR T Y 27 SRvE T T e
" 3 faada el & 7@ A TRHA Y

et (a) 44 km/hr,22 km/hr
{bp)52 km/hr,26 km/hr
{c) 36 km/hr,18 km/hr
(d) 40 km/hr,20 km/hr

147. Motor-cyclist P started his journey
at a speed of 30 km/hr. After 30
minutes, motor- cyclist Q started
from the same place but with a speed
of 40 km/hr. How much time (in
hours} will Q take to overtake P ?
wF Wi wEfee arn P, 30 fEsa w
A & e e H ¢ T 30 W 9% Q,
40 fe. wfy 521 F TR § 35 fra w0
# 72 f5m 2 (R ) 98 PF IHS AM?

3 3
@1 @m5 ©@g (@2

148. A train running at the speed of 84
km/hr passes a man walking in
opposite direction at the speed of 6
km/hr in 4 seconds. What is the
length of train (in meire) ?

84 fredt /52 F it | TER el 1 e,
s faada B o 6 frvly/=a =t R |
MR AR R 4TEE TR AR |
wa et F e (h d) w2
(a) 150 (b) 120 {c) 100 (d) 90

149. A and B are 20 km apart, A can walk
at an average speed of 4 km/hr and
B at 6 km/hr. If they start walking
towards each other at 7 am. when
they will meet ?

A qu B 3 W uF @ W 20 felt
7 W ¥ | € =Ifm BN A 99 B W
TEH-GE F AR W 7 TR A YRS F
# o i wEa: 4 fER A 9 6
fadt /=i Y, ot WA A femert ot firet 2
{a) 8.00 a.m. ih) 8.30 am.

{c) 9.00 a.m. (d) 10.00 a.m.
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150

151.

152.

153.

154.

.Two trains of equal length are run-

ning on parallel lines in the same
direction at the rate of 46 km/hr
and 36 km/hr. The faster train
passes the slower train in 36 sec-
onds. The length of each train is

= T Tt IerEal waeR e W
% @ fam | FA: 46 91 36 feit/ava
Ft o A T W R A T W 36
978 ¥ W H OEd §1 T e

HaE =ar?

{a) 50 m (b) 72 m

{c) 80 m (d} 82 m

Raj and Prem walk in opposite di-

tection at the rate of 3 km and 2 km
per hour respectively. How far will
thry be from each other after 2 hrs?
T sk v feria feen A s 3 FRosftors
w2 fRotfiora Fi TR A e € Ao W
F UTER 4 UH-g ¥ R ot woE?
(a} 8 km {b] 10 km

(c) 2 km {d) 61 km

A train 150m long passes a km
stone in 30 seconds and another
train of the same length travelling
in opposite direction in 10 seconds.
The speed of second train is :

150 i, =i v et oF fR. @ wer @

30 93T W ot ¥ ol fawde frm © oW
et T € S = gl s 1099
H 1ol 1 g et # fy fRa &2
{a) 90 ki / hr (b) 125 km/ hr
90 el <= 125 &t / =2
{c) 75 km /hr (d) 25 Bt 7 Sy
75 forsit 7w 25 feft + "=

Two trains of length 150 m and 180
m respectively are runnning in op-
posite directions on parallel tracks.
If their speeds are 50 km/hr and
58 km/hr respectively, in what time
will they cross each other?

%t Yermfet fet e e 150 Hoal
180 |t & =R 3% W favia fwn ° wm
Tt &) 3% 3T it s 50 fedyea sk

58 fesiiia w1, a’tﬁrcﬁmﬁéqa;@%-;

F IR H?
{a) 11 seconds {b) 22 seconds
11 H%rE 22 4F7g
{c) 15 seconds (d) 30 second
15 v 30 TITE-
Type C .
A boy rides his bicyclg, 10°km at an

average speed of ]:gkm,f hr and
again travels 12 Km" gt an average
speed of 10 ﬁm/kr *His average
speed for the er‘i’h e*—i-rlp is approxi-
mately :

TE TASH 12 ﬁﬁ#ﬁra’a w1 T & 10 fFd,
T I WRfEE W A Fa ? g oad
W 12 fedl 7% w9 anfes Lo fediga
5 WY A ¥ He AN H A ST inm
nfa =@

{a) 10.4 km/hr
(¢) 11.0 km/hr

(6) 10.8 km/hr
(d) 12.2 km/hr

155.

156.

157.

158.

A person travels 600 km by train at
80 km/hr. 800 ki by ship at 400
km/hr. and 100 km by car at 50
km/hr. What is the average speed
for the entire distance ?

wF = 600 fFdl. F1 I @ 3w 80
firtiidiar, 800 ot =1 amT ST 30 400
Trdirda w qen 100 it =t 991 0 5@
50 fFHl/ee o 78 i & e FE A ®
fordt stfm i == =il

sskm,.r‘hr b} 130 Ok:mfhr

(@) 6 12

¢ 50'5—km, hr.(d) 62 km./hr.

A train moves with a speed of 30
kmph for 12 minutes and for next 8
minutes at a speed of 45 kmph. Find
the average speed of the train:

T EE 12 fiee a9 30 ferirsm # vl
A yordt & 7 TR 8 foe o 45 s
#i 1fa | =t 2

{a) 37.5 kmph {b) 36 kmph
{c) 48 kmph {d} 30 kmph .
A car completes a journey in 10 ..

hours. If it covers half of the, JOLII-

161.

tég

ney at 40 kmph and the remaining

half at 60 kmph ,
ered by car is

wmwﬁﬁm{aaﬁ IOﬂ%ﬂH’qTﬂ?ﬁ
31 oz 7% st T B 40 Fedysia qu v
st 38 ¥ 60 Frviax frafa & T w0
#1 W g @ w T R

the distance cov-

fa) 400 km . - -{b] 480 km
(¢) 380 km - {d) 300 km
A man covers half of his Journey at

o km/ hr; and the remaining half at
3 -&mi/hr.“His average speed is

TE w5 A 3 1 W H 6

. Tt aen s e w1 3 fedfaa 5 i

160.

o 79 Fe &) 3T sfrga v 9
- {a) 9 km/hr

(b} 4.5 km/hr

{c} 4 kenfhr {d} 3 km/hr

. A man goes from A to B at a uniform

speed of 12 kmph and returns with
a uniform speed of 4 kmph. His av-
erage speed (in kmph) for the whole
journey is :

T AR AR BTF UF 99R A 12
fesitreten @ 9 1 4o 4 frsfrea @ AT
W T @ siea &1 w7 T § <ot sl
fa (fedia? &) aa

)8 (b} 7.5 (6 (4} 4.5

A train covers a distance of 3584
km in 2 days 8 hours. If it covers
1440 km on the first day and 1608
km on the second day, by how
much does the average speed of the
train for the remaining part of the
journey differ from that for the
entrie journey ?

163.

164,
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T el 3584 fHHL ®I T = 2
8 ¥ m ¥ ?) Ak ® wea R
1440 a1, 7w 3=t f7 1608 Tl &1
T T ¥ T g # qw efua

nfa @ de &9 # 9y T #5 aftea wfa
o fara a2

(a) 3 km/h (b) ¢ km/h

(¢} 10 km/h {d) 2km/h

A man completed a certain journey
by a car. If he covered 30% of the
distance at the speed of 20km/hr,
60% of the distance at 40km/hr and
the remaining distance at 10 km/
hr; his average speed for the whole

journey was® %

qmaﬁamnﬁmﬁﬁﬂﬁ{ﬂmmél
=€ FF EIW3N M F 20 FrivEa
ﬁ‘ﬁﬂ,@i)%_%ﬂﬂﬂ 40 ferfima 9 an
w9 TR A 10 flei = v @
FRER] Fo1 a0 F e e )
{@.25 km/hr {b) 28 km/hr

%{c) B0 kam/hr (d} 33 km/hr
kﬂperson went from A to B at an

zaverage speed of x km/hr and re-
* turned from B to A at an average

speed of y kemm/hr. What was his
average speed during the total jour-
ney ?

TF A T A Y B 7% © fafvsg i«
feditreiar @ s 1 qen y fariyear % amw
e 81 9 A 4 3wt stk A w@wn

X+y 2xy
(a) 2xy (b) X+y
2 1 1
© 33y @ %ty

A man goes from Mysore to Banglore
at a uniform speed of 40 km/hr and
comes back to Mysore at a uniform
speed of 60 Km/hr. His aveage speed
for the whole journey is

T =i FR 9 S w40 fadam w5
i | wrn # 60 e Wt v 9
T 31 #) F ANt Shwa A T
{a}) 48 km/hr (b} S0 km/hr

(c) 54 km/hr {d) 5 kn/hr

A man goes from a place Ato B at a
speed of 12 km/hr and returns from
B to A at a speed of 18 km/hr. The
average spped for the whole jour-
ney is

W E AR BOw 12 el =1
T § W #1 Ak BR A TE 18 Pmivea §
T FrEa 1 R AN N =R F i 1
B

(a) 14% km/hr  (b) 15 km/hr

(c 15% km/hr  (d) 16 km/hr




165. A man covers the journey from sta-

166.

167.

168.

169.

tion A to station B at a uniforn speed
of 36 km/hr and returns to A with a
uniform speed of 45 km/hr. His av-
erage speed for the whole journey is
UF =i WA A S B OF TF 99F A 36
etz & T % 9o BY A 7% 99 W9
T 45 fflea @ wea 81 we 9 #
st Tl wann

() 40 km/hr {b) 40.5 km/hr
(c) 41 km/hr (d) 42 km/hr
One third of a certain journey is cov-
ered at the rate of 25 ki /hour, one
fourth at the rate of 30 km/hour and
the rest at 50 km/hour. The average
speed for the whole journey is

wF A T uS-faeE wm 25 el g,
uw-derd anr 30 fEHa F ol 9 q vy
T 50 e @ @ fem w2l
7 & BE T e i @

(a) 35 km/hour

1
(b} 335 km/ hour

{c) 30 km/hour

{d 37 5 km/hour

The speed of a train going from
Nagpur to Allahabad is 100 kmph
while its speed is 150 kmph when
coming back from Allahabad to
Nagpur. Then the average speed
during the whole journey is:

& TR A FoEa 91 aieht WmE 100
fefia? #t nfa & s # @0 AE 150
foityea %1 1 | e ot @) A ® e
Iu=t aitea 1fa T

{a) 120 kmph (b) 125 kmph

{c) 140 kmph {d) 135 kmph

P travels for 6 hours at the rate of 5
km/hour and for 3 hours at the rate

170.0n a journey across Kotkata, a taxi

171.

172.

173.

of 6km/hour. The average speed ol‘”“ S

the journey in km/heour is

'Psﬁlﬂmaﬁnﬁlﬁeaﬁaﬁwm
) am e 3 9 % 6 Fediy @ e 1 ¢
@w%ﬁmma@ﬁmnﬁ! (i
oy g :

2 .2
= LAPtCys el
(a) 3 {b) 5 @15 (d 25
A bus covers t@ree suceessive 3 km
stretches at spéed of. 10 km/hr, 20
len/hr and 60 knifhr respectively. lts
average speed ofer this distance is
oF TW HAY: T Fman vA&3F 3 et S
gl W w10 R 20 fEdl /e am

60 Frdt/ee &t i § T S #) TEE

#Hiwa nfa =ang ?
{a) 30 km/hr (b) 25 km/hr
(c) 18 km/hr id) 10 km/hs

174

averages 50 km per hour for 50% of
the distance, 40 km per hour for 40%
of it and 20 km per hour for the re-
maining. The average speed {in km/
hour) for the whole journey is :

ForE F A B A, TF 1 T 50 E

50% M 50 e ¥ s Fi o ofa 2,
40% 38, 40 fErida F1 7fs | T v
== g 20 foeh wit o = 1fa © @ w6
¥ | o 9 % dRm o e (Resei @)
A |

(a) 42 (b} 40 (¢ 35 (d) 45

A train goes from Ballygunge to
Sealdah at an average speed of 20
km/ hour and comes back at an av-
erage speed of 30 km/hour. The av-
erage speed of the train for the whole
journey is

o ol Sania o faes 7= 20 fed

fa s &) ola 1 & St &, @m0 fed

ot Her 3 Afrea W o am o @ @

g § 3frem = w82
(@) 27 km/hr (b) 26 km/hr
(¢} 25 km/hr (d) 24 kmhr

A train runs from Howrah to éande‘l’
at an average speed of 20 km/hr and
returns at an average spepd 30 km/
hr. The average speed. [m km/hr)
of the train in the whoie JWI’IIEy is

qmmmﬁmﬁﬁﬁqﬁnﬁzo
forh/ e & it § 1 Wy A 30 ey
maﬁnﬁlﬁv&gﬂrg wF A FH) SiEa

(23,20 Ib} 225 [c] 24 () 25

A cax covers four successive 7 km
dla;ances at speeds of 10 kmn/hour,
20 ‘Igm;‘hour 30 km/hour, 60 km/
hour “#espectively. Its average speed
over this distance is

7% PR gE-Ow i w wiw wr gl |®

F99: 10 km/hour, 20 km/hour, 30
km/hour, 60 km/hour ®1 WA ¥ @@
il 2159 T8 & for seet sitew T T 2
{a) 30 kmmj/hour (b} 60 km/hour
ic) 40 km/hour (d) 20 km/hour

.A man travels for 5 hours 15

minutes. If he covers the first halfl
of the journey at 60 km/h and rest
at 45 km/h. Find the total distance
travelled by him.

e Sfa 592 15 A2 I T 3) 90 9w
weelt ANl A 60 fE.9. wfa = w5 ufa |
T 9y 45 &5, wfq T @ ofa © T @
A SER! A= w FHE T )

(o} 189 km/fEmd. (b) 378 km/fEHL

(g 270 km/fF R () 1023? km/fFL
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Tpe D

175.In covering a certain distance, the

speed of A and B are in the ratio
of 3: 4. A takes 30 minutes more
than B to reach the destination.
The time taken by A to reach the
destination is:

wF e T $l WSO S T AT B
F) TaA w1 AIA 3: 4 ¥ A TH T
o H B ¥ 30 fre st G 1 9@ A

gra foran 0 T fee &1
1
{a} 1 hour () 15 hours
. 1
{©) 2 hours .. - () 2- hours

176.A and B’ star.t a‘e the same time

with spegd of 40 km/hr. and 50
km /fhr. respmtwely If in cover-
ing the jouyney A takes 15 miuntes
longét than B, the total distance
of the!journey is:

AT BUF F7R H | O o we:
4o‘qa150fawﬁmzrﬁnﬁlﬁammm
Y AT W FA T B 15 e =

“eyog SR T &1 9 R/ 0 fRE g

() 40 km {b} 48 km ) 50 km {d) 52 km

177.The speed of A and B are in the

ratio 3 : 4. A takes 20 minutes more
than B to reach a destination. In
what time does A reach the
destination?

ATH BH Wi # NPT 3: 471 TE
R R @A Ha Bow g ™
T ¥ 20, afus o 21 @ %A & e

% TS U A gR et TN QR R
1

(a} 15 hours (b} 2 hours
22 d lzh

{c) 3 hours id) 3 ours

178. A and B travel the same distance at

speed of 9km/hr and 10 km/hr re-
spectively. If A takes 36 minutes
more than B, the distance traveiled
by each is

A 77 B wF faferam 5 < w1 9 R
aw 10 Frdi/eia % TRl @ @ @ A, BY
T 7 Fa 1 36 i o wFa o TR

=% fifre 58 fFel )
(2) 48 km (b) 54 km
{c] 60 km (d) 66 km

3
179. By walking at 3 of his usual speed

a man reaches his office 20 min-
utes later than his usual time. The
usual time taken by him to reach
his office is

Wnﬁl%%m#waﬂﬁmw

= frad T ¥ 20 fre e @ T #)
Hifepw TgEA W S Fra w22
(a) 75 minutes (b} 60 minutes
{c) 40 minutes {d) 30 minutes




180, Walking at

181.

182

183.

184,

.Walking —
7

4 of his usual speed, a

1
man is 15 hours late. His usual

time to cover the same distance {in
hours) is

mnﬁ%%ﬂaﬁwwmﬁaﬁ

Fr g AT 13 RAWD

Wit 2, 3% 3 W W £ § T awen
AW WA (52 F) 796 w17
d 5

1 1
@45 M4 o 55

th
Walking at ; th of his usual

speed a man is 25 minutes late. His
usual time to cover this distance is

th

mnﬁ#% A 9FH R/ 25 fiFe &t

W Wt ¥ e g0 T B §
e AYFT Y TR
(a) 2 hours 30 minutes
(b) 2 hours 15 minutes
{c) 2 hours 25 minutes
{d} 2 hours 10 minutes
th

of his usual speed a

man is 12 minutes tate. The usual

time taken by him cover that
distance is

th

= T ® g ¥ 90 w12 fie
W & I T W W I () @
L ]!

{a) 1 hour

() I hour 12 minutes
{¢) 1 hours 15 minutes
{d) 1 hours 20 minutes
Two men start together to walk a™ .

certain distance, one at 4 k‘m!h and -"

ar-

another at 3 km/h. The fonq?i,
tl:ier

rives half an hour befi ﬁ%&
Find the distance. b

z\mmqa:ﬂﬁ'aa{a el @ ferd

T w9 4 Feyigeryn 3 e

Hﬂﬂﬁﬂﬂﬁﬂ‘%@}'ﬁ?’é R & s S

mﬂiamﬁla et 77t =

(a] 8 km™"% ) 7 km

(6 km 5 g “(d) 9 km

A and B stﬁ'ﬂt at the same time

from the Same place for a
5

certain destination. B walking at 6

of A's speed reached the destination
1 hour 15 minutes after A, B reached
the destination in

Rt
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186.

187.
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188.

ATY B UF WY UF £ O 1 UF 1 e

ﬁmmum%‘mﬁmaaﬁnﬁaﬂg

Tad T A GE AW ) HAISTFE R A
e B1 B 3 fam IM e = 3@ F
{a)} 6 hours 45 minutes

{b} 7 hours 15 minutes

{c) 7 hours 30 minutes

[d) 8 hours 15 minuies

If a man reduces his speed to 2/3,
he takes 1 hour more in walking a
certain distance. The time (in
hours} to cover the distance with his
normal speed is :

o T = A A 2 T

3 %1 A 9% uE Pem A E | v
ifvs B &1 | TR 9 g R

I T T (12 F) A H
@2 (b1l ic) 3 @ 1.5
A train running at - of its own

3

speed reached a place in 22 hours.
How much time could be saved if
the train would run at its own
speed?

@WMW%% 1 ﬂm'@ EN
aaﬁwﬁﬂamaﬁmmﬁﬂm‘a@m '

g Tt 1 AR 9T A Nk SRR
o g e e w= %

{a) 14 hours b} 7‘4;01‘13

[c) 8 hours dl 16 ‘hours

e

of h¥e ‘usual speed
reaches t\;e t!tstinatlon 25 hours
Firid is usual time to reach
tﬁe sthation.
T

W*ﬂ&ﬂaﬁmﬂﬁiﬁ LG

3
A man mth -

3k

w1 f19a wrg 9l
{b) 3 hours

%I A 7%
fa) 4 hours

3 1
(c} 3: hours {d} 45 hours

5
7 of its usual

speed covers 42 km in 1 hour 40

min 48 sec. what is the usual speed
of the car 7

TF FE A9 9= TS g v § g

T 42 f5i. &t g @@ wA H 1 9 40
fifie 48 v =1 999 o #1 FR F
wH= T SaEl

A car travelling with

(a) 17glm1fhr,
{c} 25 an/hr.

(b) 35 km/hr.
{d) 30 km/hr.
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Walking at three-fourth of usual
speed, a man covers a certain dis-
tance in 2 hours more than the time
he takes to cover the distance at his
usual speed. The time taken by him
to cover the distance with his usual
speed is

oot ofa & % am & 9 9eH W T
=t Tk fifem 0w | w0 | |

nfa @ R T T ® 2 WA Afus T e
21 W i @ o T e forn v g
= T

(a) 4.5 hours (b] 3.5 hours

c) 6 hours ld] 5 hours

Two cars, afe o ving with speed
v,V towﬁ‘t‘d ssing along two
roaés !{ 1stance from the
crossing” metres and 50

metres at %_xymstant of time then
theyﬂdo not collide if their speed
ueh that

ar
gg‘tq:mﬁmaﬂaﬂw Y, RE w
inaﬁ@ﬁﬁmwmﬂm@
m 407 3 50 WR A, 3 § s |

R AR S e TR -

C (@) v, vy, = 1625
byv,:v, = 4:5
fchv, v, = 5: 4
[dv, v, = 25:16

A peson started his journey in the
morning. At 11 a. m. he covered of
the journey and on the same day at
4.30 p.m. he covered of the journey.
He started his journey at

T TR e A T AN F ]) g9
11 : 00 T T 9% F& A1 FH1 A T FL
TR 8 s I KT M 4 30 R AW

FTA AN W AW T FA@ F T =

&R =t T WY & ot
{a) 6.00 a.m. (b) 3.30 a.m.
{c) 7.00 a.m. {d) 6.30 a.m.

A runs twice as fast as B and B runs
thrice as fast as C. The distance cov-
ered by C in 72 minutes, will he cov-
ered by A in :

A, B o § T 90 B, C ®1 304N 99
T e & o www o R F @
%3 4 72 c 72 el = T wwA B
ot A gm foan T T T

(a) 18 minutes {b) 24 minutes
fc} 16 minutes {d) 12 minutes

A train starts from A at 7 a.m. to-
wards B with speed 50 km/h. An-
other train starts from B at 8 a.m.
with speed 60 km/h towards A. Both
of them meet at 10 a.m. at C. The
ratic of the distance AC to BC is
T IO qEE 7: 00T AW BH 3R
50 foreit./sier 71 3o B A F1 3R g 8
: 00 7 60 frivaa &t iy 9§ e WY
FE 21 [ 49 H ™A CW 109 gHE
Tirerll #1 AC 991 BC %t SR 1 3199R 54 |
@S:6(b)5:4()6:5(d)4:5
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From two places, 60 km apart A and
B start towards each other at the
same time and meet each other af-
ter 6 hours. If A travelled with of
his speed and B travelled with
double of his speed they would
have met after 5 hours. The speed
of Ais

60 fail. 1 ¢ W Rem WAl Ao BA
% =fE A TeT B TF 3@ # A oM W
arE ¥ 65 F faem ¥) afRA sl @ e
T 9 & T B ST v F g
I F, A A 542 AR et A F ogm fa
=

{a) 4 km/hr. {b) 6 km/hr,

{¢) 10 km/hr. {d) 12 km/hr.

A is twice as fast runner as B, and
B is thrice as fast runner as C. If C
travelled a distance in 1 hour 54
minutes, the time taken by A to cover
the same distance is

A, BY M 30 B, C A 97 TN &9 D=
HIR e M R A A d 15
54 fre o 81 o A S g R TRy o
Y 7 F4m

{a} 19 minutes {b) 38 minutes
{c) 51 minutes {d} 37 minutes
In coverting a distance of 30 km,
Abhay takes 2 hours more than
Sameer. If Abhay doubles his speed,
then he would take 1 hour less than
Sameer. Abhay’s speed (in km/hr) is
30 forvl, =1 70 1 98 ¥ o svp, wER |
2 R SR T AW B AR s w @
T TR W T ANE AR " 1 SR Y 0
o R s R (Feefivsiar) s

@5 Hme fc) 6.25 (d) 7.5
A car driver leaves Bangalore at 8.30
A.M. and expects to reach a place
300 km from Bangalore at 12.30
P.M. At 10.30 he finds that he has
covered only 40% of the distance.

By how much he has to mcreasé”‘%
the speed of the car in order to keq S
up his schedule ? kS
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T FNGET, mﬁtﬂaoomﬁggwnaﬁ £

fere wma: 8 3oﬁmmw

e BF 12 : 30 AT TH %jnn
I 2 | EE 10 : 303131 !a o
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(a) 45 km;‘h‘r’ .. * (b) 40 km/hr

(c) 35 km/hr (d) 30 lom/hr
Two towns A and B are 500 km,
apart. A train starts at 8 AM from A
towards B at a speed of 70 km/hr.
At 10 AM, another train starts from
B towards A at a speed of 110 km/
hr. When will the two trains meet?

202,

A FE ATN BTF TR 500 1 g 203.A boy goes to his school from his

T fiod %1 0% 1@ TH: 879 AW B# %
70 s 3 i & e e 4 gE |
BY uA: 105 110fFfimm S & A

1 AR @ B @) 3 temieEt e e
{a) 1 Pm {b) 12 Noon
(¢) 12.30 PM (d) 1.30 PM

A man goes from a place Ato B at a
speed of 12 km/hr and returns from
B to A at a speed of 18 km/hr. The
average spped for the whole jour-
ney is

% fed TR AY BTE 12 fEitsa
T A S} B AT 18 fdvea @
ANE Fea #1 e 9 o =t # s i
=

2
(a) 14gkmfhr (b) 15 km/hr

1
{© 155 km/hr  (d) 16 km/hr

A train leaves a station A at 7 am
and reaches another station B at 11
am. Another train leaves B at 8 am
and reaches A at 11.30 am. The two
trains cross one another at

T M T A A W 7a@lmms;'“-
T & A g =W B W rivep ey,
TE9 W B 1 T e, B B ¥ Y

8 T T U 0, WA WER 11
: 30 T T S B T A et
ot o O T W WA

{a) 8 : 36 am Bk, 96

fc) 9 : 00 am -'“"Id} 9‘ 24 am

A man cove Aertain distance at
some speed. e moved 3 km per
hout faste? 'he would have taken
4Q mmu&s:lesa If he had moved 2

ur slower, he would have
takég 40 minutes more. The dis-
tancc“lm km) is :

’@mﬁﬂ@ﬁﬁﬂ{ﬂaﬁﬁﬁﬂﬂﬁiﬁ

*‘mqmmélmagmﬂwﬁsﬁqﬁma

_@ﬁmsﬁwmﬁﬁ 40 T = g
FW T #) faeg AR w2 fesdsa o
¥ TR 40 firz =1 o Afias T
21 7@ ffeaa 7@ (feedt, #) s

) 36

A man travelled a certain distance
by train at the rate of 25 kmph. and
walked back at the rate of 4 kmph.
If the whole journey took 5 hours
48 minuts, the distance was

o =i v fafrem o o T 9 25
ferea w1 wfa | A we & a9,
WiE fag o afaisia 9 ofs § =
e &1 AR 3 Hj\ S5 9 48 i 1 w0y
A 99 9% ffea g0 e

{2) 25 km {b) 30 km (c) 20 km {d) 15 km

{a) 20 (b) 35 (d} 40
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house at a speed of 3 km/hr and re-
turns at a speed of 2 km/hr. If he
takes Shours in going and coming,
the distance between his house and
school is ;

o faeneff o W W w7 3 e =
A § S ) qn Ay 2 ferfva 91 v |
1 ¥ A 3 U T FEs T | W
w2 A R Y W@ o w gl A
(a} 6 km {b) 5 km

f€) 5.5 km {d) 6.5 km

A student walks from his house at

1 .
a speed of.__;-__\2§-;l_'{m per hour and

reaches his Sthoo} 6 minutes late.
The next: 4ay hé increases his speed
by 1 km perhour and reaches 6
minutes bef@re school time. How far
is the:school from his house ?

ofs o el ST R 2 e

iiﬁ%%m%a‘lemaﬁaﬁﬁﬁm
R g o g T M 1 Ferdl e mTE
* T i § A6 e we = e

R A T H 0 W
5 7
(a} 3 km {b) 7 km

9 11
(€) Zkm {d) 5 km

. A person, who can walk down a hill

1
at the rate of 45

the hill at the rate of 3 km/hr. He
ascends and comes down to his stari-
ing point in 5 hours, How far did he
ascend ?

km/hour and up

T = T R 9 S 4%

fardta2 %t afa =1 W we 1 990E
T Saa! a3 e gt 31 =i =t
TH-9F 921 7 IHH U F 5 0L H g
T #1 ward 3o fRad ferdl, 3 =g w2
{a)] 13.5 km {b) 3 km

{c] 15 km (d) 9 km

Ram arrives at a Bank 15 minutes
earlier than scheduled time if he
drives his car at 42 kim/hr. If he
drives car at 35 lam/hr he arrives 5
minutes late. The distance of the
Bank from his starting peoint is

afz T 42 fedi/ga 3 1fs ¥ $R w@m §
@t @ ¥F Frm we 4 15 o we ads
w1 wig 35 feiga 4 W R frr ama
s d et ™ & wadw

T g =R

{a) 70 km (b) 210 km

(e) 72 km (d) 60 km
313
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A boy is late by 9 minutes if he walks
to school at a speed of 4 km/hour.
If he walks at the rate of 5 ken/hour,
he arrives 9 minutes early. THe dis-
tance to his school is

I TF o A9 TR W 4 Fedda Sl
wraen il & 4 9 firke we € I #1 W
afg 9% 5 fefaa @ w @ 9 fre S

e W £ A RN % drw & g
=

() 9 km (b) 5 km

(€) 4 km id) 6 km

A car can cover a certain distance
in 4% hours. If the speed is in-

creased by Skm/hour. it would

1
take 2 hour less to cover the same

distance. Find the slower speed
of the car.

T R e g A 45 R

@ ) 3z w5 Fedyea 3 @
AR PR R e
1

> e &) UG FH T

fa =ar|

{a) 50 km/hour (b} 40 km/hour
(c] 45 kmm/hour  (d} 60 km/hour
Shri X goes to his office by scooter at
a speed of 30 km/h and reaches &
minutes earlier. If he goes at a speed
of 24 km/h, he reaches 5 minutes
late, The distance of his office is

4 X 9 W ¥ FEeE T g7 30
el @ W ¥ A Ao e o) ww Wi
1 3l 7% 24 ftitea & @@ # | 5 e
AR MY s B A @
AN

(a) 20 km
() 22 km

Rkt

(b} 21 km
{d) 24 km

AL
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213.

214.

= T faEmed 2% fedfea = TR @

T A T T 2 M 6 R A2 8 I
#1 Ty 3 fersn @ 9w W FE 10 fre
HeT) TET WA ¥ THR W W B Al
F g0 (. &) T

(@5 {4 3 id} 1
When a person cycled at 10 km per
hour he arrived at his office 6 min-
utes late. He arrived 6 minutes early,
when he increased his speed by 2
km per hour. The distance of his
office from the starting place is

= Ok S 10 et =1 ot & arfea
o & @ wrted 6 oz 3 | v
S &1 W IR 3 T o i 2 et
T % A, FAET 6 e Wt v W )
IHH W A FRia § 9 $ gl )

(@) & km (b) 7 km

c) 12 km {d) 16 km

If | walk at 5 km/hour, 1 miss a train
by 7 minutes. If however, | walk at
6 km/hour, | reach the station 5
minutes before the departure of the
train. The distance (in km) between
my house and the station is

o A 5 frvs = T A DT ER

217.

218.

IR RTEP AR AT

W Ak # ¢ frdisa & s € A o
wIH R wd e gad R mI
YA @ o W g (Fedl. R) aw
@6 (bS5 (c} 4 ) 3
With an average speed of 40 km/
hr. a train reaches its destination
in time, If it goes with an average
speed of 35 km/hr, it is late by 15
minutes, The yotal journey is
40 fanh Wia sl = W I W 0F
M} TR W T W H T
2 e 8 35 fed wia v ¥ R
i, dF- T Tiaey 7% wEe ¥ 15 e

"X v Wt # | w5 A w A = |

Walking at 5 km/hr a studeht -

reaches his school from his house:.

km/hr he is late by 9 minutes- " What
is the distance between hlS ol
and his house ? EY S

51%maamﬁﬁmm&m§maﬁ
W frmedt 15 fire S HwgEm )
msﬁﬁmﬂwﬁwsﬁmﬁzﬁm
#17@ 8 4% 2 =W
“njb]Shn {(c) 3

km (d) 2 k}&[’% ;
A student gocs%to school at the rate

" of 25 km/h a.nd reaches 6 minutes

late. If he travels at the speed of 3
km/h, he is 10 minutes early. The
distance (in km) between the school
and his house is

A5,

15 minutes early and walking at 3 .

216.

", {a) 30 km (L) 40 km
{c) 70 km {* 80 km
Walking at a sperr f 5 km/hr. a

man reaches his cifice 6 minutes
late. Walking at 6 km/hr. he reaches
there 2 minutes early. The distance
of his office is

5 fai), 9fd o= F1 TR ¥ ot W 6 fime
F W 7 wE # aw 6 fEdl Wl W@ H
TR 4 9o R 2 fre @ Fife e w
uda e #1 fnaifm =

{a) 3 km (b) 4 km

(¢] 3.5 km {d) 2 km

If a boy walks from his house to
school at the rate of 4 km per hour,
he reaches the school 10 minutes
earlier then the scheduled time.
However, if the walks at the rate of
3 km per hour, he reaches 10 min-
utes late. Find the distance of his
school from his house.
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T wEE 4 fER. vl 5 1 TEm 8 wen
w10 fice T @ 3 fed gfe e #
TR & 9er W 10 e F1 30 & 71 =3
gl ¥ e A W w3 W w

(a} 5 kmn {b) 4 km (c} 6 km (d) 4.5 km
You arrive at your school 5 minutes
late if you walk with a spead of 4
km./h, but you arrive 10 minutes
before the scheduled time if you
walk with a speed of 5 km/h. The
distance of your school from your
house (in km) is

ofE A TR T 4 fdtyava w e w e
#, A frm wm 95 i 30 3 ofe W iy
oft s sy e d s ¥, A Frmwm A
10 firlz Wt W AR ¥ T A W d
A & 99w gf (e A) a7

() 4 fol&z, ") 10 (d) 2

A car travels‘from P to Q at a con-
stant speed.: If its speed were in-
creaséd by 10 km/h, it would have
been. taken one hour lesser to cover
the distance. It would have taken
further 45 minutes lesser if the

‘speed was further increased by 10

kim/h. The distance between the
two cilies is

T FE WA P ¥ QT U e nfa g
werdl ® @fE Tt vfa 10 fedi/da s @
e A IR w0 FE F 1 AR H W
&0 T | e G I i [ 10 Faly
R R 9, R W mEA o
A 45 o2 1 G 3 F0 A | 3|
Tl & 9 w1 g e 2 2

(a) 540 km {b) 420 km

(c) 600 km (d) 620 km

If a man walks at the rate of 3 km/
hour, he misses a train by 7 min-
utes. However if he walks at the rate
of 6 kmfhour, he reaches the sta-
tion 5 minutes before the arrival of
the train. The distance covered by
him to reach the station is

4% % =ffm 5 T ufa da =t ofa @
<o &, @ SuR e 7 e v we I
¥ ofx 7 6 fHm. wfa = =t afq | woa
%, 9 55 M | R T ¥ 5 e T
e T 99 31 VIR WA @ g 3w

el g T F?
(@) 7 km (b) 6.25 kkm
{¢) & km (d) 4 km

A students goes te school at the rate

of 2 }é Km/hr and reaches 6 minutes late. If
he travels at the speed of 3 Km/hr he is 18 min-
utes early, What is the distance to the school?
e faeneff 21 o da 9 R 3 R wm
2 v ¢ fire faca ¥ T W 4 TR W3
el a s F TR A I @ 0fER
e R TS o ¥ w9 gh e &

f) 3V, Km/ el (b} 4 Km/ forch
() 3%Kmf (d) 1 km/ feit




21.A man walkS a certain 1n ET ia’l‘n‘rg?n '@Q‘]q} L[ m ‘é’ al 4 h
dlstance A H UH ours
2 4 =
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certain time, if he
' had
f:;ezoulr f]':tster, he wgfllilg :liakxfg TN UF TR T AW
our less 9 .
}s{cheduled time, If he h;}éan the e 21 Hiel W wﬁﬂﬁﬁl6 & gﬁl T (b) 4 hours 30 minu
m per hour slower gone 2 % ey I IR T {c} 4 hours ! tes
bee , e would h F W T 45 minutes
Thencl?ne hour longer on the ave fuF gt 7 ?ﬂiﬂ TSR ¥ 60 T (d) 5 hours
The stance lin fm) ix road 4 % 30 ﬁﬁwm%lﬁ'@yﬁ% 230, 1y oo Mirsesilencus
WA . Two trad
oz a7 3 et L] 5!3_55 {ﬂ qF gaa ¥ (a) 444 (b) 496 one rrfmns started at the same tim.
3_@ G REE | 31?“ T‘ﬁ 226.Two trains (c) 333 {d} 540 to A om A to B and the other fi s
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f ound th ) eet, it i temfeal
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; m a .
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S S T #1 0w o Yo ¥ g e (0) 4 : 3 " ) 3: 2
? AT 10 HHS A G il R s 70 v 7 2l 231, Ravi o ds5:4
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frat 3t 130 WA o T = 2 A = F urg H Th T 37 from“a place A t simultaneously
= =fH 3 s ! owards B, &
{a) 330 km i R 7 T {a) 140 km/fFH  (b) 350 aparf. Ravi's speed is 4 km 0 km
{©) 3.3 km (b) 33 km {c) 210 km/fesi km/fE than that of Ajay, aft /hr less
‘ () 0.33 km 2971 walk & eortain G kmffet b Als tums back y: after reaching B,
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AT BR AN E {amwﬂﬂﬁﬁ?ﬁ 228.A man walk a wid] 20 minutes 232.A man travelled a c{l'] 6 km/hr
(a) 99 T e e & ereen distance and in 9 hours istance of 61 km
0 km (b} 1200 he zin'4 hours 30 minut of 4 , partly on foot at the
{c} 1320 km km d ride both w es. km/hr and the rate
224. Two trains (d} 1440 km The e required b ays in 3 hours. the rate of 9 k partly on bicycle at
B and travﬁfa:: “frogn stations A and botly Ways is y the man to walk travelled on foo?’j hr. The distance
ards each @% was
speeds of 50 km other at uF frefan 50t 7 TF R 6
respectively. At fl'llle i?:le(’ofkmph - awmmmﬁ%\;ﬂ:’waﬁ “ﬁqa'@aaigm@ o e 4 Fed,
:I::‘?l:lll:gjg(;l;{; second tra(in ”:1%; 51. o W o7 7?1 ofk 9% A m“; e;fow & 7R T mq; R 3 9 fvlysia
Th more than th 7, W o gard ’ Eol N ¢ 3HF g RE
I e dlstan:‘ie bEtWeen A and eBr;:Ea. i A El?lr’-’rﬁ;;: = ﬁg 39 FH T :TT =0 wd afy I/ |{@ 9 W ;Im B
et W farriia A, T B, EwR S framail # e a) 12 km )
RSN S =2 T
60 fersli/=oar / ours 30 minutes 233. Ravi travels 300
I foen @ T 9% a;@ﬁ & :b}’ 4 hours 45 minutes and partly by k‘:} partly by train
i fa areft o At 1, [c oure to reach car. He takes 4 hours
d) 6 hour: reach. If he travel
e T ) M%‘N fil 3 g 229.A man s 6 ho train and rest by wvels 60 km. by
F a2 "" AR BF 4 walking a distan urs 15 minutes in minutes more if he wer i take
(a) 1200 m Ea to the starting 1ce and riding back 100 km by train and rest be to travel
() 1320 km™ - ! both wags in 7 hours 45 mir walk :;e"’d N T rain and rest by car The
2 Lo A 9 The ti 5 mi ’

25. B‘I\.vo trains start fr{or]n sgtg.tkm wae :upe taken by him to ric;:"-l‘::tsl'; : 300 fFsit. {‘ﬂ F A TR AT
s a“f} travel Towards. cach other at Wymﬁﬁ’ . SAE: TR G T F B A TE 60
mpife of 16 miles/hour ander oy e ¥ fafra i 1 dm imﬁﬂﬂlmiﬂ 60 ol
miles/hour respectively. At the i FUN [ TAR I A m'ﬁﬁ””m R F 4 W W T T T
has ‘rave?lle?tégg:’ni}?; second train AR %7 69 15 e F T ?vmma; . #t @mxﬂjm # afx 100
frat. The distauice between A and T T A e o 30 P et 1 2t e g

in miles) is : and 45 frre 71 e o 31 2R o R wR | R Tt
TR & T T | g |
T ) (a) 50 km/hr b 6
(¢} 100 km/h 0 lkm/hr
r fd] 120 km/hr

w
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234. A man travelled a distance of 80 kam
in 7 hrs partly on foot at the rate of
8 km per hour and partly on bicycle
at 16 km per hour. The distance
travelled on the foot is

wmaEm i st 7R A ™
w1 5 G i FB A Iea we
8 fosft/si %) 7w QA 7 9w g0 wEhE
A 16 fFtliy=a it 7l ¥ 9 ™ Fa@
2 | w i =R A fRadi g A W 2
{a) 32km {b) 44km
{c} 36km {d) 44km

235.A farmar travelled a distance of 61
km in 9 hours. He travelled partly on
foot at the rate 4 kmn/hour and partly

on bicycle at the rate 9 lom/hour. The
distance travelled on foot is

& fFm A 61 Tt R gt oS F w3 F)

7€ 5 A 4 FEdEa 3w W IKw v i

5B 9 fefda &t T 4 wEfsa A wm

304 Yga Frarl @ A # 7

(a) 16 kin {b) 17 km

{c) 14 km d 15 km

Race

236.A and B run a kilometre and A wins
by 25 sec. A and C run a ldlomeire
and A wins by 275m. When B and
C run the same distance, B wins by
30 sec. The time taken by A to run
a ldlometre is
1fFft Siim g A BRI 258RE A 70
a1 B W WA A CH 275
ex @ ¥ 3w @ T vt WA B, C W 30
vz 3 70 A ) AgR 1 Rl Ree
o g fiwg smm?
(@ 2 min 25 sec (b} 2 min 50 sec
() 3 min 20 sec (d} 3 min 30 sec
In a one-kilometre race A, B and C
are the three participants. A can
give B a start of 50 m. andCastart
of 69 m. THe start, whecih B c%n
allow C is

1 el 3t o S F A, B 507 mg

C ) 69 7. N =7Fd 3 THEA 2 11&3&
WYEB, caﬁﬁm’tm

237,

(a 17 m
(c) 19 m

238.In a kilometre racc, s B by 30
seconds andg q'C by 15

180 metres,
b A to run 1
kilometre 3

1 Ferit.  SNT A, Bﬁsoaﬁv:sPﬁam
B,C#®i 15 ﬁmm%mﬁ;&.
C#H 180 TR A T 2 W AgM 1 el
e ¥ fora 9W I T R7

{a) 250 seconds (b) 205 seconds
(c} 200 seconds (d)} 210 seconds

Q.\ !-7”5

239.A and B run a 5 km race on a round
course of 400 m. If their speed are in
the ratio 5 : 4, the number of times,
the winner passes the other is

ATl B, 5 fedl. %) ©F 95 400 W

™ gUER KA ¥ g 1F I 6 9.

ITH TR IR S 4 ¥ A frsk

el i TRt wwt ar wim?

(a1 (b)) 2 {c} 3 d 5
240.In a race of 1000 m, A can beat B by

100m. In a race of 400 m, B beats C

by 40m. In a race of 500m. A wil
beat C by

1000 WX &1 4% § A, BH 100 9R ¥
W &AM 400 TR B A5 A B, c A
40 HR ¥ T wFEA 1 500 Her 7 Sy F
A, C &t fFm i @ Toam?
{a) 95 m {b) S50 m
c) 45 m {d) 60 m

241.1In a race of BOO metres, A can beat
B by 40 metres. In a race of 500
metres, B can beat C by 5 metres.

In a race of 200 metres, A will
beat C by

800 izt #t A5 # A, B I 40 HrH g0
T ¥ 7 500 R A A WS T
Hex | v T 2 2001ﬂ21¢'iﬁ3"ﬁ,4

C = fre e @ wem?
{a) 11.9 metre [b} kY fhmetre
{c) 12.7 metre (d) l%ﬁietre

242.In a race of 200 mdﬂ;e_g_, ® can give
a start of 10 metf# to A and C can
give a stagy of .2Q metres to B. The
start that Q’banﬁg}ue to A, in the
same race, 1@%

zooﬁlztaﬁ WB,A® 10 W a0 C,
& e £ g A,
m%m%?

[a] @ metres
@, (c) 29 metres

{b) 25 metres
{d) 27 metres

21@ In a race of one kilometre. A gives B

@ start of 100 metres and still wins

by 20 seconds. But if A gives B a

,‘ start of 25 seconds, 3 wins by 50
meters, The time taken by A to run
one kilometre is
1 el #t g A A, B F 100 W S
74 4 ¢ aun T st 20 SRz | g W
21 3% A, BF 25 9% F TEAE L @
B, 50 Wer & < wmt 2, agw 1 fed 9
ot feadt 3 o 72 wrft?

00
ia) 17 seconds b)) 5o seconds

700
—— seconds

0
seconds (d} 59

120
© =g

244, A can give 40 metres start to B and

70 metres to C in a race of one
kilometre how many metres start can
B give to C in a race of one kilometre?

Wizard of Maths - Rakesh Yadav Sir

1 ft. =t Bz H A, B W 40 R 3w C
R 7oA T @ aFa s s WA B,
C %I foradt 9ga 2 wFa &2

00
{a) 30 metre {b) =5~ metre

1
() 311 metre  (d) 32 metre

245.1In a 100m race, Kamal defeats Bimal
by 5 seconds. If the speed of Kamat
is 18 kmph, then the speed of
Bimal is
100 TR F 92 § Fa fga 1 5480
Az 2 AR =t iy 18 fedl. 9fa
o7 ¢ a farasnt 3w

(a} 15.4 P b) 14.5 kmph
{c) 14. )Bq h% *#d] 14 kmph

*’km %

246.A, B, C ﬁﬁ in & minutes 8
minutes 10 minutes respec-
tivelys, C st s walking from a point,
at ;8 certain time, B starts from the
spmétpoint 1 minutes later and A

:";_Ly .starts from the same point 2 min-

yte!’ later then C. then A meets B
and C after.

;};“ " A BT C, 1 fFR g wA: S, 8
010 TR ¥ w1 § ¢ e e w@

2N BT TE e 9K 9 A, C ¥ 2 fime
AR A A B Rl A, B C R el
¥ 9, firer #1

5
(a) 3 min, 2 min (b) 1 min, 2 min

4
(c) 2 min,3 min (d) 3 min, 3 min

247. A man travlled a distance of 72
km in 12 hours. He travlled
partly on foot at 5 km /hour and
partly on bicycle at 10 km/hour.
The distance travelled on foot is
% =fk 3 72 fed. @ # A 12
w2 F w39 iy a5 e, ufa
o F T ¥ Yew @R i A 10
fereit, uf sar +1 7fe & WEfea v+
T fred 3 R A w8
{a) 50 km (b} 48 km
() 52km (d) 46 km

(838C CPO 20-03-2016, Morning)

248. A train 150 meters long takes
20 seconds to cross a platform
450 meters long. The speed of
the train in, km per hour is:

150 @, == Tt $t 450
Hi A% TewE ¥ TWE ¥ 20 IS
* A9 S 21 st o fy e
.ot wfa =a 272
(a) 100 (b) 106
(c) 108 (d) 104

{S8C CPO 20-03-2016, Evening)




249.A car completed a journey of 252.Two trains each haivng a 255.Rastogi and Gupta can fix an

1
400 km in 12Ehrs. The first

3/4 of the journey was done
at 30km/hr.Calculate the
speed for the rest of the jour-
ney.

TF #1400 5. FT 960 12%

w2 § qit 3 v 3/4 A= 30 f
v w2 | = ) ¥ A % fau wR
*t nfa &t worn FHw?
(a) 45 km/hr (b} 40 km/hr
(c} 25 km/hr {(d) 30 km/hr
(88C CPO 20-03-2016, Evening)
Points A and B are 100 km apart
on a highway. One car starts
from A and anocther from B at the
same time. If the cars travel in
the same direction,they meet in
5 hours. If the cars travel to-
wards each other, they meet in 1
hour. What is the speed of the
faster car?
A ¥R B fag womnt w 100 R ¢
w ¥ T FR A G ol gh wR s
73 B R T YF FE 21 AR IR
R oo ¥ Rt £ @ 5 W A fw
wmr ¥ aft wR oF-gw ow R A
werdht €, @ 1 w2 | e §) & nfa B
FR H a ¥ L?
{a) 70 km/hr. (b) 60 km/hr.
{c) 80 km/hr. (d) 40 km/hr.
{88C CPO 20-03-2016, Morning)
Shalendra riding a bicycle at
20km/hr can reach his offig
in 3 hours. If he is late by¥

250.

251.

hour at the start, then in or% }
der to reach his destingtion ¥

in time he should ride gf the

(&) 20 km/ f20 et/
(b) 25 km/h/25 fait/=2
{c) 30 km/h/30 fesft/=2
(d) 35 km/h/35 fai/=2

length of 160 meters moving
in opposite direction crossed
each other in 9 seconds. If one
train crossed a 200-metre-
long platform in 27 seconds,
then the ratio of their speeds
is:

fawdfa fewn o st [ eenfem f
R v w ol 160 . §, 4 1F-gW
F 0 BT A W T T A AR
@EY, 200 Wi o wiew w27
YT § TR F@ 2, @ T W@ H

A F B
(a)3:4 b)3:5
fc)5:8 d2:3

(88C CPO{Re} 04-06-2016,Morning}

AC in 3 hours working
together at their respective
constant rates. If Rastogi
doubles his speed, then both
can fix the AC in 2 hours
working together at their
respective rates, How long
does it take Rastogi to fix the
AC alone?

vttt o e ot fer W R WY
FM F@ gL 3 %A 4 T TH W
T E af T e A
3 4 2 fireltet qﬁt T | FM FW
W 2 #% ft%ﬁi Tt o w2
it = T8 wF il A fem
Ty Fm

(34,3 “hrs
{c) 6#hrs

(b) 2 hrs
(d)1/2 hrs

253.A man driving at 2/3rd of his *%|88C EPO(Re) 07-06:2016, Morning)

oringinal speed reaches his
destination 30 minutes later,

than the usual time. Therk tl]e%“

usual time is: -‘m‘,al,;;i
UF =f 31 qe = #1 2/ SW
¥ T W A9 A P qE g
%I e o 30 fire 3} ik
A = e e %7";‘% "
()45 Minutegsf¥®
(b) 90 Minutes/fire

(c) 60 Mmmgs/ﬁq?

@ 120/ Mirutes/fre
G BRO(Re) ©5-06-2016, Evening)
A ‘égrcles at the speed of

Ar and reaches office at
11 &m and when he cycles at

whe speed of 12 km/hr he

eaches office at 9 am. At
Jvhat speed should he cycle so
that he reaches his office at
10 am?
w g 8 et i =@ @t nfa #
YEfHe weeR qaret 11 91 | vgam
2 9= 97 wafEa @ 12 fedaa 4 9
T P WESA € A waRT 9%
wEfea #t fFa 1fa 9 90 afs =7
10 7t g9 w?
{a) 9.6 km/hr /5wl 9fa s
(b) 10 km/hr/ f&dft wfa s
{¢) 11.2 km/hr/fFR v ==
(d) cannot be determined/
fauffm =7 frn w1 o= 2
(SSC CPO[Re) 06-06-2016, Evening)
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“The diameter of a cycle wheel
%,is 140 cm. The cylist takes 30
' hours to reach his destination

at the speed of 22 kmph. How

many revolutions will the
cycle wheel make during his
journey {assume 7 =22/7

T WEfEd % e & =M 140 9

2| UEhFE ToE H ST TS T 22

ferdt ofq = *1 g g § 30 W

o 81 URfEA @ ufg H IS AT

% N fF wEst R e (T

#ifae ¢ = 22/7)

(a}1 lakh/=w@ (b} 2 lakh/wr@

{c) 3 lakh/wm&

(d) 1'/2 lakh/s/@

{S88C CPO({Re) 07-06-2016, Evening}
257.Four people are runing

around a circular ground from
a point on the circumference
at 9 : 00 am. For one round,
these four persons tnke re-
spectively 40, 50, 60 and 30
minutes, At what time will
they meet together again?

TqFE 9 : 00 T IR AEH TH TIHR
Tm # T ofify w ©F fig A <=
@ ¥ w 93 o & fog, 4 WR
aRt FA: 40, S0, 60, R 30
e &1 goa °R ¥ ¥ FY A T

T A fr freh?
(a}4:30PM (b})7:00FPM
(c)6:00PM (d)S5:30PM

(SSC CPO{Re} 08-06-2016, Morning)
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B o S e

R

B o B B

B R A

. Distance
B) Time = ==
B Time = =3 eed
4
. Time (W)= 5 = —=hrs
: e - " 225 r

4
Time (sec.) = 255 % 3600 = 64 sec

(d} Distance {§)= Constant

So, Speed o Time

Ratio of time (B9 I 3 IR} = 5 : g
- Ratio of time = 3 : 1
Ratio of speed = 1 : 3
1 unit - 240 km/hr
3 units » 240 x 3 = 720 km/hr
So, i.e. Required speed = 720 km/hr

{c) Speed = 30 km/hr = 30>< 5 mfsec

25
=3 m/sec

D 100
s T 25/37
{c} Time taken at 5 km/hr (5 &,

So, Time = = 12 sec.

wia e i | faw = =
=4 hrs,

2
Actual time {Frafas To9)= [4 - 5)

_ 10
=3 hrs. 4
Time taken at 8 km/hr(8 fF

q%aﬁnﬁiﬁﬁmnmw);%)

1k
. %g i 5
Time diffe nc{% 3 - EhrsA

= 50 min, Zikgd time

{d) 15% % hrs

1 hrs 5 kms.

—l'hr-ékm
4 8= 3 s.

8o, length of bridge (3/: T #1 =)

3
= ka& = 1250 mt.

R A . A 0 A

e B o A e

0 B A 7 5

e R e

Alternate:

5x1000

V = Skm/hr = —c=

m/min.

230
- 5 m/ min

250
1= x15= 1250 mtr.

D 250 250 18

B~ T~ Fgmise = Toxs

= 12 km/hr

QL =L, =1

90 x 1000

S = 90 km/hr = &0

mt. f

= 1500 mt/min

= I“Lt=Lp=750m'

(d) Distance travelled in 14
Fvs H a9 #t iﬁ) = 50 +1
Distance trave]le 10 sec.( 10

W‘éﬁﬁﬂﬂﬁﬂi (;‘_
So, Speed oftf%lm?ls?l 3 7R

=45 km/hr

200
= 24 m/sec

30 km/hr

18
10m/sec = 10x % km/hr

(d} Speed = 5

=36 km/hr

o
&) Speed = —= m/sec = 6"—lcm,~‘hr

=216 km;‘h.r

. (c) Distance covered in 100 sec.

(100 8%S 4 97 & W ) = 800+ {
Distance covered in 60 sec.(60 T%T
qw = w gl = 400+ ¢

8o, Distance covered in 40 sec (¥9:
40 s ¥ 7 FI W )

= (800+)) - (400+]) = 400 mtr.

400
Speed — a0 m/sec. = 10 m/s

O A

i3.

e T

‘[c]T=

A B e 0 B A ///7//1’/////

HRIDODODNDTY

\\\\

B B A A |

Distance covered in 60 sec (60 T ¥
7 Wt W )

= 10=60 = 600 meter

So, 400 + I = 600

= [ = 200 meter

{b) Speed - %:= %m{sec‘
Ap, ;& “{.
= 12 &%kmfhr

;;..15 kimrhr
L]

10

P 120
14; (a}fpeed = —— m/sec.= 12 m/sec

D 75x18 27

S ° 20x§ T 2 %%
= 13.5 sec.
16. {b)Distance travelled in 8 sec (8 ¥&z
¥ ™ H W )= !
Distance travelled in 20 sec (20 ¥%3
w8 )= 1+ 264
[+264 -1 264
T T20-8 W= o
= 22 m/sec.
Distance travelled in 8 sec(8 9%g ¥
T ) = 1= 8x22 =176 mt
17, (d) Actual Reduced
Ratio of speed = 15 : 14
Ratio of time = 14 : 15
14> 28 hrs
15 - 30 hrs

18,
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S0, in 2 hrs it travels 10 ks (34:
2% ¥ 7% 10 feft @ 7 =i

10
Speed = 5 = S km/hr

(d) Speed of the train is (& # W)
= 180 km/hr

1 km/hr - —
. /hr = 78

because, 1 km = 1000 metres
1 hrs = 60 x 60 second

1000 5

60x60 — 18 /s

5
. Speed in m/s = 180 x 8
=50 m/s

37 ]



19.

(c) Let the length of the train (%1 &
T F L) = ! metre

and the length of the plateform !
(9iR e F1 An) = 162 metres
another plateform's length I, IR
wewH Fl wER) = 120 metres
{when a train crosses a plateform
i.e. it coveres the equal distance of
length of train + length of plateform)

(VA O 1 0 FH 9 M T &t ww
ST T T EETH H T ® S
v
ATQ
RO 1+162
speed = time, = o ed = 18 second
1+162 .
= T8 = speed N (1]
Again,
I+, .
speed ~ UMe,
1+120
= 3 i 15 second
14120 ..
15 - speed ..{ii)
{i} = (i) because speed of the same
train i ol 1+162  1+120
rain is equ 18 15
t+162  1+120
= 6 s

= 51+ 810 = &I+ 720
= 6l -51= 810 - 720
= 1= 90 metres

So the length of the train is 90
metres. (%d: 3 TR 90 W= B)

Alternate:-

20.

11 t _12 t,

Length of the train = 7
1 2

162x15-120x18
18-15
3{162x5-120x6)
- 3 = *%/’;
(d} -+ Speed of the running train is
(2 %t 1fa) = 90 krg/hr &m

We know that

Length of the train’1 (@;ﬁ, vt
= 120 metres x '

sip through the
ual distance of
+ length of train

R T & @ 9%
& TR @ TwwEH )
e will be taken by the

Lengthof train + Length of plateform

Speed
{120+ 230) metre  350x18
90 km/h 90 x5

= 14 second

. §€‘“

21.

22,

{d)The length of pole is considered
as negligible ie =0
i.e. When A train crosses a pole, it
covers the distance of the length of
itgelf.

the time is taken by the train =
30 seconds

and speed = 60 km/h
then the length of the train =
kmh * 30 seconds

60

3
= 60 x 18 x 30 metres

5
= 10 = 3 % 30 = 500 metres

@ North

48 kin/h

90°
|

.I/ Eas
starting point-——3* 36 km/h ‘X‘

Distance, covered by car in 1%
seconds with the speed of 48
towards the north (I® figm ﬁ
o ufa s # A @ 15 ¥

= ) §
- 43x—x15 - 2&;‘& 200 m
Distance, covm%ﬁr car is 15

second with d 36 km/h to-
fem ¥ 36 fE

= 150 m

by trlplets

3,
Fs s s

15 20 25
250

150 m

After 15 seconds the distance between
both the conditions of car is (15 YT &
TR TR & A el B 99 F 5= 250m

23.

{d) Total distance covered by the train
in 30 seconds with the speed of 30 m/
sis (307 ¥fa ST % " G309z A

HFAgm TR HIW) = 30 x 30 m/s
= 900 metres

Total distance = train’s distance +
plateform’s distance

900 = train’s distance + 600 (when
train crosses through plateform it
covers equally distance of length of
train + length of plateform)

Q&;‘%

Alternate:-

. _ distance
Time = ___speed sec
plateform + train length
= speed
600 + train
30 = 30
train’s length = 900 — 600 = 300 metres
. Distance
24. {a} Speed of the train’s = Hme
120
slre -!,320/%3 = 72 km/h
25. o) A: B length
Ratic oBA and—*5 : 3 {5x :3x)
B gth
XR&UO of Aand—>6 ; 5 (6y:5y)
%y H B’s speed
i %a We know that,
hen a train crosses a pole, i.e. it

}
covers the distance equal to its

length. (99 TF 27 fft =9 ) v =t &

A o S TR ® TR 30 T T )
Time, taken by train A to cross the pole
_ Totaldistance  5x
Speed 6y
Time, taken by train B to cross the pole
Total distance  3x
= Speed Sy
A:B

Ratio of the their time (37 THT &
37U}

5% 3x

=6y ' 5y° 2518
Alternate:-

Ratio oflength 5 _: 3

Ratioofspeed 6 ;: 5

26.
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Ratio of time to cross a pole (B9 &
IR FE § 70 T H AE)= 525 : 6

x3=25:18
(b}

60 m _
= 15 sec —
15 sec )
man 30 sec

i.e. train crosses plateform in (4 ‘F\E‘ﬂﬁ
® IR FW) (30 - 15) = 15 second
60

speed of train (37 H1 WA= s
=4 mfs

speed of train(29 1 g = 4

W —

5 km/h = 14.4 km/h




27,

28,

29,

30.

31.

32.

=1

T 2 _ 300+ 200
{c) Time s —_”25

b) Speed = 78 km/hr

- 78,1000 m/min
60

= 20 sec.

= 1300 m/min

Distance travelled in 1 min.

(1 e o = =t gy

= 1300 mtr.

= 1300 = ! + 800

= [ = 500 mt. = length of tunnel

(b) Speed = 132 km/hr = 132x% m/

_ 1o
sec = m/sec
T - D _ 110+165 _ 3(275)
s 110 110
3
= 7.5 sec.

fo) Speed = 144 km/hr = 144x% m/sec

= 40m/sec
D_100  _5 .
T S 40 S€¢ 2 .5 sec

120 18
= —g—x?km;'hr = 48 km/hr

(c) -~ Truck covers in a minute (TH
fire % ™ 30 @ # ® @)= 550
metres Then the speed of the truck
will be {1 TF F )

550 & Metres {
60 - Second

(1 minute = 60 second) ' '
N 3
550 55
= %0 = 5 m/s g“m% .... (i)

f .

Whereas, Bus covips minutes
(% 45 e § g4y =t 7 30
= 33 kms. { Rted of the bus
will (T8 g 33 kuns
~ 45 minutes
33x
= 45=x

1 lom = 1000 metres
1 min = 60 second

110
= gm,-‘s

Se, the Ratio of their speed will be
(37@: 31 nfa T s o)

55 110
- 9
1 2
=—: 7 =3:4
2°3
{Truck : Bus)
Alternate:-
Distance
.o «Speed =
. {pee Time }

- ) _ 530
Ratio (Truck : Bus) = 50 m/js
. 33x1000 -3:4

45x60 7

33.

{d)A pole has negligible length
regarding a length of train (W% &1
# gmw A TF vim &
w1 $ie. = 0 when a traj
crosses a pole ie.
tance of itself{ 7@ T 37 fret 991 |
FE & A T T oA @ 9

264 metres M

'rpole ' bgidge
B85—n : d

—a20 s
i.e. train crossed onldkbridge in (37

™ & W _ %ﬁzwﬂd
then the g0t ain(d@ &1 Wt D)
i

22 = *5— = 79.2 kin/h

{'.‘lmfs-—l-g—kmfh

. (a) - Pole, man post office box, tree

have neglible length (®'91, q%W,
IR, g9 F T T g 3)

21 -9 =12 second

v . 84 metre
m%n Plateform
M—gecH

—-21 second———M

i.e. train crosses only bridge in
= 12 seconds then the speed of train

_ 84 metres {Spe ed = Dis.tance}
12 second Time

L 18128

= 7mfs = 5 5

= 25,2 km/h

it covers the dis-¥

35.

{a) Boy runs a distance of 20 km in
2.5 hrs. (2.5 92 & wgd 20 far Aza
¥) speed of boy (g% HI W)

. 2(5) kms. {Tirne _ Dlstance}
= hrs Speed
= & km/hr

If the speed is doubled the new
speed will be (9% 7fa TR F F i
& =t ey

=8x2 =16 km/hr

then the time will be taken by the
boy to run = 32 kms ( 32 R EiER

)
hrs.
. Distance
Time = —
{ Speed }

ﬂm;.et the speed of the train(AF1 %l

1 i)
= xm/s and length = {m
According to the gquestion,
Time, taken by train to cross the

plateform (FREMH H W A H 3
form T T

= 17 second
i.e

I+122 = 17 speed

i= 17 speed - 122 eaafi)

= Time, taken by train to cross the
bridge(3@ = T FH § 7 g fam @
1)

= 25 second

1+210 _ 25

speed

I+ 210 = 25 speed

[ = 25 speed - 210 i1}
-+ length of the train is same

o ({) oe (i)

17 speed —~ 122 = 25 speed - 210

8 speed = 210 - 122

8 speed = 88
88
speed = 8 - 11 m/s
18 198
speed = 11 x5 =5 " 39.6 km/h

Alternate: Difference of the length of the
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objects which is crossed by train
and the result is divided by differ-
ence of time.(@% B WR & I el
Tl F) v F R T S SR
fear = )

Speed of train (27 F )

(210-122)

= ‘_(25___17) = 11 m{s

18
= 11*-5— = 39.6 kim/h




37. o)

25 - 10 = 15 seconds

Man
10 sec

25 sec.

2

= x metre/second

= and length = ! metre

= According to the question,

= Length of the train(¥¥ it TaE) I =
(x = 30} metre - (i)

In the respect of bridge

If train crosses the plateform i.e. it 1+110
covers the distance equal the length x = 40 second
of train and plateform(3f% 37 wwH
i TR T & A 9% R o 3 o aw [Distance _ ﬁm} 30x+110
Hewr F A B TR g T F= ) speed = x
= In the question train crosses the =40 = 30x + 110 = 40x
man who stands on the plateform = Hx= 110
in 10 seconds and crosses the man -1
+ plateform in 25 seconds j.e. train = x=1lm/s
crosses the plateform which length = speed = 11 m/s
is 300 metres in 25 -~ 10 = 15 = then length = (30 x x} metres
second, here train’s length is not 30 x 11 = 330 metres
added.(¥8 ¥4 5 37 wRwT WA wfiw ic) Let the speed of train(@F % 31 #t
10 903 § W wh ¥ ol =fam o ) = xmys
R W 25 9% § e ) § v = Length of train (29 azﬂﬁ
waEd ¥ fF 3 300 MR v wewnt H = I metres
25-10= 15937 ¥ Wt 3, @ 1162
Ft T T WS T 2 ATQ = = 18
So speed of the train(¥d: & 1 7
300 Distance - time
=15 = 20 m/sec speed
= length of the train(@¥ H ) = 10 = 1+162 = 18x %
20 = 200 metres(In train crosses = length = 18:{;’:- 1&
the only man in 10 seconds) Again, ,,& 'ﬂ%
= Time, taken by the train to cross a
platform 200 metre long (200 HiR &=
WewrH F1 TR FH | § T fam v 9=
length of train + plateform N lmg;t'h = 15x - 120 ... (i)
speed "‘ =L length of the train is equal @ %1
(200+200) 400 WW%
20 20 @ = G
Time, taken by train(31 % g% W = 18x- 162 = 15x - 120
WY = 20 seconds. £ = 3x =42
38. (d) =>x= 14 m/s
= Speed of train($T F1 ) = 14 m/s
= 50.4 km/h.
Alternate:-
Speed of train
Difference of
plateform length
~ Difference of time taken
to cross the plateform
=
162-120
= Lengthofthetrmn@qﬂﬂm = 30 x = T18-15
11 = 330 metres ( If train crosses a = Speed = 14 m/s. = 50.4 km/h
man, it crosses itself) 40. (a) Shortcut:-
Alternate:- Speed of the train, when it crosses
= Let the speed of the train (FF1 fF 37 two bridges (37 3 7fa 59 7% @ et =t
it ey R Fl )

=3
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Diff. of the length
of plateform

Diff. of time taken
to cress plateform

= Speed =

60

(300 - 240) metres
= == 20mys

(21-18) sec.

20m/s speed change into km/hr

18
= 20= - 72 lansh

Alternate.

Let th&s %tram F e 3
MY xm/

Lengtm?ﬁmn@q FI HEE) = [ metres

= Acchd}mg to the question,

:?

j-&? " First situation

e,

length = 21x - 300 .. {i}
Again,
1+240 1
" =13
length = 18x - 240 .. (i)

: length is equal
= Therefore
) = (ii)
= 21x - 300 = 18x - 240
= 3x =60
= x=20m/s
= Speed in kmph (1fd f&5. wfa 9= 4)

18
-20x?=72k‘mph

{b) Given:

Speed of Running train (9o ¢ A
=+t f)

= 60 km/hr

Length of Running train (V@ ¥ 3
Fl HaE)= 110 metres

Length of standing train(¥® FT 33
#t 7 = 170 metres

Speed of the standing train(e® U
1 F M) = 0 km/hr

Time taken by Running train to

cross the standing train{@@ft g ¥
B R 3 W IR FE A e owm

(L10+170) metres
60 km/hr

280x18
60 x5

16.8 seconds

= time =

= time =




42, (b) We know when a train crosses a
pole/man tree in this case it crosses

itself. (¥9 A ® fF 7@ ©F F fmft g%
) 7 fefl =fea i Or wl # o 9% s
wiar & U g 44 T §)

= Therefore,

= Length of the train@®@ & =am)
= Bpeed x time

5
= Length = 36><— %25 metre
length of train (37 F &%)

= 250 metres.
43. (o) Given.
Ist : 2nd train
Ratic of speed of trains
(Fw T AEE) = 6 7
= Second train covers 364 kms in
4 hours then its speed({{:rﬁ AR R
¥ 364 fHRA. = gt 77 w2, A vue
364
e
= 1n the question it is gives that
speed of the second train(¥&1 H @
fom T # R g|d T F 0f = 7 Ratio
but actual speed = 91 km/hr.
ie. 7 ratic - 91
= 1 ratio - 13 km.
Therefore,
Speed of the first train is(S&e ¢ H T
= B6R = 6 « 13 = 78 km/hr

=81 km/hr

3
= 4x3— =

44. {b} Total distance 2

15 km

15

——x 60
16.5

= Time taken on cycle =

= 54.55 minutes

45. (¢} we can inferred that train crosses
only plateform not its length in:25°
-15 = 10 second

= Speed of the train @1 # "'Ffﬂ]m

o

100 metres
10 sec - 10m/s _
Train crosses the polé in 15 sec-
onds and we know when train
crosses a pole/tréé/man this case
it covers the equial distance of its

length[';"'l'ﬁﬁﬂ% 15#8%vE § TN o 2

s 30§ S e 3

wt & G, e v & AT g6

FEH

Therefore,

Length of train (37 ® #aE)=15%10
=150 metres.

700 + 500

46. 10

(d)Speed of train =
= 120ft/second

47.

48.

49

52.

53.

54.

5
[¢) lkm/hr = 18 m/s
5
=90 km/hr = 90 =~ 18 = 25m/s
5
(a) Required distance = 72x 18 x5
=100m
(c) Total time taken by train (3 =
1
3 fomn T ) = 105 hr
1
= Total distance 105 x40
= 420 km
10 60
(b} speed of train 7 FI i) = -
= 50 km/hr
= New speed = 50 - 5 = 45km/hr -
- 3 ed 3 - .—l_..o— 60 _
= Required time = 25 !
= 13 minutes 20 second
L “a
{b) speed of the man(Te9 F Ty = m
km/hr
= Required time
_ 200 b ih' i
"~ 1000 " @ Ba 0N
T8
(d) 1m/sec = ?km,fhr
am}__’f%pc— 3" 5 1 fhr
'(d) Length of the train(3¥ 1 &)
.. 90 "5" 10
18
= 250 metres
18
{b) 1 m/s = ?km,fh
18
= 10 m/s = ?110 = 36 km/hr

(b) speed of the train (27 F1 7f4)

-2 = 50 kmn/hr

T 24 /

New speed = 50 - 5 = 45 km/hr
L2004

Required time a5 ~ o r

= 26 min 40 sec

{c} In these type of question use the
given below formula to save your
valuable time, (39 ¥R & WA § 3@
TEed 99 F TOA & fog R @ fafy
1 T FY

57.

Sy T,
Sy T YT
where 3, §, and T,, T, are the re-
spective speeds and times of the
aobjects.

45
=T = 3 1 T 4

Sy 3 5

6
= 45 X3 = 54 km/hr

= Required speed = Sdkm/hr

{c) Total distance (FF TH) = 120 lom
= Tota.l tiﬂ]}di’i‘= 15 hours
th
= He covéts h%lf of the journey — 5
el -ﬂ
v 3 .
the time( T 24 =N gwwf’fiﬂ

58.

59.
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3
= 15>‘§ = 9 hours

' s Remaining distance (38 g = 120

- 60 = 60 lan.

= Remaining time(¥T 9% = 15- 9
= 6 hours

= Average speed to cover a distance

of 60 km will be (60 TRl Th =@ = W

: 60 km
ha Tl - & hour
{ _ distance}
speed= ——
~ time

= Avg, speed = 10 km/hr

{b) Train covers a certain distance
in 210 minutes at a speed of 60
kmph. (60 . wfq @2 % ofa @ 210
i@ fmfiasw®)
= Total distance,
210
60 210 kms.
Therefore, the time taken by the
train, to cover the same distance i.e.
210 kms at a speed of 80 kmph is
(3m@: 80 Tl ufa =2 =t nfa & 210 f+.

Hi. w1 5 7 FH ° 37 gr fodr T )
E NN B

= 30 time = ‘28 ours

(a) We know that,

covered by train

=60 »

5
1 km/hr = lgm,“s
1000 m

hr= -1
Lkm/hr = o < 60s

= %mfs

5
= Then, 30.6 km/hr = 306 x =

18 m/s

=17x5=85m/s




9
60. (c)man covers 55 of the journey by

9
Eaﬁmaqﬁaq

bus (=fF st @ =
F@ )

. = Remaining journey(¥Is =T)
o 1

20 20

= According to question,

=1 -

. 20
20 of the journey = ﬁxw

= 18.18 km.

61. (c) Distance covered by train at 36
kmph in 55 seconds is (55 B#vE ¥
36 f0l. wia 92+t 7l & 7 g T w
) = 36 kinph x 55 second
(distance = time x speed)

5
= 36 % Em,fs x 55 second

= 550 metre
= 550 metre =
= 550 metre =
+ length of bridge
= 550 metre = 200 m + length of
bridge
= length of bridge (T #¥ war¥)
= 350 metres.

Alternate:-

total distance
train’s length

L+l
speed

time =

200 +1,

=1, =350m
55= 36x 2
13

Length of bridge(38 # @E) = 350
metres.
62. (b) According to question
L+l
speed

Crossing time =

270+180 450
- =

5
36x =
18

= 45 second

63. (c) Let the length®

=t Tad) -
Let thg spe
) = Sy
= Ratw"qf their time ot cross a pole
(TF = W R FO ¥ I g R T
T AT)
4x  3x { . distance}
= — ! 5= Jtime = ——=—F
6y Sy speed

= Ratio of time(¥H F1 3T um) = 20: 18

=

66. (a) 1km/hr =

67. (b

64, (a) Cyclist : Jogger
Ratio of distance — 2 : 1
Ratio of time — 1 : 2

Ratio of their speed (Jogger
Cyclist)

12
-2.1ﬁ 1:4

65. (d)In the first situation,(Teel feufa

= Total distance covered by train(Zd

M 7wt W FA g = SOX4%

= 360 kms.
= Therefore,

The speed of the train to cover the
same distance 360 ki in 4 hours is

(4 H 360 fEr g T FA T T H
)

L}
g
£
-2

50.4 km/h

only platform
4 Fl"lot it self

i‘i

ﬁsﬁcbsrdlng to figure that has
shown here train crosses only
plateform (not itsetfy in 21 sec. (ﬁm
& e faa o swfan T &7 S wiewd
H (AF WA H= )21 WEve A W
% 7

= speed of the train (37 #1 7fq) =

390 meire
21 sec

We know that,

When train crosses only object that

has no distance (i.e. tree, lamp post,
man etc.) in that condition train

covers equal distances to itself. (¥H

W ? fF 99w 39 e @y d v
=fF Tl F IR ww & A a v wad
F W 7@ 7@ w )

= So the length of the train {3: ¥

FI HME) = mm,*sax?sec
= 130 metres

= 7

68.

=

69.

70,

71.
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%= Distance =

(c) According to the explation of
question (198}
length of the train = Speed x time
= 36 km/hr x 10 sec

5
= 36 X'l'gmfs x 10 sec

= 100 metres

Therefore,

Time taken by train to cross a
plateform of 55 metre long in time

(55 He T TR H T FH F H g
_ (100+55) _155

&y

i ®
Tim%:% i Sec.
{b) Total tance, covered by train
im 30 s¥. with, speed of 60 km /
r {60 fEf. ¥R W2 3 fa A 30 Feve
T TR E FA
60 kmph x 30 sec

5
60 = 1_8'111‘!'3*303&(:

S00 metres

=> Distance of train + length of
plateform = 500 m

= 200 + plateform = 500

= Length of plateform (FIewM #t warg)
= 500 - 200 = 300 metres

th

(b} g of journey = 1200 km
i 1200
total journey = 3 x
= 3000 kms.

Distance travelled by car (¥R F0 ™

H W ) = 3000 x %=1000metre

Therefore,

Remaining distance covered by train
is (3 gru 7@ = ™ W

= 3000 - (1200 + 1000)

= 800 metres Ans.

{a) Time will be taken by train if it
does not stop (&7 0 T 70w aft
T® T wEA B)

_ distance 999 kms
speed ~ 55.5 km/hr
without stop = 18 hr

= but if stops on the way for 1
hour 20 min before reaching at B.

(dfFT B~ A WA g T H 1 W2
20 fie Tt 4)

=> total time = 18 hr + 1 hour 20 min
= 19 hours 20 min

= Reaching time at B (B W W= %
W = 6 am + 19 hour 20 min.

= 1:20 am




72, (b Time taken by man if he did not
stop@s =fm 78 & €, A 36 T
o T wHE)

Skm 1 .
m = —2“h = 30 min
= --man takes rest for 5 minutes -
on each km {7&® frtdt. & ar =f@ S
fire s T 2)
= total rest time = 5 x 4 = 20 min
= total traveiling time (I % H& WE)
= 30 min + 20 min
= 50 min
73. (djAccording to question,
A : B C
2 1
3 1
A B C
Ratio of speed 6 3 1
. _ 1 1 1
Ratio of time 6 3 1

_ 1
l:.'mem speet;l

=1 : 2 : 6

lX1,f4

3
2

Time taken by A (A % §R & 1 999

1
= ] ratio = lxzhou.rs= 15 min

74. (a) According te question,
A : B C
2 1
3 1
A B c
Ratio of speed 6 3 1
Ratio of ti 5 1 2
atio of time 6 3
-
time speed
=1 2 6
Time taken A%EN fem ™ T
=1lr X ours = 15 min
75. (d)Total dystance = 310 kms

=]

1
— Distance travelled by truck in 1 5

hours with speed 90 km/hr(90 f&.

ﬂuﬁ'ﬂ%aﬁnﬁ[ﬂl%a‘z‘ﬂgﬁmm

76.

78.

ﬁnﬁgﬂ]ﬂ%hourxgomfh

= 135 km.
= Remaining distance = 310 - 135
= 175 km.
= Time will be taken to cover 175
km with speed 70 km/hr (70 f&H1.

T | forq T ) = €0 km/hr

4 2
= 3— hr = — i
3 3hours+3><60mm

= 3 hours + 40 min.

— Diff. of time = 4 hours ~ (3 hours
+ 40 min) = 20 min

{a) We know that,

1 km/hr = 794

m/s

5
So,45hn,f1'n'=45>< = m;‘s- 125 mfs
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81. (a) Distance covered in 1 min (1 fiFe

T EE= 50m
Distance covered in 2 min(2 fe &
TmF WM = 90m

Similary, Ist min lind lllrd min.....15% min

Distance —» 50m + 90m + 130m + ........
By using A.P,

ofe =2 # o @ 175 fEsh. 58 v O A a = 50m, d = {90 - 50) = 40 m
Y T Tn=a+in-1)d
= 50 + (15-1)x40
175 = 50 + 560
S0 = 25 hours =610 m
Tota] time = 2.5 + 1.5 = 4 hours. 82. (d) According the guestion,
{¢) Total distance = 60km/hrx1 hour = Usjn® thagoras theorem
= 60 km ( wAm FH R/)
Therefore, = O) + (LOP
= Time will be taken by another 2 )
car to travel the same distance with = M= (12F + S
40 km/hr (FA R 3 40 550, Wi = ML = 13 km
# i | ferar T TE)
60 _ 3.
Ta0 T2 ;
(c) Method.
X Distance
= Time = —_speed )
~10 = 50”30 ed = 1_59 83. (d} Given
spee — Speed of train(3 ® W) = 75 km/
= train’s speed = 15 m/s hr
{a) Here lengt, e is considered  _, pjstance that is to cover(30) = 1050
T 0 Tt §) km
i % taken by train to  —,  time taken by train to cover the dis-
w W FA d tance
N 300m (R A ¥ fos T Ga)
Yy 300
: F‘l'ﬂ}—'- 54x__ m/s = {5 1050 km . distance
15 - | Time = —~——
| 75 km/hr speed
quired time = 20 seconds
. {c) Total distance = Speed x Time time = 350
= 55 km/h *x 4 hours 25
= 220 kims time = 14 hours
— New speed after increasing (78 84. (c) We know that
% 9% T nfa= 555 = 60 kmph - lm;‘s=l—58—lcm,fh
= Time taken with new speed(741

5
= 90 km/h = QOIEm,Is

Speed = 25m/s
= time taken by train to pass a
post (& # TN FW § T W)
distance
speed
180 metres
25m/s

= time = 7.2 second

= time =

= time =




85.

86.

87.

88.

{b} We know, 1 km = 1000 metre
=2 km 5 metre = 2 km 5 metre

S
000

= 2 km + .005 km
= 2005 km

{a) Let the required time (¥ d)= x
second

According to the question,
Total distance

Speed

km

=2 km+
1

Time =

- Length of train +length of bridge
Speed of train

_ {120+ 360) metres
36x % metres

[ 1 km=% mts.]

_ 48 metres
" 10 metres
= Required time = 48 seconds
(c) Circumference of wheel (T¥u 1
afi)= 27

:>2xg72>t~722-220cm

Speed per hour (911}

220 %400 x 60
~ T1000x100 - 528 km/h

{a) Let the length of train B ! metres
(911 33 B %1 @ | i )

= While crossing a pole (@4 F W
M W T 90g)

= = x = 48 sec.

= 20 = Sreedof train

= speed of train (37 Fi @)

20
= Again while

min.

train cr

platform( 7@ ¥ wewm | wn i h

!+ Platform leng

= 45 =

= 45 =

= speed Y+ =000 ... (&)

eq

I+250

= 45
{1+250

=

= 9l = 4! + 1000

= 5t = 1000

= length = 200 mi.

89.

90.

(c) As we know

18
= lmj/s = 3 km/hr

18
= 5 x20 km/hr

= 72 km/h
a}Let the length of train be [
metre. (T %t 9 ¥l ang (e d)

According to the question

= 20 m/s

distance

time = speed

S00+1

= 100 = Geed of train

500 +1 .
100 eeaand (i)

= speed =
Again,
25041

= speed of Train :@&
250 +1
Equating {i) & (ii) ’6\%
=
= 1500+31 = ; 51

500+I 250 +1
=211 =

= lenglh of M% 125 m
1’

. el Spee}ﬂ;%y,l—-'‘i—.ﬂ_l—c‘E
k) €

speed =

: ‘g R
L B 250
,qfs% 0
HSpeed = =18 km/hr
5 {d) Circumference of circle(ga i aRfEn
=2nr
= Dx 2—72-)( 42
= 264 cm

93.

distance cover in 1 sec (U %%z H
T )= 264x5 = 1320 cm/s

(b) According to first situation total
distance covered by man (W% ¥YEAAR
= g Ha )

= speed % time

= 4 kim/hr x (2 hr + 45 min)

(&)
= 4 kmm/hr x 60

3 11
= 24— o 4x—
4"[ 4] 2

Tota) distance(Fd ) = 11 km

94,

A

= time will be taken by man with
speed of 16.5 km/hr to cover a dis-
tance of 11 km(=afe g/ 11 km T =
16.5 km/hr F1 9140 § 7@ 3 § =m
q74).

Distance
= time = Tp;cd_
] 11km
= tme < Je S km/h
= %Xz r;) hours = ‘g—)( 60 min

time = 40
(b) Total $top¥ will be taken by the
manfo°c distance of 90 km is

= 7 = $12 stops + 6 km

g
ﬁ Timé taken in 12 stops
12 *x 6 min.
72 min {1 hour 12 min}
Time taken by the man to cover

—M 90 km with 18 lan/hr without stops

96.

97.
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= 5 hours

= Total time to cover total distance
(%9 70 ™ T 5 ¥ ¥9G) = 5 hours
+ 1 hour 12 min = 6 hours 12 min,.
(¢} Let speed of Romita be x km (9F
Tt Ft T@)

ATQ:
4km/h x km/h
Anita Romita
R d=42km S
t=6h
d
4+= 2 [S=T]
4+ x=7
x =3 km/h
(e} Vrel,= Vtra.in - Vman

{as moving in same direction TF ¥
feon & w1 ¥t }
Vrel, =20~ 10 = 10 m/sec.

180

Time = vV, - 1o = 13 sec.

{c) M—330 km———» 8 am

A —iB

§ am—

60 km/hr

W 270 ——»

AM————— 3
9am— «—9am
60 km/hr 75 km/hr

270
604+ 75

So, time at which they meet (0 T

=7 fod) = 11:00 am

= 2 hrs




98. (b) Relative speed (AU 9T)= 5 + 5

Then the Required time {3: 302 T8m)

EM _ 200 metres
Speed 5
18 m/s
200

*18
3 second

i

720 d 2
secon 6o minutes

{* 1m= 60 second)}

= 12 mimites
Alternate: &

Required. timd

peed in same direction
200im/s
1{8 ?)x— m/s

Al

= '5"220 second

720

= E}_ minutes =

12 minutes

then, the crossing time of each °lh% ‘E}lﬂ (d} In this question it is given that

. D 1,41, 300
= 10 m/min. 106. T = 3 < S48, - 5
Total time taken to meet each other ! 100"‘15
1200
(foer o = 1 Ty — 300x18 54
* " 500 ::>T=? = 10.8 sec
= 120 minutes -
99. B}V, =63-3= 60 km/hr. 107. )
i 120
T - 500x18 scc. = 30 sec 851 = ‘Hm}sec, = 12m/sec.
60x5 ’
= Required time 120
100. {a) 832 = 15 mfsec = 8 m/sec.
1 km,fhar Thief Time taken to cross each other
Police! —10 1+l
200 mir.  km/hr otz 280
=V, " 30 - sec.
V= 11-10 = 1 km/hr e
Fet 108. (d) Total distance covered by both
~ 1x1000 _ trains (3 2 570 T 1 T 3H)
=T o  mt/min = 50m+75m
Distance between them after 6 min. and, Their relative speed in same
= 68 kms - 30 kms. = 18 kms. )
1000 + (Speed substracted in sa
60 > = 100 mir. direction) m%&
101.(B}V_, = 77+67 = 144 km/hr will be
5 .
= l44x7gm/sec = 40 m/sec _ 123 m/s
3 18 kms
D 140 +160 300
T- o 140+160 300 _ 125x18
V. 40 40 sec. 18 x5 ™M/ ‘z, :,
2x120 240 %g
102. (c) Viet™ — "1z - 20 m/sec. { 1km/h= —--m/&}
le" V{"Vz =2V = 20 m,fsec = 25 second» .
18 Alternate.-f"* -
S0, V= 10 m/sec = 101? = km fhr Crossmg%me?geach othe in same di-
= 36km/hr nigilMye (7% 9 & 3 o-30 =
D 154 < . (h+L)
L03. 0V, =V, #V,= T = oo/ :“a‘ﬁ N AT) = PRI
sec=22km/hr ’?'@K 18
As, V, = 30 km/hr i S:(md 50+ 75 125 18
- = A = _ 5 18 5
So, V| = 22+ 30 = 52 km/he, - ’w (68-50)x > 18 s
104. {8} V_ = (21-15) m/min = 6 i b 18
. % = 25 second
g“;;t‘;ﬁ“) to catch the thief (St %7 109. (b The distance which will be cov-
Lo : ered by the constable to catch the
14 19 i s “iny thieves (=i’ Ea THEH
6 mn "‘-’e‘.-"‘*@;v % fou fawgt g @0 wt W o3A)-
105. (a) Time taken by AWA & 24 for T 200metres, Their relative speed in
HHY) = 252 sec =-a22"k aFx 7 same direction (TF ¥ fTm & st
Ttmetake'byﬁ %%WMW TRy )
Z'x 7 x 11 8km/h -7 kmfhr = 1 km/hr
(C % gm femn ma 5
2x9x11 18 m/s.

ill meet at starting point
T FE T: OF WY T )
= LCM (252, 308, 198)

= 22 % 3 x 7 » 11 sec

N 4x9xTx1l
So required time (min.) = T

= 46min. 12 sec,

=1+

{ 1 km/h = %m;‘s}

li.e. Constable reaches 5 m near the
theives in every 18 second with

Relative speed)(Tmis nfa & w9 faud
TOF 18 4T § WR $5 vt wia wmd)
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A man who sits in the slower train
cross the faster train it means faster
train cross the man in 18 second
(39 w1 9§ T T T # e o 37 dm
STEH §91 29 1 YR HT ¢ 9] oo 2
T & =R F 18 WSS d wmwm D)
= Relative speed of faster train and
man in the same direction (UF ¥
fom § & 3 =ifm # why 99)
= 58 -30 = 28 kmph

So distance covered by faster train
in 18 seconds (3W: 18 9&T ¥ ¥ &
30 T %t ™ W)= 28 kmph x 18 se

5
= « —x18 .
28 18 140 metres.

111.(d) -+ Distance = Time x Speed

= A coveres the distance with the
uniform rate of 4 kin/hr in 4 hours js
=4 x4 =16 km

= B’s speed = 10 km/hr

= Their relative speed in same di-
rection = (10-4) kmph

= 6 km/h

= After 4 hour, B will cover the
distance with Relative speed 6 km
per hour .(4 W2 & =% B 6 fR1l. ¥
=2 \riy nfa ¥ T w3 =i

then 16 km, will be covered by B in
(7 16 &A1, gt 1 =1 B g &= wn

16 km

} = Bk/n

i.e. B will have chased A in 2.67 h.

then B will cover in 2.67 hours with

the speed of 10 kin/h= 2.67 x 10
= 26.7 km,

= S0 B will cover 26.7 km from

starting point,

=267 h




112.(c] A train passes two persons who
are walking in the same direction
in this ways:-

11 second - 5 km/h=11x5=55
10 second - 3km/h=10x3=30

oo (i)
i)

_l second

25
25
=7 - 25 km/hr

Speed of the train is 25 km/h.
HNote: Products of time » speed is always
subtracted if both the men is running in
the same direction and the products of
time x speed is added only if the men are
running direction. (499 141 T/ ¥ PASA
T RA TR Yo e R A Az B
i 3 st S & o 7 fgdr R A

= Here train’s direction is not
considered.
But attention please — Always
divided by the difference of time.
Alternate:-
= Let speed of the train is (W91 &
H ¥ = x km/h

= Relative speed with the first man
(TER =fem 3 Wy Wiy W)= (x- 3)km/
h (same direction}

=  Relative speed with second man (S SfR
%+ | |y M) (- Hkm//h

= Distance, covered by the train in 10

seconds in the respect of the first
man (768 @ A T H 10T A 3
0T R W @) = (x-3)km/h
% 10 sec. {Dis = Time x speed) ....{i)
= Distance, covered by the train
in 11 second in respect of the sec-
ond man (TR =f@ F1 o 9 11 493
ARSI
hx1l sec .
+» length of the train is equal
we wa ¥)
S0, Here we can (i) = (ii)
(x-3)lom/h x 10 sec = (x-3)
10x - 30 = 11x -
11x- 10x = 35 -
x =25 km/fh
113. (a) relative s
- 110km/§&.

= - Skm/ &

A

*x11 sec

= 60 + 50

Time i Zhr.

114. {b) Let of both of trains (AFI
& 39 2% woar) = I metre (equal)
speed of first train (W<l ¢A &t 7))
=8 m/s

and another’s speed (38 & %t )
= s, mfs
ATQ,

115.

116.

(i}

Again = [ H

s, =4 sz-z

= Crossing time in opposite
direction to each other. (fawia feam o
TH-TH H I H F] )

total distance
total speed

oA
-1 -%a2
g W

L7 N e P

249 3
= 7 sec. = 3? sec.
(b) We know that,
When two trains cross each other
in opposite direction then they
cover the distance equal to length
of both trains.And in opposite dj

rection their speed is added. (¥4

& fawda fomn & v & A A A A

ot T g0 T R 2

A T g A ) g 4§ W
S0, The time which the k
cross each othe in oppositeWhirec-

tion is (313: fawia
FHE A ITE I

Total distanoe&l 5+ 90}

T Speed[} LA45+72)
Opp. dr io

by 13)

-7t F TR
T WHA)

econd.

hen a faster train crosses the
who sits in the other train, on
that time faster train covers the
distance equal to its length but the
relative speed (opposite / same
direction) is considered in respect

of man. (W T ¥ ¥, T TR A W W8
TC I F W H L, W AW AW
T i @ R g w1 AR
Ty iy I T I § TR F A )
Relative speed of the trains(Zi &t Wdw
M = (56 - 29km/h = 27 km/h
Length of faster train(@@ & # waw)

= Distance covered by faster train
in 10 second with Relative speed of

27 km/h(27 #4 . wfe 92 = @ng wfq
W 10¥FE W 09 [ gw @ W gh)
= 27 km/h = 10 sec,

5
= 27 x 15 x l0m.
= 75 metres
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117. {a} Let the length of the trains (AFI
' F A Ft o) = | metres {equal)
and the speed of the first train is s,
m/s and another is s, m,fs.(év“a( Lol
= g slmfsgﬂm{ﬂigﬂ‘éﬁ"lﬁ s,

mfs é]
ATQ
i
for first time = _ ~ 18
1
i
s, = Em/s .M
i
for se®nd¥yain = s =12 =
\ z
5, = fs L {ii)
timpe, taken by trains to cross each

Agther in opposite direction(fTm e

Y T H R H 39 g fe
W

total distance
= total speed (oposite direction)

i+1
- _L.'.L
18 12
time = 14.4 seconds

{d} Speed of first train(TS 3 Tt 7y
150

15
Time taken by trains to cross each
other (U6 T | I % § i g0 fermn
™ 999) = 12 sec.
= Relative speed of two trains (3

a7_ifaﬁ_!:rri,mr‘rlﬁ‘}=1501+2150

= Speed of second train (TR 3 #I Ty

= 2)(36

118,

10 m/s

=25m/s

18
= {25 -10) x — = 54 km/hr.
5

(d) Relative speed of the two trains{@

i = e )

= (48 + 42) x

119,

18
= Distance travelled in 12 sec. at

25 m/s (12 9%vE | 25 Wi W d@ve
% W ¥ 3w W g = 25x 12 = 300
m

= Length of first train(®d 29 i Haw)

2
=300=-t—3'=200m

Distance travelled by first train in
45 seconds(45 THvE ¥ WA T T
= W 7

5
=48 x T2 X 45 = 600 m
=» Length of platform (@ewr Ft waw)

= 600 - 200 = 400 metres

= 25m/s




120. (a) Let the speed of truck is(M ™ Al ernate:-

% ! M) = xkm/h

Their relative speed in same
direction(¥T fon ¥ 7t T )

= {45 - x) km/h (Here (45 - x} has
been written because bus crosses
the truck which is running 130
metres ahead from it. i.e. Truck
speed will be lower than that of bus)
According to the question,

total distance

Time = total speed

- 150 _ 4

5
45— x)x =
(45-x)x7g

150 %18

= [45-x)x5 = %0

x =27 km/h
So speed of the truck is(3@: 6! %I g
27 km/h

121.(d} Their relative speed in same
direction (T & § T AR )
=36-9= 27 km/h
= Time, taken by train to cross the
man (& W FA | 37 g fomm
wE)

150
27

Distance .
——— = time
[ Speed ]

150

5
27 x>
18

5
Em]s}

= Time =

[1 km/h

150x18
27x5

. 30x2
= Time = 3

= Time =

Time = 20 second

122,

= Any speed
_ totaldistance 160
total time =~ 2
Avg Speed = 80 km/ph

=1

25,5,
Average Speed = 5.+5,

2= 80x80
T T80+80

2x80x80
160
Average Sped = 80 kmph

123.(b) <« 5 km »

—_—

Jeep
90 km/hr

Car
75 km/fh

= Their relative speed in same direc-
tion (FHH e ¥ SR WE )= (90 -
75) = 15 kmph

= Time, taken by Jeep to overtake car
(FR i EEF 4 9 59 g o™
5 1 1

E=5hour-§)<60mm

= 20 min.

124.{c) Bus : (B +
Ratio of time= 10 min : 8
Ratio of speed = 8
= 3
= 4

= Here, 4 units

1 umit
-+ speed of t
= 1 it [

(=i TR

o) =

441
kmph
Kmph
st T

imph

x km/hr

h of train[E Ft Hawd)

0 metres

™, Their relative speed in same di-

rection (WA fom W =1 Ty )
= (x -~ 3) kin/hr
= According to the question,

(300+0) m

—_— = 33
(x—3)x% m/s

[Here man's length is O metre]

30018
= (x-3)xs5 =39

10018
= B5x-15
= 1800 = 55x — 165
= 55x = 1965

1965
= Speed of train (37 F ufd) = %5
8
- 35ﬁ kim/hr
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126. {c) Let the speed of train (A & 31
& MMd) = x km/hr
Given,
Length of train = 240 metres
Speed of man = 3 km/hr
ATQ
Their
Relative speed in opposite direction
(Tt fom o iy )
= (x + 3) km/hr
{speed is added in opposite
direction so = (x + 3))

{240+ 0) ﬁtm
= (x 3‘% /s = 10 sec.

is O metre]

(x+ yx5 ~ 10

432 5x + 15
Sx = 417
Speed of the train(23 =+ 7fg

5 = 83.4 km/hr

127. {c} If trains are running on parallel
tracks in opposite direction, their

speed is added(@E 3 T FAEER = W
fawita feen & == @ @, @ = U B
et 2)

= Relative speed in opposite direc-
tion (fawir fen o Wy 7fa) = (68 +

40) = 108 lanph
ATQ
= time taken by trains to cross each
other (T To¥ H TR W A A g farn
T HHY)
(70 + 80) metre
108 km /hr
- Distance 150
ime = —(|F/— > =
Speed 108 x 5
18
150
= 3p = sec

Therefore crossing time in opposite
direction(¥@: fagdia fom & W@ =7 @
) = 5 seconds
128. {c) According to question (124)
explaination
(137 +163) metres
(42 +48) kmph

Crossing time =

300
Crossing time = 90,.(2
18

= 12 sec.

Therefore crossing time to each
other in opposite direction is = 12
sec.




129,

130.

131.

132.

=]

(d) Glven:-

Speeds of the train are 25 km/hr and
35 km/hr

Length of first train (et 37 #1 Ferd)
= 80 metres

Length of second train (@5 37 Fi =g
= 120 metres

Their relative speed in same
directionf@i fem & 37t Wy iy
{speed is subtract in the same
direction} (W97 fgwn # nfg ==t &)

= (35 - 25} = 10 km/hr

Time, taken by train to cross each
other in same direction on parallel
tracks (MR 92t T wAA fowm A &
B U W R W F fm e ah)

Total distance
Relative speed in same direction

(80 +120} metre
= 10km/hr

200 metres

S
=1 —_
OXIB m/s

5
[1 km/hr = T m;‘s:’

= Crossing time = 72 seconds.

{a) Relative speed of man & train (%9
100 x5 18

= 50km/hr

= speed of train (31 F )

= 50 - 5 = 45 km/hr
(b) Let the length of each train (¥F
% 7o | i dawd) =1
Relative speed (Wmg ") =

S 3
“18 = 9 ™/s

According to the question,

{46 — 36)

2
18 *35x60

Required distance =

I

3750 metres or 3.75 km

133.(b) Let the speed of the cars be 3,
and 8,07 % ¥ # i 5 sk s)

70 .

-SI—SQ=7=10 ........ {i)

70 .

and 5, + 3, = ‘I— =70 ... {if)
from equation {i) and {i)

10+ 70
8 = 2

= 40 km/hr

-10
= 30km/hr

and 8, =

= Required speeds are 40km/hr
and 30km/hr

{(b) Relative speed (WG]

=24 - 18 = 6km/hr

time required by faster train to over-

take slower train (39 39 g0 1% 37 =)

134, nfa)

HTeF FHH o 9m) = E— = 4—1-111'-’-'/._.__‘
= distance between Q and R{Q 3&{ R

El;‘iﬂﬂ?ﬁ{vfnzlsx4§a31.m {3& \

%, R
fa) 18 kms —_
% A

135.

Juhe s path

1 P
km}hr z "&,,- ) kmfhr
m.w.gé

Their reIatli.% snﬁed in oppesite

dnect:d% W@ﬂ q S Triw )

= 2 T

ﬁ"@?’km fhrs

::» Time taken by them to cover a
distance of 18 kms is (18 f&H. 3w

.""-"

{time

136. (c) Time taken by them to cross each
other (TF TW F TR FC o 37 zm forn
TN §9h )

_ distance
speed

L+,
Relative speed in
oppe. direction

{108 +112}
: -

454+ 54)x >

(45+54)x

_ 220x18
99 x5

Time =

Time = 8 second
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137 (a) Let the speed of second trains { 3M
i g8t 3% #F 7f) = x km/hr
=> Their relative speed in opposite
direction (fradia fEm & 9= sty TR
= {43.2 + x) = km/hr
= According to question,

time = L
= tune = speecl
(150 +120)m
= 10sec =

(43‘2+x)>< l—sgmfs

%18
= 10~ 3%+x)x5
5'x= 486

4%%
~216

x = ?————
Speed of second train (3®W 27
"{‘fs aﬁ"'rrfa] 54 km/hr

)

) __8 ) Let the speed of second train is(®Mr
~ 5 Tl 3 M) = xkm/hr
L+,

Relative speed in

= time =
oppo. direction
{125 +125)
=6="""%
65 —
{65+ xpx =
250x18

= (65+x)x5 = 65+x=50x3

= x =150 - 65 = x = 85 km/hr

139. (¢} Total distance covered by man in

1
(1:30 pm - 10:00 am} = 35 hour at a
speed of 12 km/hr (= 0 12 fewt

R A 33 R A A m

- 12 % 35
- 2

= Time taken by his elder brother
to catch him (9% 92 91 g =W FHH
¥ = wy)

= 42 km. (Total distance)

1
= 35 hour -~ 1 hour 15 min,

= Brother’s time = 3 hr 30 min - 1
hr 15 min = 2 hr 15 min

s 1 s
260 = 4 = p hour
42
= Brother’s speed (W =i M= g
4
_ distance 2
{SPeEd time } = 183 km/h




140. (b) Their relative speed in same

direction (T9F fewn & 37t 9y 7fa)
=1 km/8 min - 1 km/10 min

1000 metre
10 min

1000 metre _
8 min

10—8]
10x8

= 1000*[

1000« 2 metre
80 min

= 200 metre/8 min

= Time taken by Police man to over
take the thief at the exceeds
relative speed of 200 metre/8

min. (359 g 200 WX w4 8 e =i
g @ SR Fi IERE FH F 0 T

100 metre .
= 700 metre = 4 min

8 min

= Distance covered by theif before

overtake ( 3TEF ¥ T °R IR0 7@ W

1000 metre
™ T = 0 min

= 400 metre

{c) The fast train completely passes
a man sitting in the slow train, In
this condition it covers equal dis-

tance to its length. (6 ¥ 39 ©F TR
o7 39 4 42 T et i ofa: T e 2,
zq frafa 4 = =19t ward @ T gl W
=)

x4 min

141,

= Relative speed in same
direction (@317 fasn T
| ) (40 — 20)

= 20 km/h

= Therefore, length of the train(3;
¥ Ft F4) = speed * time = =2 R/

hr = 5 sec

=20 x —_—mfs x 5 sec

18 ‘A&..

= 9 metres

142. [b) Time taken by_»,;r to cross each

other in 1on (faqim fzm
H 7 w‘t%% ¥ & g fem

\._re_latwe speed in

143. (a) Let their lengths are (¥FN fF 3Rt
#aE) = [ metre (equal)
= Relative speed in same direction

(@A o # amw o) = (90 - 60)
= 30 km/hr

distance
Relative speed in
same direction

= Time =

(!+1) metre

= 30 sec = 2
30x18 m/s

- 20x18

30x5

= lengths of each train(Y&® ¢ #i
ward) = 125 metres

144, i) Time taken by trains to cross each

other in oppo. direction (fawfim fam &

T TR H TR FA ¥ 3 3R foen v o

total distance

= 30

_ Relative speed in % ’X
oppo. direction A\@x‘% ;

(125 +1 15} metre

(33+39}x— m \%

24018
72><5 I%:

145.

fv_a’{? 1

-‘; 0 pm) = Ehr at speed of
Jhr40 fRd, wfa =2 3 nfa |

E(mdq%)ﬁahmaﬂa&né{a

1

= 40 x = = 20 kms.

b2

= Their relative speed in same
direction (THA Em & ST Ada nfw)
= (50 - 40) = 10 km/hr

= According to question,

= 20 km, is the distance that has
to cover by owner to over take the

thief. (¥7 F Aaew FH & Fm mfas
= 20 frsft. ¢ 7 w0 =S

20 km

&w_

146. (b) Let the speed of first train is s,
km/hr and speed of second train is
s, km/hr
(e fF Tt A TR 27 F G I 5,
km/hr 3R s, km/hr #)
= From method

total distance
relative speed in
same/opp. direction

Time =

= In the same direction.

Tor-se s

- s -5, =26 (0
Nhe oppe. direction, (Fauda ﬁ?‘l‘l )

(100 +95})

1"'532))‘i
18
195x18

= 9= (s,* 5,)x5

= 85 +8 = 39 x2

= 8, +85,=78

From equation (i) and (ii)

= s -5,=26

= 8, +8,=78

26+78
=8 = 2

104
=87

= s, = 52 km/hr and s, = 26 km/hr
147. (b) Their Relative speed in same

direction (WU faem W I Tniy )

= 40 - 30 = 10 km/hr

= Distance covered by P in 30 min

@ofaRe ¥ Pz ma Ft W )

= 30 km/hr x 30 min = 15 km.

= Time will be taken by Q to

overtake P (P Fl 39W#% HH § Q gH

e T R

15 _ 8

10 ~ 2

148. (c) Let length of train(W & 47 %1
waE) = | metre

= Time

hours

Distance
" Relative speed in opp. direction

1+0
= 4 sec= (84+6)xi§8-mfs

) = o
) ppo. direction = Required time =75 pelative speed
= 2 hours
(180 +120) A; = Therefore, he will overtake the
T (65+55) ~ 120x2 thief at !
18 = 2 pm + 2 hr. :4,90x_5_
= 9 second = 4 pm, 18

= 1= 100m

=]
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149.(c)
emme—— () kM ——
A% > "
7: am 7:am
4 km/h 6km/h
Their relative speed in opp.

direction (fyoim fm & w1 Ty f)
= 4+ 6=10kn/hr

= Time will be taken to cover 20
km with relative speed 10 km/hr

(10 53R, wfa =2 =} aniq nfa % 20 fRf.

T4 T FE | T )

20 km

= Time = —IOkm,’h

= Meeting time = 7 am + 2 hr. =9 am

150. (a) Let the lengths of trains(@™
& 1 Ea) =  metre (equal)

= Relative speed in the same

direction[®r1 fem o @niy v = 46 -

= 2 hours

time = distance
36 = 10 kanph _mspeed

{1 +1) metre
= 36 sec = S5
10><18 m/s
A x18
50

= length = 50 metres
151.(b} Their relative speed in opposite
direction( v fran ¥ wmiw =)
=(2+3)
=5 km/h

= 36 =

€— Prem €— —— Raj —>
2km/h 3km/h

= Therefore distance betwee )Q
and Prem after 2 hours(®R 2

= Speed of the second train (f&d=
ELEE o))
= 25 mfs

=25x% km/h [ im/s = % k,fh]

= 90 km/hr
5 150+1
153.(a) (50+58)x1~§ - %
_ 330x18
€= 108x5

time = 11 sec.

Total Distance
154. (b) Avg. speed = —(———— —(———

Total Time
10+12
= 10 12 . 10.8 km/hr
12" 10

155. (b} Avg. speed(3irma fi)
Total Distance

Total Time

600 + 800+ 100
-600 800 _100 _ 150Q«2

—_—t—t— 2

80 400 50 _

3000
= - 13022 km/be

156.(b) -+ Dlstance =

= Distance covgr thc tram
with the speed 3% krnph in 12
minutes is {l 30 et wfy ==
= nfa TI§ {ﬂ]- 30 x —

ce, covered by the same
the speed of 45 kmph in
tes is (8 R W 45 . wh =2

T ¢ g0 W W ) = 45x% =

Total distance
ﬂ'{ﬂg?‘?ﬂﬁﬁ) Average speed = Total Gme
= 10 km {distance = s x tlme} {6 +6)km. £x60
152. (a) Let the length of\fi = (12+8)min. T~ 20
9oy 3 Ht aﬁni) = 36 kmph
— and another = 157. [b]dlﬁntota.l distance(® M & 5@ 7d)
n (!nm a# According to question,
T = 4 4
= 3-% + 6%= 10 hours
50 +150) metres 4.4 _ 1
10= ; =80 " 120
speed of 2nd train + Sm/s
3d+2d
300 30 = a0 10 = 5d=2400
=10= 545 = 1= 535
2400
=8, =25 mfs d-de-Atsom

=1

Wizard of Maths - Rakesh Yadav Sir-

Alternate:-

2%y _

2% 40 % 60
x+y

100

Average speed =

= 48 km/hr
Distance = S x T = 48 x 10
= 480 km.

158.(c) Y% journey 6 km (half)

1 h

6 km/h 3km/h

total jousn 6 x 2 =12 kims.
total N 2=3hr

12
Average sped = 3 - 4 km. /h
MMernate:-

3 :
0’}&3@ speed =

2x6x3 36
" 6+3 - g ~Akm/h

23 s,
8§ *s,

159.(c) 12 km {one

side distance)

1h 3h

12 km/h 4 km/h

Total distance = 12 x 2 =
Total time =1+ 3 =

24 km
4 hours

24
Average speed = el 6 km/h
Alternate:-

28 s,

Average speed = s +3,

2x12x4 %
4+12 16

Average speed =

6 km/h

160. (a) Given:

Train covers 3584 kms in 2 day 8
hour(2 &7 8 ¥ & ¢4 3584 %1 3h ™
F Y

7
{2 days 8 hours = 3 days}

3584

Average speed {@Fﬂ'ﬂ'ﬂ ) = 7
3

1536
= 1536 km/day = 24

Distance covered in two days(dt &

Ao F
= 1440 + 1608 = 3048 km.

= 64 km/h




Remaining distance for third day(dtat
fa @ fom v it )= 3584 - 3048

= 536 km.

Third day 536 km is covered in 8

. 536
hour with speed of = =B - 67 km/
h (@ &7 67 Rl wfe s % o @
536 Rl 9t T s w2 § T3 =t
Difference of Average speed{&ﬁ'ﬂ?i i

H R
= 67 - 64 = 3 km/hr
161. {a) Let 10% of journey

= 40 (LCM}

20km/h 40 km/h 10 km/h

= 10% of Journey’s {10% ¥9)
= 40 km.

= Then total Journey (@ 9=
= 400 kms

= Average speed(3ima Tifa)

total distance

total time
30% of journey = 400 x 100
= 120 km,
60Y% j = 60
% of journey = 400 x 100
= 240 km.
10% of j = 400 x 10
o of journey = 00 ° 40
km )
400
- 120,240 40
20 40 10

= Average speed =

162. (b

Totd\}me = (x + ¥) hours

Average speed (afem wfa)
Total distance

Total time

yuy

2xy
= Average speed(@Ha 7= Yty km/hr

=

“I(.IY :{
)
0 'fw”

= Average speed = Tﬁ—

= Average speed #& ﬁmﬁmm

X Y (one side ﬁt@c&y

163. (a) According to question (127)

explaination
2xy
= Average speed (3iH8 ™) = X+y
A _ 2x40x60
= Avg speed = T TG
Avg. speed = 48 km/h
2xy
164, (a) Average speed = m

2x12x18 .2
12+18 = 7g km/hr

36x45
{one side journey)

165. (a)

45 hr. 36 hr.

36 km/hr

45 km/hr

= Avg. speed =

2x36x45
45+ 36

Avg, speed = 40
166. {b) Let the total dis
T = 1200 km - %,

"““iv-
4004 go® 500
e taken (forar T @ W)

.400 300 500
725 * 30 50
16 + 10 + 10 = 36 howrs

Total distance
Total time

Average speed =

1200 1
= 3 - 33< lcmjhr

167. (a) Let the distance between Allahabad
and Nagpur (WM % $TRER ad g
w1 g8 & = 300 km

Total time taken (fF T £ wA)
300 300
" o0 * 150 TN
300+ 300
Average speed = 5 =120 km/h
Alternate:- Average speed
2xy _ 2x150x100
- x+y_ 250 = 120 kmfhl'
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168. (b} Total distance = 6x5 + 3x6 = 48 km
Total time = 6 + 3 = 9 hrs

48 1
= Average speed = —— = 53 km/h

g
o /IL\
10km/h 20km/h 60 km/h
A _ distance
= Avg. speed = time
%
60% 3% 180 km
T o060t 608 (6+3+1) hour

?|£

vq?; speed = 18 km/hr

=
o.m ¥

€ 200 km (LCM)

S50km/h 40 km/h 20 km/h

= To avoid the calculation problem
we let here small part of the
journey(TUT i WIS B TH FE T faw
T 951 W A & B 9 ) A Y = 200
km,

= Remaining part (¥4 )= 40% +
50% = 90%

= {100 - 90) = 10%
i.e. 10% of journey =
Total journey (% A==

= Avg. speed(zitga Tfy) -

200
2000 kms

distance
time

2000
= 1000 800 200
50 40
Total journey =
50% = 1000 lkm
40% = 800 km
10% = 200 km
2000
= 20+20+10

2000
= 50
Avg. speed = 40 km/h
171.(d) Avg. speed for whole Journey (Tl
288,

2000

a5 st fa) =

2x20x30
20+ 30

2x20%30
50
Avg. speed =

24 km/hr




172. {c) Average speed of train@¥ & sm

2x20x30
30+20

2s.8,
nfa) = —S] +s, =

24 km/h

Avg.

speed =
Alternate:-

176.

60 {one side
distance)
3 2

20 km/hr 30 km/hr

= Total distance = 60 x 2 = 120 km
= Total time = 3 +2 =

120
= Avg speed =75

5 hour

{ dista.nce}
speed = ————
speed
= 24 km/hr
173.(d) Let distance be 60km (¥F1 # T
60km )
[LCM of(®.H.} 10, 20, 30 & 60}

Average speed (3R &)

Totaldistance
= Totaltime
60km
Total time(FA |AAYG) = m +
60km 60km 60km 178.
20km/h* 30km/h * 60km/h
=6+3+2+1=12hrs
Average Speed (witaa o7 )=
60+60+60+60 240
12 T2
= 20 km/hrs

Note:- If we do it by taking 7km. our, m‘._

answer will remain same, beghip
average speed will same irrel

tive to distance (T 7R 7km 3
FEA H 9l T Fal gEA

mmﬁéwﬁm& |

{c) Avg. Spee \ + 45

1080 :
21 h@ =

Time = =

174,

= ‘-2"*1-'hr
4

Distance travelled

1080 21
=—— x == =270 km
21 4 °

(g 3T

175.

177,

&?’ﬁm

(c} A : B

Ratio of speed = 3 4

Ratio of time = 4 : 3

4R - 3R = 1R = 30 min

So, 4R = 30 x 4 = 120 min

Required time( 3= 99) = 2 hrs

() A : B
Ratio of speed = 4 : 5
Ratio of time = 5 : 4

{(5- 4R = 15 min

R = 15 min

S0, Time taken by B = 4 x 15 = 1hrs

Distance = S « T = 50 x 1= 50 km

{a A B
Ratio of speed—=3 : 4
Ratio of time —»4 : 3

S
1 hour more
= 60 min

It is given that A takes 20 mmute% f%

more than B’s. (T8 730 71 ¢ 1% 4,
20 e s wwm da ®)
i.e. 1 units = 20 min

. 20 1 t
tunit> 25 = Zhr. ’&“% %}

‘r,

then A’s time to reach the d;ﬁtina-
tion = 4 units &

q.,,,
1
= 4"3 = = hr/‘k:
(bl Gwen ,,-
A’s sp 7hr
B’s sp 1 /hr

M =g 10 lépeedoitu.lne
=10 : 9

L
1 hour more

Here we find A takes 60 min more
than that of B.7f 9 3md 2 fiF A, B ®
60 fire T aafus T 3

But actual more time(@ T arafas wfa
& W) = 36 min.

Le. 60 units = 36

Lunit = o =
i 60 - 5

Their travelled distance is same
(3 50 7 gl T )
Distance = Time x Speed

=9 x 10

= 90 ratio

Actual distance, covered by them

(39 g e w7 At gl = 90 %

3 = 54 km
5_ +
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179. (b} Let his usual speed@™ 1 fF ITH

A Tfd) = 4x
Let speed
= 3x

usual : late

Their Ratio
of Speed= 4

Their Ratio
of time =

[nmeoc speed

1 minute late

= Here we find, He lates by 1 minute

4

U

’Iﬂ?usualtme taken by him to reach
i office (3 TR ¥ o form I
T 1)

T 3x 20
Usual time =

&ﬁltemte.-

[ late speed

60 minutes.

late tim -
(usual speed - late speed)x e e]

3
= usual time = (7:3—)"20

= 60 minutes

180. (a) Actual
speed 4 3

time 4

Normal time =

Actual
speed 7 &

181. (a)

time & 7
\"-_--’/

lunit—>25 minutes
funit—>150 minutes

= usual time = 2 hours 30 minutes

182. (b) Actual

speed 7 6

New

time © 7
"h“‘_—_’/

1lunit =—*12 minutes
6unit =372 minutes

= usual time = 1 hours 12 minutes

[z24]




183. {C’ speed 4 3

time 3 4
S
1 unit — 1,

4 units — shr
= distance = 3 x 2 = 6km

(¢) Let the speed of A(MFI 7 A Wi 7fg)
= 6 km/hr.

184.

5
Speed of B (B # i) =6x & =5 km/hr

A
Speed 6
Time 5

B
5
6
—

1hr. 15 min.

. 1
1 umit - 1 4hr

TLh
g hr

B reached the destination in 7 hours
30 minutes. (B 7 9 30 fR o vigeq w
79w )
{a) Actual : Reduced
Ratio of speed = 3 : 2
Ratio of time = 2 ; 3
R =1 hrs
Actual time taken (Te@r T wrafaw
)
=2x1=2hrs
186. (c) Actual Reduced
Ratio of speed = 11 : 7
Ratio of time = 7 11

Given; 11R = 22 hours

R = 2 hours
Actual time ie 7R = 14 hrs.
Bo, time saved = 22 - 14 = 8 hrs.

6 units —

1835.

90.
187.1(¢) Actual
Ratio of speed = 5
Ratio of time = 3
. , S
given, 2 Ratio = 2 hr
5 Y
R= 7 hr KY
(Y aYs 3
. A =33 191.
usual tim 3@34— a hr
188.(b} Us New speed
7 : 5
ks
35 km/h 25 =

++ Train covers 42 kms in 1 hour,
40 min, 48 second with th speed of

5 .
7 of its usual speed.($7 TF T2 40 A

=1+

189.
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Efth
60 €

whole journey i.e, (4:30 pm T =i

48§93 ¥ o1 g T ® ; TMHE42 = At 4:30 pm, man covers
e 3 T w= )

. Distance
thenltsnewspeed=—ﬁmT m'{ﬁﬂmﬁlgmﬂﬂﬂﬁﬂl"ﬁl}
42 km
. 504 >
- 504 = 24 x> = 20 km.
300" _ 6

i.e. man covers(=af9a gF1 ¥ wF H )

] =
1 hour 40 min 48 second (20— 9) = 11 km in (4;30 pm - 11:00 am)
1h+ 40 min. + 22 min 1
60 = 5= hours
) 2
1h+(40+~5-)mm f so the speedygdf the man (3d: =qfqq

1h+ 2 nin o km
3 Ft H 1 km/h =2 km/h
[ 204] _ 504 2
1+ = —h
5% 60 300

Ol%takéfy by the man to cover = 9

L1 9 1
= 42 *300 km/h ‘&m= 7 = 45 hours

504 _
= 25 km/h fghen the starting time of the
-+ 5 units = 25 km/hr % journey is (31: 91 S T F GAT)
1 unit = 5 km/h f

: 1
- usual speed (T )= = 11:00 am - 4= hours = 6 : 30 am

o usual speed = 7 x 5 5% .39 2
tc) Usual 192, (d) ATQ
Ratio Ratio of A, B and C's speed is
of s d_) 4
pee A: B C
Ratio ! A:B:C
of time ~> 3 4 2:1 12: 1 :‘11
: 3:1 . .
E urfit bat . 3: 3 1
R %limore}c X % x k3
s 6: 3 : 1
!
{Spee A:B: C
It is , that he takes 2 hours Ratio of speed—=¢g : 3 : 1
Or ‘the usual time i.e.
2 hours Ratio of time —s1 : 2 : 6
jits = 3 x 2 = 6 hour x12 1!12
» the usual time, taken by man to - .
crer the distance = 6 hours 12 min 72 min

{b) The two cars will collide if their

this di i in(72
speed are in the ratic of the distance C covers this distance in 72 min(

to be covered by them (3 FR zauwi f?ﬁmaﬂ@

R I A I G AT H oW h R & units — 72 min

aﬂq_'ﬂﬁm) 1 unit — 12 min

SRgtlo:fdiSSt&nce (30 = 317m) = 40 : So, time taken by A (37@: A § g fomar

T §HY = 12 min.
= For the cars not to collide 2

(¥R T8 =ud 9% fag I& @)
v, 1v, 4 :5

193.(6), — 150 120«

1 F:00 am 10:00 am 3:00 am
(d)Let the total Journey is (A1 &
3 5 3 hours 2 hours
AN 5. 6 = Distance, covered by A in 3 hours
LCM = 24 km with the speed of 50 km/h (3 9 ¥

sofFri e s R e Q Agman s m
)= 50 x 3= 150 k.

= Distance covered by B in 2 hours
with the speed of 60 km/h (2 92 ¥

3
At 11:00 am, man covers 8 of the

whole journey i.e (11:00 am T =fe 33

3 frml W s I TR B T T
AA T qM TR e = 24xZ 60
* 8 o 8 )= 60 x 2 = 120 km. then AC :
= 9 km BC=150:120 =8 ; 4




194.{b) ¢ S0 3
A -3

They meet after 6 hours if they walk
towards each other i.e. their speed
will be added.(@% & fawtia fam & won
2 49 4 eu @ A= wF Et A frad serfa
I Y 9 )

.+ S0 their relative speed in op-

posite direction (favwda fem 7 33t

Hrier Tfa)
_ distance _ 60
T time @ 6

=  Relative speed opposite

direction(fawia &m ¥ =9 wrdy Wl

sl = : by first train which is running from
(+) = 10 km/h el town A = 70 x 2 = 140 km.(10:00
= According to question:- am | TEE A TR ¥ g Tl 37 BN ™
2p+2B = &2 = ™ 50
=3 5 Remaining distance(®¥ T = 500—140
= 360 lon.
= 2 A+2B = 12 Here, 360 lans is the distance whlch_"“
3 will be covered by both trains wng
= A+3B = 18 their Relative speed in opposite,
18-A direction. (T8 360 &L ﬂﬁﬁﬁﬁ%ﬂ’f
= B's speed = — mﬁwﬂaﬁmﬂmmﬁim_m
HT 2 '
= A+B=10 "
18-A Their relative speegl in opposnte(fa'qﬂ?l
= 3 =10 foun ¥ T Hy R 76+ 110
“80 kmph
= 3A +18-A = 30 ATQ e
= 2A = 12 Time taken by%!bo,tbr trains to cover
= A's speed = 6 km/h 360 km, iy %
195. [a] A B C 360 'i?' 1 .
2 1 ={%E;%0urs
3 1
A:B : :, ‘*i"& hours they will meet each
Ratio of 6 ' 3 ' 1 then'meeungtlmem]]be&
speed aa'qaa‘ | G el o T8 firem
1 2 6 " aat*w #= 10:00 am + Zhr
Ratio of . = 12:00 noon
time lXIQ lXIQ ‘-’% }‘N
% 20y
19min 114m.1n &% 199. (a) Average speed = Xty
= A will take 19 minutes i v

196.(a) In these type of qugstion go
through options to %ve your

valuable time {T9 W‘( 'Iﬁﬁﬂ ]
W T F TG e F
o ¥ =) My _'ea
option (a);- :
Abhay's spiigd(

Abhay's new time (¥%% F1 TN T} =

30 o
52-31‘

Hence option (a} is correct as at sat-
isfies all condition.

=]

197, (d} Distance travelled by driver in 2
hours (3 = ¥ TR gA 74 T 30)

= 300 x = 120 km

40
100
Distance to be covered in 2 hours

(2 5 ¥ 7 = oW T )
= 300 - 120 = 180 km

. 180
Required speed = - T 90 km/h
Required difference(31e  3dg
120

2
So increase speed = 30 km/hr
198. (b} Before 10:00 am distance covered

- 90 - = 30 km/hr.

_ 2x12x18 142 1om
* 2.1 = g km/hr
200. (d)
ne
1130 am 3-5 hour § am
Al t B
1 hr 8 min
I7a.rn 11 am
4 hours i
28 km
Speed 7 km /hr 8 km/h
Time-=>4 hours % hour
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Distance covered by train started
from point A before 8 am with 7 km/
hr(8 am 4 W& 7 fEH. ufa 92 Fi e |
A forg A T At 39 50 W@ W T )
= Distance = 7 x 1

= 7 km

Remaining distance (‘\ﬁ'q {ﬁ)- 28 -7
= 21 km

= After 8 am

Their relative speed in oppo.
direction{fawfia f5m & Tt @iy iy
(7 + 8 km/hr

= 15 kmph _ﬁ+

= T1me*w ‘be taken to cover 21

FH @M =)
1””"&

= ::»l‘

.o

. #

Sl

2
J'W%hour+ gx 60 min

iy -= 1 hour + 24 min
" = Therefore they will cress each

other at (3T: d TF THE H W H4M)

= 8 am + 1 hour + 24 min

=9: 24 am
201, (d)
S><T
+3 *2/3 (40 min],ST-ng-Sx-z-- 2
-2 +2/3; -2r+-2- S=2x X0

Solving equation (i) and (ii} we get:-

T E)*h
5 hrs.

= 12 km/hr

10
D=S><T=l2><? = 40 km.

_2ab  2x25x4
202.(608,, = 5o © o5d
= '2@ km/h
29 /hr
_ 200 [5+i] 200 29
2D = g % 5) = 2075
= 30 km
= D= 20km
2x2x3 12
203.{a) S5, - 5 =5 km/hr

Zab .
= aib {when the distance travelied
is equal}
12
2D = 5 x & =12 kms,
D = 6 kms.




204, b) 35 km

Difference

14 hrs. between
0hr " his reaching
time
-g—km /b Lkm/h

((Z‘S-i- 1)

=3.5km/h

Difference between his reaching
time. (9% T $ TG F Aq)

= (14 - 10)hrs = 4 hrs

= 4 hrs -» 6m + 6m (late + before)
= 4 hrs — 12 minutes

12

=1 unit = Ix60 km
{~ 1m= 60 second}= 1 unit
1
= — km
20
1
i = 35x— km
then 35 units ><20
7
= — km
4
Then the distance between his house
and school is (% 9 W 4 3% & i
7
= — km
ORI
Alternate:-
Here, s, = First speed

s, = speed after increasement
t, = late time
t, = ‘before time

5 5
S; =8

xt1+t2

distance = a0

late before

N

7

L

2 (6 + 6)
x_60 hr

~]
[&]

&)
| u]

3,12

= 4 60 - = ,a&“-»

1

(d}Let the height of%zﬂ'ﬁs (A
5 e # 3am) s
s The distances
elther asc@p ahd

B mqﬁ o
km ™, %

d.
k/h ?km;‘hr

Al

205.

be same man

end(T&9 W& [
x
9 5 hrs
2

Distance
speed
Total time = A scending
time + descending time

=1

But his actual difference of time = 9

2
= ?"% 5 - 2—’5;& -5 min. late + 9 min early = 18
= 5x= 5x9= x= 9km = 60 unit » 18
Alternate:- ! uni 18 _ 3
0 ke = 1unit » Zo=_
2 hrs 3 hrs = 8o Reqd distance will be 20 x
2 6 km
f—

S-km/h 3km/h 1o
Aesending Aesending Alternate:-

Speed Speed ‘ S8, ) T -1, .
total time = 2+ 3 = 5 hrs. = sttnaceg:s” 5-5, 60 (diff
Here = 5 hrs = 5 hrs of dti:_;g\eja_y_} &is!

{actual time) P %
1 unit = 1 _ M‘ ] _ 5x4 9-1-9)
- Ascending length = 9 lon. %O 5-4 60
206.(@)  (6x7x5) =210 km N D“”"E‘“"" = 6 kms
208‘% Accordmg to the quetion
5h 6h
&m)oﬁtstlme (T ) = hour
42 km/h 35 km/h K;%g : 4 hour
6x7) (75 %b = 9 :8
Let total distance(RT I ﬁﬁ% } Ratioof —» 8
= 210 km its speecl \/
Difference betwee:§,t1w[€m'ﬂ T=FI Aoy = 1 hour increase
[6h 5h) 40 kmph = 5 kmph
= 1 hour ‘% %’
= 60 min %—q Here, we find that speed of the car

but give is ¢hdt &ff. of time = 15

min e@l&,ﬁ- E )yn late = 20 min
ie.

5 1

% n ANt > —

LY 3
total distance of the bank from

m:__ £ starting point is(3/@: AWws fag  _,
A%;‘% '&%{ J ¥ # 7 =~ 210 « % 70 km.

Al‘ternate‘-
5 & £+
Total distance(@a 3§ = l_; x -!'6“6&
2
{diff. of time.)
A2x35 20

" 42-35" 60 - 70 lm.

207.(d) 20 km (total distance)
5 hr. 4 hr.
4 km/hr Skm/hr

= difference of time
=5 hr -4 hr = 1hr
= 60
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is increased 1 km/hr but Actual
increasement is 5 km/hr. (98 ¥m
e ¢ o A L feh, s
afs & dfe aafas gfs s fwdl. vf 52
)
i, 1 unit = 5 kmph
8 units = 8 x 5 = 40 km.
Therefore slower speed of car {314:
wR Pt o = 40 kmph
Alternate:-
Let total distance = d km.
According to the question,

Sdd g
4=
2
d_2d _
=34 79
= 9d-8d= 36x5

180 km

= Therefore slower speed is

= distance =

distance
tirne
180

=5 Slower speed = 40 kmph
2

o]

337



209.(c) 24km/hr 30km/hr
shr 4hr
120km
11
= (3 - 4) = 1 unit 45

11
120 unit — de 120 = 22km

-, distance from house to office{™

ﬁmﬁ{mﬂzm

210.1) sem/hr  3km/hr

Shr Shr

15km

S - 3= 2 units —

1 unit —»

15 unit - x 15 = 3km

tfm G g|§

Required distance(37= T} = 3 km
Alternate:-

5,%x5
D =212 x T (hour]
5,5, (hour)

211.(b} 2wkm/hr 3km/hr

6hr Shr

15km

651t£
= 1 unit - =5

. 16
I5 unit—» EX[S 4
= Required distange
212.40)  jokm/hr N m/hr

O

60km

Shr

6—5=1 unit -

L 1
60 S

l6(.'}—2
5 =1

= Required distance =

= 60 units -

12km

213. (a)

Skm/hr 6 km/hr

6hr Shr

30km

_ . 7+5_
=6-5=1 units —» 60

1
5
L. 30-6um
< -

= Required distance = 6km
214.(c)

30 units —

usual : late

Their Ratio=40 : 35

of speed 8
Their Ratio = 7
1 hour late

of time

15
—hours =

1 unit - 60

2 hours

8units=8>(% = 2 hr.
Total distance = 35 x 2 =
Alternate:- y
= Let the total distance (
) = d km
Accordmg to thc

M= 30 km {distance)

¥ 6 5 hr

Skm/hr 6 km/hr

N = Difference of time ({71 ¥ @)

4 =6hr-5hr=1hr{60 min)
But actual difference of time = 6 min
late + 2 min early = 8 min.
i.e,
60 units — 8 min

i 8
= 1 unit —» 50
— Total distance of his office 3TF

FraeE @ F4 ) <

Alternate:-
Distance between his home to

office(=0% W | Frafea = )
5,8, N diff. of time
8= 3, 60

5%6 2 o 4km
6-5 60 S-

8
30*@ =4 km
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216. (b) According to the question {193).
= Distance between his house to

school (35% T W @ &1 ¢

s,%s,  diff. of time
= aos X T en
5,— 8, 60

4x3 (10 min early + 10 min late}
T (4-3) 60

20

=>l2x%

= Distance = 4 km.
217. (b} The dgst e between of school

and hggne(# W F 9= g
_ ff. of time
- 60
_ 3 (5 min late + 10 min before}
}%\J ) 60
15
20x ——
= Xﬁo

= Distance = & km

218. (b} In such type of question follow
the below given method. 38 Y&R &
vl 3 4R & fafa v Y

] T disxt)
+10><-1 -3 10

+20 7 _—» 385

4

-8+ 10t = 10 ..............00)
7 .
-28 + 20t = 35 ...}

On solving equation (i) and (ii) we
get
S = 60 km/hr and T = 7 hours
Total distance = 60 x 7 = 420 km

219.(c) 30km [Total Distance}

Time =6 5

Speed—>
(km/h) > 6

IStCase 11" Case

Diff. of time is (¥TF & Ha()= (6-5)
hours
= 1 hour

Actual diff. of time( ¥ T F AFAETF
)

= 7 min —-{-5min}

= {7+5) min

=> 12 min

1 hour _% , 12 min
30km % , 6 km

[zs¢]



220.b) 15
Total Capacity

6 hours S hours

5/2 km/hr 3 km/hr

— Diff. between time(¥ F HHR)
=6 -5 =1 hour = 60 min

. early+late
= 60 min - 6+10

= 60 units — 16 min

1 uni 16
= unit — 60

4

15
= Total distance (FA TS5 units =
15x4

15
Alternate:-

= 1 unit —»

=4 lan,

s1 SQ
Distance = m

. (diff. betwen time)

€0
5/2><3 16
=R R

221.(a) Let the speed = x km/hr
then time = y hr.
AT.O(TFTTER)

xxy=lx+3)y-1)
ay = xy +3y-x-3
x=3y=-3. (i}
xxy = (x - 2 (y+1)
Xy=xy-2y+x-2

X- 2y =2.... (ii)
Solve equation (i} and {ii) Ve
x=12, y=5 “"é}‘,\

Distance = Speed x time
=12 x 5= 60 kmn %
{c) Distance between the fo® and

2292,
man{ f&en a0 Fﬂﬁlﬂ Eii] W)
= 330x10 = 3300 m& % v
= 3.3 km y
223.{c}
A , 60 km7n
- The \e d train has travelled

l20 km more than the first train
only becfuse the speed of the
second train is 10 kn/h. more than
the first train and their starting time

is same (TH ¥ 120 fFA. afrw Th
74 e & FE TEel A F ge J T
i 10 fE. wfa sa sfee 2 ol T
ARTF TG TR )

=]

= Time taken by the second train
to cover 120 kms with the surplus
speed of 10 km/h (10 fF#. wfr =2
s 7fa 9 120 fesd. 3h w0 9 @@
A W Im

120

= W = 12 hrs.

= i.e. time, taken by the both train
before meeting point in opposite di-
rection (frvéa feen °f fie & wF @ WA
= i o T T W= 12 hrs.
= Their relative speed in oppo. di-
rection (w3 fom W == any i) =
(30 + 60) km/h = 110 lkan/hr
= Total distance covered by them
ERED AL a7
T FE gl)= 12 x 110 = 1320 km.
So the distance between A and
(3: A7m B4 99 & 30 = 1320k
Alternate :

(60 — 50 = 10 km)

time taken by trains before meegin
point (Frem fag @ vt oA
)
__120km
= {60-50) km/be N.;,
distance b/w A an + S50yx12
= 1320 km.
= (60 + 50} %12

distance bfw

Hl

3 vers the 120 kms

Y
= Time, taken by trains to meet

each other (TF §at faem W 27 gre fom
90 kms
[ HHE) = m = 9 hours

— Distance covered by first

train{TeeH 3 g 7@ & T T = 9 x 50
= 450 km

= Distance covered by the second

train(GE 2 0 T F H )

= 9 hours x 60 kmph = 540 kn.

= Total distance between A and B(A

a0 BF 99 w4 )

= 540 + 450 = 990 km.

225. (&)
Metting point
2

“ M ad
il 1

A—t -+ B
. —
16"11_11!’33,1 hour 21 miles hour

Sy

226.

227.
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In the question, it is given that at
the time of their meeting the sec-
ond train has travelled 60 miles

more than the first train. (37 4 =z
e T 2 o6 FoR % W Tl 39 TR 9
T 60 W@ Fi ofuE 0 7@ FOTE O D
It would have happened only because
of the exceed speed of second train (T€
i e & T gEd 3 W T e )
= 21 - 16 = 5 mile/h

i.e. second train covers 60 miles
with exceed speed 5 mile/hour(Ta%
5 Wiel w92 % Al

Accord

“to the question,

mng time of first train

unning time of second train.
Di#tance covered by first train
16x12= 192 mile

distance covered by second train el
éﬂ g0 T W W e 21x12 = 252
mile

= total distance = 252 + 192 = 444
miles

{b) Ahga.rh {Ist) Delhi {Hnd]

14 km/h meetmg 21 km;‘h
point
Distance travelled by Ist train in ‘t’
time{ T ¢ BRIt HHA ¥ 7 g) =14km/
hr x t h [th = time ours]
Distance travelled by lInd train in
¢ time(fgda 3 g0 t 9@ ¥ | )
=21 km/hr x t h
Difference their distance ({{ &1
#HR)y= 79 km
21t — 4 xt= 70

Tt = 70

t = 10h
It means both train travelled 10
e, (37 TF) & 79 =2 T Fi)
Ist train complete (39 ¥ §A1 7 §h)
= 14 km/h x 10 hr = 140 km
find train complete (713 37 g0 w1 )=
21km/h x 10 hr = 210 km
Total distance(Fd TM)= 140 + 210
= 350 km
{b) Time taken to walk one way (%
T 995 @@ & ¥ fam mw wm)

= —— min
2

Time taken to ride one way (T% TR
F A AEfEG | T FQ | T T

55 19
) e
Time taken to ride both ways (FR(

A T A GEfFE | 79 FH W oW )

19

min.

=?X2m’m = 19 min




229.{c) Walking time + riding

=

228. (d) Time taken to ride one way (WX

EfFE B @ 4 @M aug)= g

= 1.5 hrs.
Time taken to walk one way (i%&

TF TR 79 F4 ¥ 70 §99)= 4.5~ 1.5
= 3 hrs.
Time taken to walk both way (%@
T T A FH W A owWa)= 3 x 2
= 6 hrs.
time

6 hours 15 min

= Walking time + walking time

= 7 hrs 45 min
1
= W+ R = 6: hours
: . 1
|:6hr315mm=ﬁz:|
= W + W = Y hours

[7 hrs 45 min = %}

31
= 2W = iy hours

. 31
Walking =

8 hours

= ﬂ+Ri(ii.1'lgi:irm:- 6l hour

8 4
= Riding time of one way (& W&
T HHY)

_ 25 A

S 3 8 °

50-31
8

= Riding time of one way

hours
=> Therefore Riding time of bo
(“"n

= Speed of A : Speed of B=3: 2
As speed is inversely propertional

to time. (30 T % gEFETw #)

231.(c) Let the speed of Ravi (A1 T
1 )
= x km/h
= Then Ajay’s speed will be (@ 3=/
@t )
= (x + 4) kim/h
= Total distance, covered by
Ajay(d99 EALY Y #1

Alternate:-

w HA 3l = 60 + 12 = 72 km.
= Total distance, covered by Ravi
(a2 7@ $1 T w7\ g = 60-12
= 48 km.
= According to question,
They runs at same time.
72 _ 48
= (x+4) X
= 72x = 48x + 192
24x = 192
8 km/h
There, Ravi’s speed = 8 ll':ll:l,;'ll‘F

=
= Xx=

=

%2

Ratio of time

48?011

Distance covered %_Ahv{m 'ﬂ‘v‘ T
W ) - AB + " 72

Distance covereédaﬁj vigfa & zm
“hesha

48[Here time is
same S0, Ratio of

Distance = Ratio

of Speed
'Eﬁﬁ'erence =1 peed)

1=4
Speed of Ravi(ifd & 7fq) = 2x4
= 8 km/hr

-(b) By mixture & allegetion method

Foot bicycle

\/
/\

4 5

= time taken on foot (Y@ fa=m

- 9 =
) = i 0 = 4h
= distance covered on foot (§T8 ™
w1 T 31
=4 x4=16 km

i3

233. (b)
Train Car
60km 240km 4hr
+40 +10min
100 km 200 km 4 hr/
10min
+200 +10%5
= 50min
300 km Okm Shr
300
= 8peed of train = 5 60kan/hr
234. (a) &
7 hgur%;}
" AL
on foot ;
T, __.I:_'. icycle
8 km/hr \164m/hr (8 km/h + km/h)
distyice =8 x 7
i = 56km 56 km,

%}’

235,
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=R Remaining distanoef‘?l‘ﬁ Th)

b %7 80 - 56 = 24 km.
~5, e According to question,

= 24 km would have covered by
bicycle with 8 km/hr
= Time taken by bicycle (TEfFR 8

24
WWW)=?=3hours

So, time taken by bicycle = 3 hours
Time taken on foot {¥5& far T wma)
=7 -3 =4 hours
= Distance covered by man on foot
(AN M) -8x4

= 32 km
{a) According to the question.
Distance ()= 61km

Time on foot (e TmA)= % hour

Time on bicycle (WfFa d dny)

61

-3 hour

Now using allegation.

Foot Bicycle

TN
/\
- )=2 (L=

Distance ratio (38 %1 AJ9) 80 + 225
= 305 units
300 units — 61

61

1 unit e—— 305

61
80 units — 305

distance travelled on foot (430 72

)= 16 km.

x 80 = 16 km.




236. (a) Let the time taken by A to cover
lkm (M F @ fER @@mEATA
B0 o T |999) = x sec.

time taken by B and C to cover the
same distance = x + 25 and x + 55
Sec

A B
Distance 1ooo><725
Time 29 40
AZ X 29
CT40 = xe+55 T 29x* 1595
= 40x
1505
x= == < 145

11

time taken by A = 145 sec.
= 2 minutes 25 sec.
237 (b} A B C
1000m 950m 931m
in 950m race B can give C a start of
950 -931 =19 m
950 -5 19 m

19
b - 550

10600 - 20m.

(b} Let time taken by A to cover 1
km. (9 7% 1 fF50 ot 7@ =0 A fma

T W) = x sec.
Time taken by B and C = x + 30 and

238.

240. (a) A B c
1000 900
400 360
= A B C
100 90 31

= A defeats C by 19 metres in a race
of 100 metres{100 X F &g HA, CH
19 ¥ & T §

= In arace of 100 x 5 =300 m A
defeats C by 19 x 5= 95 m

241.{a) A B ¢
800 760
500 495
A B C
2000 1900 1881

= A defeats C by 119 metres in a
race of 2000 metres(2000 X & g
¥ A, CH 119X & T )
119 ’
= A defeats C byﬁ = 11.9

2000
1 r

metres in a race of

242.(c) A B C

190 200
180 -

A

171

metres
243.(b) Let ¢
100

'maﬁgﬁﬁAgml‘Emw

x + 45 sec n
A B % seconds
Distance 1000><820 ¢ [aken by B to run 900 metres
Time 41 50 o T+ 20 sec.
i  Speeds of A and B
x4 <8N
x+45 50 W &) J 1000 900 respectively
B ' x+20
50x = 41x + 1845 xoox
x = 205 sec. - 950 1000
239. (b) Ratio of speed o&ﬁﬁ\’[ B ATQ 1000 _ 900 g
F T W ST = 5 Q @ x x+20

ans400m

time when the
em is 400 m.

When A runs 50

A will pa:
dlsta.nce

= 2000m
to overtake B each time

ber of ti _ S000 2 i
Number of time = —“2000 = 2 times

{because .5 time is not possible]

=]

{As B is the winner now)

950x 1000(x+20) 25
= 1000 ~ 900

19x 10x + 200
= - ———— =135

20 9
= 171x — 200x — 4000 = 25%20 x 9

= 29x = 500
_ 500
> X = g SeC
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b = speeds of bimal (R F Ry =——-

244.(c) A B C
1000 960 930
= Bcan give C a start of 30 metres
in a 960 metres race (960 W& F @
W™ B, CH 30 Wi F RT3 P

= 9605 30
| 5 —
7 32
1000 200 _ .1
00 — 32 = 14 metres.

245, (¢} Time ta.ke ;‘by kamal (F98 & gW

100

18x
“18

ime Eken by Bimal (famd 3 g
| T HH)
+ 5 = 25 seconds

= 20 seconds

100 18
*5

= 144 kin/h

246. (a) Speed of A,B, and C (A, B3 CH

1000 1000 1000

ey = 8 ' 10
min., 125 m/min., 100 m/min.
Distance travelled by B and C beofre
Astarts (AT IRT FHH WA BAN C
7 @@ = ™ T
= 125, 200 metres

Time taken by A to meet B and C (B
9 C % T WA & fow A o faw

125 200
200-125 200-100

= 200 m/

) =

=3 min., 2 min

247.(b) According to the question.

Foot Bicycle
10

/\

-» 12

Ratio of
Time ——»
5 units

12

10 units — 5

4 'ts Ex:‘g

Distance travelled on foot

(dza w=h = /)

40
=5 x5 = 48km




450+150
248. (c} Speed of train = MRS
20
=30 m/s
18
Speed (in km/hr) = 30 x =
= 108 km/
hr
249, (b) Total Journey = 400
(%A amn)
3 - 400 x 2
3 Journey = p
= 300 km

Remaining Journey = 100 km
Let the speed of car for the rest
Journey = x km/hr

(9T 9= €T 9 ° FR F =)
AT.Q.

300 . 100 1
30

250.(b) According to the que

Let the speed of fastest &
= xkm/h {;; ‘

(HF1 &9 FR F

4
A
tlwspeedofslw&yhn/h.
- m :

8§
e

100 100
xty= —'l—km/hr and Xy=—g-
= 20km/hr
x+y =100 ........, {i)

251,

252.
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xy =20 .......{ii) 254.(a) First speed (Bt 9=) = 8
oo - (fsitraer)
Solve question (i) and (ii) we Second Speed (T W) = 12
get (Frefirsiar)
x = 60km/hr Starting time will be same in
both conditions
=40 km/h .

Y /hr (3 frufrl 3 yeom T oo T #
Speed of fastest car = 60km/hr. )
(A= w1 F i) Distance travel‘ by first speed

. in 2 hours (2 W ¥ Wl 9 A
(c)Distance = 20 x 3 = 60 =it T {ﬂ = 2x8=16 fiFr)
when 1 hour late then Time tgkegl by second speed
reducing time = 3 - 1 = 2] to t d ce 16 km
(34 | 2 & 30 Tt 2 99 e ) ( (16 km) i cover
Then increasing speed w4 W) w)
(79 TG g =) =, 7

a%-gq R
—- = 30 km/hr | i 16
2 —_— a4
12-8 4

Total time taken by second
speed (@0 <9 ¥ fom T H@
) = 4 w5

FHA U = 4x12 = 48 fFi
Starting time to travel with
second speed

(35% W= A v = e auw)
=%am -4 W =5 am

Total time taken by third
speed to reach the office
(et =T @ e T § e
94) = 10am - 5am =5 92

{b) Let speed of 1st train, = AK i

(AR 3
Let speed of by JInd train= ' m/
s. AV

255. (c) Let efficency of Rastogi = A
(A1 TRt ®Y wE e
efficency of Gupta = B

(T & FE e

(C)Let Origina.l Speed=3x (A+B) x3=[2A+B}x2
(W SrefaS =) 3A+3B=4A+2B
then reduced speed = 2x A=B
(A9 F7 g o) A 1

Speed—» 3 : 2 B~ 1

Time — 2 : 3

Total work = (1 + 1)3 = 6
Efficency of A = 1

Rastogi can do the work in 6
days.

(TErtt uE =W 6 KA d F gEm B)

. 1
1 unit = 3 hour

2 unit = ;x2= 1 hour

1 hour = 60 minutes




i 140
256.(c)r = d‘i‘;‘e—tﬂ - = =70

cm
Distance of one Revalutions =

(T v 4 )

22km
= 340cm (1 km = 1,00,000 cmj)

No. of Revolutions In 30 hours

(30 52 o w=9pt %1 dem)

257. (b} L.C.M of 40, 50, 60 and 30
= 600 minutes
= 10 hrs

S0 they meet again 10 hours
after they start

22 _ 22x100000=30 (Tafe IE YEAE B 10 B IR T:
21tr=2><7><70=440(:m 440 fashh)
No. of Revolutions In one hour -1 1 Lak i.e. 7 : 00 PM
(TF W § 950 F gem) 2 ' :
11
.a’&' l'*' K
! LY
3
o’
B,

2l

Y | ! l !l'iI ! | \
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